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<?xml versiop=”1.0’ encoding="UTF-8"7>
<MCCI_IN200100UV0l ITSVersion="XML_1.0” xsi:schemaLocation="urn:hl7-org:v3 MCCI_IN200100UV0l. xsd” xmlns="urn:hl7-org:v3”
xmlns:xsi="http://www. w3. org/2001/XMLSchema~instance”>
<id extension="N.1.2” root="2.16.840.1.113883.3.989.2.1.3.22"/>
{l-- N. 1.2: Batch Number —->
<creationTime value="20101214151617"/>
<!-- N.1.5: Date of Batch Transmission ~—>
{responseModeCode 'code="D"/> :
{interactionld extension="MCCI_IN200100UV01”, root="2.16.840. 1. 113883.1.6"/>
<name code="N. 1.1” codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.1" codeSystemVersion="1. 01" />
<!— N.1.1: Type of Messages in Batch ——>
¢}— Message #1 —>
{PORR_IN049016UV>
<id extension="N,2.r.1” root="2.16.840.1.113883.3.989.2.1.3.1"/>
{l== N.2.r.1: Message Identifier —>
<creationTime value="20101214151617°/> .
<I== N.2.r.4: Date of Message Creation —> ) : \
{interactionId extension="PORR_IN049016UV” root="2.16.840.1.113883.1.6"/>
{processingCode code="P"/> '
{processingModeCode code="T"/>
{acceptAckCode code="AL"/>
<receiver typeCode="RCV">
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N, 2.r.3" root="2.186.840.1. 113883. 3.989. 2. 1. 3. 12"/>
- {l== N.2.r.3: Message Receiver Identifier ——>
{/device>
{/receiver>
{sender typeCode="SND"> _
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.2.r.2" root="2.16.840.1. 113883.3.989.2.1.3.11"/>
<l— N.2.r.2: Message Sender Identifier —>
</device> D
</sender> - :
<controlActProcess classCode="CACT” moodCode="EVN">
<code code="PORR_TE049016UV” codeSystem="2. 16.840. 1. 113883. 1. 18"/>
<|-- HL7 Trigger Event ID —->
{effectiveTime value="20101214151617"/>
<!— C.1.2: Date of Creation —>
<subject typeCode="SUBJ"> )
{investigationEvent ¢lassCode="INVSTG” moodCode="EVN”">
<id extension="C.1.1” root="2.16.840. 1.113883. 3.989.2.1.3.1"/>
¢!=— C: L. 1+ Sender’s (case)-Safety Report Unique-Identifier —>-
<id extension="C.1.8.1” root="2.16.840.1.113883.3.989.2.1.3.2"/>
{]—C.1.8.1: Worldwide Unique Case Identification Number —->
{id extension="J2.1b" r00t=”2.16:840.1.113883.3.989.5.1.3.2.3.1”/>
I— @eeJ2. 1b: FHZANEE (FF) — s
<code code="PAT_ADV_EVNT” codeSystem="2.16.840.1.113883.5.4"/>
(text>H. 1</text> 5
<{!— H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant
Information —>
‘ {statusCode code="active”/>
(I— @@eJ2.7.1 52T, RETES —
effectiveTime>
<low value="20090101"/>
{l—- C.1.4: Date Report Was First Received from Source ——>
{/effectiveTime>
CavailabilityTime value="20090101"/>
<!== C.1.5: Date of Most Recent Information for This Report —->
(reference typeCode="REFR">
{document classCode="DOC” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 27" codeSystemVersion="1. 0"



displayName="documentsHeldBySendér” />
CtitledC.1.6. L. r. 1</title>
<1-- C.1.6.1.7.1: Documents Held by Sender (repeat as necessary) #1 —>
{text mediaType= app11cat10n/pdf representation="B64">C. 1. 6. 1. 1. 2{/text>
--C.1.6.1l.r. 28 Included Documents #1 —>
{/document>
{/reference>
(reference typeCode="REFR">
¢document classCode="DOC” moodCode="EVN">
(code code="1" codeSystem="2.16. 840: 1. 113883, 3.989. 2. 1. 1. 27" codeSystemVersion="1, 0"
displayName="documentsHeldBySender”/>
<title>C.1.6.1.r. 1</t1t1e>

<text med1aType— image/ jpeg” representatlon— "B64” compression="DF">C.1.6.1.r. 2{/text>
<J--c.1.6.1.r.2: hdwmemmm#2“>
{/document>
{/reference>
{reference typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem="2.16.-840.1.113883.3.989.2.1. 1. 277 codeSystemVer51on— 1.0”
displayName="1iteratureReference”/>
<title>J2.17.r</title>
<|-- @@@J2. 17.r AR/ HEDZE #1 — :
<text mediaType=" application/pdf” representation= "B64” )C 4.1.2{/text>
¢l— C.4.r.2: Included Documents #1 ——>
(bibliographicDesignationText>C.4.r.1</bibliographicDesignationText)
¢!-— C.4.1r.1: Literature Reference(s) #1 ——>
<{participation typeCode="AUT">
<assignedEntity classCode- ASSIGNED”>
{representedOrganization classCode="0RG” determinerCode="INSTANCE">
<asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE">
<code code="J2.15.1r" codeSystem="1.0.3166.1.2.2"/>
- @eeJ2.15.r AXE #1 —
{/location>
{/asLocatedEntity>
{/representedOrganization>
{/assignedEntity>
{/participation>
</document>
{/reference>
{reference typeCode="REFR">
<document cldssCode="DOC” moodCode="EVN">
{code code="2" congystem=”2.16.840.1.113883.3.989:2.1.1.27” codeSystemVersion="1. 0"
displayName="1iteratureReference”/>
<title>J2.17.r</title>
<|-- @eeJ2. 17.r AR/ HEDOIER #2 -—>
(text mediaType="application/pdf” representatlon— "B64”>C. 4. 1. 2{/text>
<)== C.4.r.2: Included Documents #2 -—>
<bih1iographicDesignationText)C.4.r.1</bibliographicDesignationText>
{l—— C.4.r.1: Literature Reference(s) #2 ——>
<{participation typeCode="AUT">
(assignedBntity classCode="ASSIGNED">
<represented0rganlzat10n classCode="0RG” determinerCode="INSTANCE">
<asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE">
<code code="J2.15.r” codeSystem="1.0.3166.1.2.2"/>
<!-—- @@@J2. 15.r AERE #2 —
</location>
{/asLocatedEntity>.
¢/representedOrganization>
¢/assignedEntity>
{/participation>
{/document>
{/reference>
{component typeCode="COMP”>
CadverseEventAssessment classCode="INVSTG” moodCode="EVN">
{subjectl typeCode="SBJ">
{primaryRole classCode="INVSB]">



<playerl classCode="PSN” determinerCode="INSTANCE">
<name>D. 1<{/name>
{!--D.1: Patient (name or initials) —>
{administrativeGenderCode code="D.5” codeSystem="1.0,5218"/>
<= D.5 Sex —> '
<birthTime value="20090101"/>
<l=-D.2.1: Date of Birth —>
{deceasedTime value="20090101"/>
<I--D.9.1: Date of Death —>
{asIdentifiedEntity classCode="IDENT”>
<id extension="D.1.1.1” root="2.16.840.1.113883.3.989.2.1.3.7"/>
<!~~ D.1.1.1: Patient Medical Record Number (s) and Source(s) of the Record Number (GP Medical
Record Number) —> ' ) _
<code code="1" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 4" codeSystemVersion="1. 0"
displayName="GP”/>
{/asldentifiedEntity>
{asIdentifiedEntity classCode="IDENT">
<id extension="D. 1. 1.2" root="2.16.840.1.113883.3.0989.2.1.3.8"/>
<I-—=D.1.1.2: Patient Medical Record Number(s) and Source(s) of the.Record Number (Specialist
Record Number) —>
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 4” codeSystemVersion="1. 0"
displayName="Specialist”/>
{/asldentifiedBntity)>
<asldentifiedEntity classCode="IDENT"> . _
<id extension="D.1.1.3” root="2.16.840. 1. 113883.3.989.2.1.3.9"/> ®
<!== D.1.1.3: Patient Medical Record Number (s) and Source(s) of the Record Number (Hospital Record
Number) ——> )
{coda code="3" codeSystem="2. 16. 840: 1. 113883. 3. 989. 2. 1. 1. 4” codeSystenVersion="1. 0"
displayName="Hospital Record”/>
{/asldentifiedEntity> y .
CasldentifiedEntity classCode="IDENT">
<id extension="D.1.1.4" root="2.16.840.1.113883.3.989.2. 1.3.107/>
" <!=- D.1.1.4: Patient Medical Record Number (s) and Source(s) of the Record Number (Investigation
Number) ——> ) )
{code code="4" codeSystem="2. 16.840. 1. 113883. 3. 989. 2, 1. 1. 4" codeSystemVersion="1. 0"
displayName="Investigation”/> “
{/asldentifiedEntity>
<role classCode="PRS">
<code code="PRN” codeSystem="2. 16. 840, 1. 113883. 5. 1117/>
<associatedPerson. classCode="PSN”. determinerCode="INSTANCE">
<name>D. 10. 1</name>
<!— D.10.1: Parerit Identification ——>
{administrativeGenderCode code="D. 10.6” codeSystem="1.0.5218"/>
<{!— D.10.6: Sex of Parent —>
<birthTime value="20090101"/>
{!-- D.10.2.1: Date of Birth of Parent —>
{/associatedPerson
{sub ject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN”>
{code code="3" codeSystem=”2.16.840.1.113883.3.989;2.1.1.197 codeSystemVersion="1.1"
displayName="age"/>
<value- xsi:type="PQ” value="10" unit="D. 10. 2. 2b"/>
{l--D.10.2.2a: Age of Parent (number) ——>
<!--D.10.2.2b: Age of Parent (unit) —>
</observation®
{/subject0f2> - :
{subject0f2 typeCode="SBJ">
<observation classCode="0BS” moodCode="EVN">
{code code="22" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="lastMenstrualPericdDate”/>
<value xsi:type="TS” value=”20Q90101”/>
<!-- D.10.3: Last Menstrual Period Date of Parent ——>
{/observation>
<{/subject0f2>
{subjectOf2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN”">
<code code="7" codeSystem=’2.16.840.1.113?83.3.989.2.1.1.19" codeSystemVersion="1.1"
displayName="bodyWeight”/> ‘
{value xsi:type="PQ” value="50" unit="kg"/>



<1-- D. 10. 4: Body Weight (kg) of Parent ——>
{/observation>
{/subjectOf2>
<subjectOf2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
{code code="17" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayNaie="height”/>
{value xsi:type="PQ” value="160" unit="cm”/>
<l—— D.10.5: Height (cm) of Parent ——>
{/observation> .
{/subject0f2>
<subject0f2 typeCode=fSBJ”>
{organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1, 113883. 3. 989.2. 1. 1. 20" codeSystemVersion="1. 0"
displayName=”relevantMedicalHistoryAndConcurrentConditions”/>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="D. 10.7.1.r.1b” codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D: 10. 7.1.r. 1a"/>
¢I-- D.10.7. 1. 1. la: MedDRA Version for Medical History #1 -—>
<!-- D.10.7.1.r.1b: Medical History (disease / surgical procedure/ etc.) (MedDRA code) #1 -
->
<effectiveTime xsi:type="IVL_TS”>
*<low value="20090101"/>
<!——D.10.7.1.r.2: Start Date #1 —>
<high value="20090101"/>
<!-- D.10.7.1.r.4: End Date #1 -
{/effectiveTime>
<outboundRelationship2 typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 19” codeSystenVersion="1.1"
displayName="comment”/> ) . .
<value xsi:type="ED”>D.10.7.1.r.5</value>
<!— D.10.7.1.r.5: Comments #1 —>
</observation>
</outboundRelationship2>
{inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="13" codeSystem="2, 16.840. 1, 113883, 3.989. 2. 1. 1. 19" codeSystemnVersion="1. 1"
displayName="continuing”/> .
¢value xsi:type="BL” value="true”/>
<l-=D.10.7.1.r.3: Continuing #1 -=>
{/observation>
</inboundRelationship>
. {/observation>
{/component>
{component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="D.10.7.1.r, 1b” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10. 7. L.r. 1la"/>
<1——'D.10.7. 1.r. la: MedDRA Version for Medical History #2 —>
<)== D.10.7.1.1.1b: Medical History (disease / surgical procedure/ etc.) (MedDRA code) #2 -

(effectiveTime xsi:type="IVL_TS">
{low value="20090101"/>
<!-- D.10.7.1.r.2: Start Date #2 —>
<high value="20090101"/>
<1-- D.10.7.1.r.4: End Date #2 ——>
</effectiveTime>
<outhoundRelationship2 typeCode="COMP”>
{bhservation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1”
di splayName="comment” />
<yalue xsi:type="ED”>D. 10. 7. 1.r.5</value>’
¢!--D.10.7.1.r.5: Comments #2 ——>
{/observation>
{/outboundRelationship2>
<inboundRelationship typeCode="REFR”>
{obhservation classCode="0BS” moodCode="EVN">



{code code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989.2.1. 1. 19” codeSystemVersion="1. 1"
displayName="continuing”/>
<value xsi:type="BL” value="true”/>
<!— D.10.7.1.r.3: Continuing #2 ——>
{/observation>
</inboundRelationship>
{/observation>
{/component>"
{component ‘typeCode="COMP">
{observation classCode="0B5” moodCode="EVN”">
{code code="18" codeSystem="2. 16.840. 1.113883.3.989.2. 1. 1. 19” codeSystemVersion="1.1"
displayName="historyAndConcurrentConditionText” />
5 <value xsi:type="ED”>D. 10.7.2<{/value>
<1-= D.10.7.2: Text for Relevant Medical History and Concirrent. Conditions of Parent —>
{/observation>
{/component>
{/organizer>
{/subject0f2>"
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="2" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 20” codeSystemVersion="1.0"
displayName="drugHistory”/>
{component typeCode="COMP"> y
{substanceAdministration classCode="SBADM” moodCode="EVN">
KeffectiveTime xsi:type="IVL_TS”>
<{low value="20090101"/>
-<!— D.10.8.r.4: Start Date #1 —>
<high value="20090101"/> ;
<1-=D.10.8.r.5: End Date #1 —>
{/effectiveTime> .
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D. 10.8.r. 2b” codeSystem="TBD-MPID” codeSystemVersion="D. 10. 8. . 2a”/>
<!--D.,10.8.r.2a: MPID Version Date / Number #1 ——>
<!— D.10.8.r.2b: Medicinal Product Identifier (MPID) #1 —>
<name>D. 10. 8. r. 1{/name>
€!1— D.10.8.r.1: Name of Drug as Reported #1 —>
</kind0fProduct>
{/instanceOfKind>
</consumable 9 o .
<outboundRelationship2 typeCode="RSON”>
{observation classCode="0BS” moodCode="EVN">
{code code="19" codeSystem="2.16.840, 1. 113883.3.989.2.1.1. 19" codeSystemVersion="1.1"
displayName="indication”/>
<value xsi:type="CE” code="D. 10.8.r.6b” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. 63" /> =
<!— D.10.8.r.6a: MedDRA Version for Indication #1 —> °
<!—- D.10.8.r,6b: Indication (MedDRA code) #I ——>
- {/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="CAUS”>
{observation classCode="0BS” moodCode="EVN”"> !
{code code="29" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{value xsi:type="CE” code="D.10.8.r.7b” todeSysten="2. 16, 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. 7a”/> ’ ' ’ ’
<1— D.10.8.r.7a: MedDRA Version for Reaction #1 -->
<}—D.10.8.r. 7b: Reactions (MédDRA code) #1 —>
</observation>
</outboundRelationship2>
{/substanceAdministration>
{/component>
{component typeCode="COMP">
{substanceAdministration classCode="SBADM" moodCode="EVN">
<effectiveTime xsi:type="IVL_TS">
<low value="20080101"/> < ,
<l--D.10.8.r.4: Start Date #2 -
<high value="20090101"/>



displayName="indication

codeSystemVersion="D. 10

displayName="reaction”/>

codeSystemVersion="D. 10.

</
{/ro
</play
{subje

¢}-- D.10.8.r.5: End Date #2 —>
{/effectiveTime’
<consumable typeCode="CSM” >
{instance0fKind classCode="INST">
<kind0fProduct classCode="MMAT” determinerCode="KIND">

<code code="D. 10.8.r.3b” codeSystem="TBD-PhPID" codeSystemVersion="D. 10. 8.1. 3a"/>

<!-- D.10.8.r. 3a: PhPID Version Date / Number #2 —>

¢!— D.10.8.r.3b: Pharmaceutical Product Identifier (PhPID) #2 ——>

<name>D. 10. 8. . 1<{/name>
¢!--.D.10.8.1.1: Name of Drug as Reported #2 —>
</kindOfProduct>
{/instance0fKind>
{/consumable>
{outboundRelationship2 typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">

<code code="19" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 197
e

codeSystemVersion="1; 1"

<value xsiitype="CE” code="D.10.8.r.6b" codeSystem="2. 16. 840. 1, 113883. 6. 163"

8.1.6a"/>
¢!-- D.10.8.r.6a: MedDRA Version for Indication #2 ——>
<!— D.10.8.r.6b: Indication (MedDRA' code) #2 ——>
</observation>
{/cutboundRelationship2>
<outhoundRelationship? typeCode="CAUS”>
(observation classCode="0BS” moodCode="EVN">

<code code="29" codeSystem="2.16.840.1.113883.3.989.2.1.1.19”

codeSystemVersion="1. 1"

<value xsiitype="CE” code="D.10.8.1.7b" codeSystem="2. 16.840. 1. 113883. 6. 163

8.r.7a"/>
¢!-= D.10.8.1.7a: MedDRA Version for Reaction #2 —->
<]— D.10.8.1.7b: Reactions (MedDRA code) #2 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
{/component>
{/organizer>
subject0f2> \
le> :
erl>
ctOf1 typeCode="SBJ">

{researchStudy classCode="CLNTRL” moodCode="EVN">

<id extension="C.5.3” root=”2:16.840.1.113883.3.989.2.1.3.5”/>
<l-- (.5, 3: Sponsor Study Number —>

<code code="C.5.4" codeSystem="2. 16.840. 1. 113883. 3.989. 2, 1. 1. 8” codeSystemVersion="1.0"/>

¢l—- ¢.5.4: Study Type Where Reaction(s) / Event(s) Were Observed ——>
<title>C. 5. 2</titled
<!-- C.5.2: Study Name ——>
<authorization typeCode="AUTH">
¢studyRegistration classCode="ACT” moodCode="EVN">
<id extension="C.5.1.r.1” root="2.16.840.1.113883.3.989.2.1.3.6"/>
<l-— C.5.1.r.1: Study Registration Number #1 —>
<author typeCode="AUT"> 3
{territorialAuthority classCode="TERR"> S
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.5.1.1.2" codeSysten="1. 0. 3166. 1. 2. 2"/>
¢l-- C.5.1.1.2: Study Registration Country #1 —>
{/governingPlace>
{/territorialAuthority>
{/author>
{/studyRegistration>
{/authorization>
<authorization typeCode— AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN">
¢id extension="C.5.1.r.1” root="2.16.840,1.113883.3.989.2.1.3.6"/>
¢l C.5.1.r.1 Study Registration Number #2 ——>
<author typeCode="AUT”>
<{territorialAuthority classCode— "TERR”>
{governingPlace classCode="COUNTRY” détermlnerCode— INSTANCE >
<code code="C.5.1.1.2" codeSystem="1.0.3166.1.2.2"/>



<)== C.5.1.1.2! Study Registration Country #2 —

{/governingPlace>
{/territorialAuthority>
{/author>
{/studyRegistration>
{/authorization>
{/researchStudy>
{/subject0f1> .

<subject0f2 typeCode="SBJ]”>
{observation classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="age”/>
<value xsi:type="PQ” value="10" unit="D.2.2b"/>
<I=-D.2.2a: Age at Time of Onset of Reaction / Event (number) —>
<!--D.2.2b: Age at Time of Onset of Reaction / Event (unit) —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SBJ]">
{observation classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2. 16. 840. L. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1. 1*
displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="D. 2, 2.1b"/>
<1-- D.2.2.1a: Gestation Period Wher Reaction / Event Was -Observed in the Foetus (number) --3
{!=-D.2.2, 1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) —>
{/observation>
{/subject0f2>
{subjectOf2 typeCode="SB]">
<observation classCode="0BS” moodCode="EVN">
«<{code code="4" codeSystem="2. 16. 840. I. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
dlsplayName- ageGroup” />
_ {value xsi:type="CE” code="D. 2.3” codeSystem="2.16.840. 1.113883.3.989.2.1.1.9"
codeSystenVersion="1.0"/>
. <!— D.2.3: Patient Age Group (as per reporter) —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]">
<observation classCode="0BS” moodCode="EVN”> .
{code code="7" codeSystem="2.16.840.1.113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="bodyWeight”/>
g <velue xsi:type="PQ” value="48.2" unit= kg”/)
<l-- D.3: Body Weight (kg) —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
{code code="17" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"

/

displayName="height”/>
’ {value xsi:type="PQ” value="152" unit="cn”/>
<l-==D.4: Height (cm) —>
{/observation>
{/sub ject0f2>
{subjectOf2 typeCode="" SBJ >
<observation classCode="0BS” moodCode="EVN">
{code code="22" codeSystem="2.16.840. 1. 113883.3.989. 2.1.1.19” codeSystemVersion="1.1"
-displayName="lastMenstrualPeriodDate”/>
<{value xsi:type="TS” value—”20090101 />
{!-- D.6: Last Menstrual Period Date —>
{/observation>
{/subjéct0f2>"
{subject0f2 typeCode="SBJ]”>
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="1" codeSys*em— 2.16.840.1.113883.3.989.2.1.1.207 codeSystemVerslon— 1.0
displayName= relevantMedlcalHlstoryAndConcurrentCondlt10ns”/>
{component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN”>
<code code="D.7.1.1,1b" codeSystem="2. 16.840. . 113883. 6: 163" codeSystemVersion="D.7.1.r.1la"/>
<!-=- D.7.1.r.1a: MedDRA Version for Medical History #1 —>
<l==D.7.1.r.1b: Medical History (disease / surgical procedure / etc.) (MedDRA code) #1 ——>
<effectiveTime xsi:type="IVL_TS">

.



{low value=”20Q90101”/>
<!-- D, 7.1.r,2: Start Date #1 ——>
<high value="20090101"/>
<l-- D.7.1.r.4: End Date #1l —>
{/effectiveTime>
{outboundRelationship2 typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="comment”/>
<value xsitype="ED">D.7.1.r.5¢/value>
<¢l--D.7.1.r.5: Comments #l —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="EXPL">
<observation classCode="0BS” moodCode="EVN">
<code code="38" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 18" codeSystemVersion="1. 1"
displayName="familyHistory”/>
{value xsi:type="BL” value="true”/>
¢{}-- D.7.1.r.6: Family History #1 ——>
</observation> ’ -
{/outboundRelationship2>
(inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="13" codeSystem="2. 16. 840, 1, 113883. 3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="continuing”/>
<value xsi:type="BL” value="true”/>
<!— D.7.1.r.3: Continuing #1 —>
{/observation>
</inboundRelationship>
{/observation>
{/component>
<component typeCode="COMP”">
{observation classCode="0BS” moodCode="EVN">
<code code="D.7.1.r.1b" codeSystem=”2116.840.1.i13883.6.163” codeSystemVersion="D. T. 1. r. la”/>
<!-- D.7.1.r.la: MedDRA Version for Medical History #2 —>
¢l-— D.7.1.r.1b: Medical history (disease / surgical procedure / etc.) (MedDRA code) #2 -—>
¢effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
{!-- D.7.1.r.2: Start Date #2 ——>
<high value="20090101"/>
<l-- D.7.1.r.4: End Date #2 -—>
{/effectiveTime>
<outboundRelationship2 typeCode="COMP">
{ohservation classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment” />
<value xsi:type="ED”>D.T.1.r.5¢/value>
<l-- D.7.1.r.5: Comments #2 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="EXPL">
{observation classCode="0BS” moodCode="EVN">
<code code="38" codeSystem="2. 16. 840.1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="familyHistory”/>
<value xsi:type="BL” value="true”/>
<!=—— D.7.1.1.6: Family History #2 —>
] {/observation>
<{/outboundRélationship2>
{inboundRelationship typeCode="REFR™> , .
{ohservation classCode="0BS” moodCode="EVN">
<code code="13" - codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystenVersion="1. 1"
displayName="continuing”/>
<value xsi:type="BL" value="true”/>
<l--D.7.1.r.3: Continuing #2 ——>
{/observation>
{/inboundRelationship>
{/observation>
{/component> -
{component typeCode="COMP”>



{observation classCode="0BS” moodCode="EVN">
<code code="18" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName=”historyAndConcurrentConditionText”/> N
<value xsi:type="ED">D.7.2{/value>
] <{!— D.7.2: Text for Relevant Medical History and Concurrent Conditions (not including reaction
/ event) —>
{/observation>
{/component?
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19” -codeSystemVersion="1.1"
displayName="concomitantTherapy”/>
{value xsi:type="BL” value="true”/>
¢!1--D.7.3: Concomitant Therapies —>
{/observation>
{/component> - -
<{/organizer>
</subject0f2>
{subject0f2 typeCode="SBJ">
<organizer classCode="CATEGORY” moodCode="EVN">
) {code code="2" codeSystem=”2.16.840r1.113883.3.989.2.1.1.20' codeSystemVersion="1. 0"
displayName="druglistory”/>
<{component typeCode="COMP"> . _
{substanceAdministration classCode="SBADM” moodCode="EVN">
{effectiveTime xsi:type="IVL_TS">
<low 'value="20090101"/>
<= D. 8.r.4: Start Date #1 —>
<high value="20090101"/>
<I— D.8.1.5: End Date #1 —>
{/effectiveTime>
{consumable typeCode="CSM”>
{instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<eode code="D.8.r.2b" codeSystem="TBD-MPID” codeSystemVersion="D.8.r. 2a”/>
{!-- D.8.r.2a: MPID Version Date / Number #1 ——>
¢1-- D.8.r.2b: Medicinal Product Identifier (MPID) #1 ——>
<name>D. 8. r. 1{/name>
{!--D.8.r.1: Name of Drug as Reported #l —>
</kindOfProduct>
</instanceOfKind>
{/consumable>
<outboundRelationship2 typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<cdde code="19" codeSystem="2.16.840. 1. 113883.3.989.2.1.1. 19" codeSystemVersion="1.1"
displayName="indication”/>
<value xsi:type="CE” code="D.8.7r.6b" codeSystem="2.16.840.1. 113883. 6. 163"
codeSystemVersion="D. 8. r. 6a”/>
<!— D.8.r.6a: MedDRA Version for Indication #1 —>
<!—— D.8.r.6b: ‘Indication (MedDRA code) #1 ——>
</observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="CAUS">
<observation classCode="0BS” moodCode="EVN">
{code code="29” codeSystem="2.16. 840, 1. 113883.3.989. 2. 1. 1.19” codeSystemVersion="1.1"
displayName="reaction”/>
‘<value xsi:type="CE” code="D. 8. r.7b” codeSystem="2, 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D. 8. r. 7Ta”/> . )
{!-- D.8.1.7a: MedDRA Version for Reaction #1 —>
<!-- D.8.1.7h: Reaction (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
<{/component> ‘
<component typeCode="COMP”>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<effectiveTime xsi:type="IVL_TS">
{low-value="20090101"/>
<I-='D.8.r.4: Start Date #2 ——>
<high value="20090101"/>



¢!-- D.8.r.5: End Date #2 —>
</effectiveTime>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="D.8.r.3b" codeSystem="TBD-PhPID” codeSystemVersion="D.8.r.3a"/>
¢{]-- D.8.r.3a: PhPID Version Date / Number —>
¢<I—= D.8.r.3b: Pharmaceutical Product Identifier (PhPID) #2 ——>
<name>D. 8. r. 1{/name>
¢l-- D.8.1.1: Name of Drug as Reported #2 —>
{/kind0fProduct>
</instance0fKind>
{/consumable>
<outboundRelationship2 typeCode="RSON">
<observation classCode="0BS” moodCode=" EVN >
<code code="19" codeSystem= ”9.16. 840, 1. 113883. 3.989. 2. 1. 1. 19”, codeSystemVersion="1. 1"
displayName="indication”/>
{value xsi:type="CE” code="D.8.r.6b” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 8.r.6a"/>
<{!-- D.8.r.6a: MedDRA Version for Indication #2 ——>
{!— D.B.r.6b: Indication (MedDRA codé) #2 ——>
{/observation> -
{/outboundRelationship2>
<outboundRelationship2 typeCode="CAUS">
"Cobservation classCode="0BS” moodCode="EVN">
{code code="29" ‘codeSystem="2. 16.840. 1. 113883 3.989.2.1.1.197 codeSystemVerslon— 1.1"
displayName="reaction”/>
<value xsi:type="CE” code="D.8.r.7b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D.8.r.7a"/> '
) <|— D.8.r.7a: MedDRA Version for Reaction #2 ——>
<!— D.8.r.7b* Reaction (MedDRA code) #2 ——>
<{/observation>
</outboundRelationship2>
{/substanceAdministration>
{/component>
{/organizer>
</subject0f2>
<subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
<code code="32" codeSystem="2,16.840.1.113883.3.989.2.1.1.19” codeSystemVersion="1. 1"
dlsplayName— “reportedCauseOfDeath”/>
{value xsi:type="CE” code="D.9.2.r.1b" codeSystem="2. 16. 840. 1. 113883. 6, 163"
codeSystemVersion="D..9. 2. r. 1a”>
¢!=—— D.9.2.r.1a: MedDRA Version for Reported Cause(s) of Death #1 ——>
<!-= D.9.2.1.1b: Reparted Cause(s) of Death (MedDRA code) #1 -—>
<originalText>D. 9. 2. r. 2{/originalText>
<!-— D.9.2.1.2: Reported Cause(s) of Death (free text) #1 -
</value> : ¢ :
</observation>
<{/subject0f2>
{subjectOf2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
{code code="32" codeSystem="2.16.840.1.113883.3.989.2.1.1. 19” codeSystemVersion="1.1"
displayName="reportedCause0OfDeath”/>
. <value xsi:type="CE” code="D. 9. 2. r. 1b” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 9. 2.1.1a">" -
. <!— D.9.2.1.1a: MedDRA Version for Reported Cause(s) of Death #2 —->
¢l== D.9.2.r. 1b: Reported Cause(s) of Death (MedDRA code) #2 -
CoriginalText>D. 9. 2. r. 2{/originalText>
1--D.9.2.r. 2: Reported Cause(s) of Death (free text) #2 -
</value>
{/observation>
</subjectOf2>
<subject0f2 typeCode="SBJ">
{observation classCode="0BS" moodCode— EVN">
<code code="5" codeSystem="2. 16, 840. 1..113883. 3, 989.2. 1. 1. 19" codeSystemVersion="1.1"
displayName="autopsy”/>
¢value xsi:type="BL” value="true”/>
¢!-- D.9.3 Was Autopsy Done? -->



<outboundRelationship2 typeCode="DRIV”>
<observation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2.16..840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causeOfDeath”/>
{value xsiitype="CE” code="D.9.4.r.1b” codeSystem=72. 16.840. 1. 113883, 6. 163"
codeSystemVersion="D. 9. 4. r. la”>
{!1--D.9.4.r.1a: MedDRA Version for Autopsy-determined Cause (s) of Death #1 -->
<!-=D.9.4,r.1b Autopsy-determined Causé(s) .of Death (MedDRA code) #1 —>
<originalText>D.9. 4. r. 2¢/originalText>
{!— D.9.4.r.2: Autopsy-determined Cause(s) of Death (free text) #l ——>
{/value>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="DRIV">.
{observation classCode="0BS” moodCode="EVN">
" {code code="8" codeSystem="2.16. 840. 1. 113883; 3. 989, 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="causeOfDeath”/>
{value xsi:type="CE” code="D.9.4.r.1b” codeSystem="2.16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 9. 4. r. la”>
<!-—=D.9.4.r.1a: MedDRA Version for Autopsy-determined Cause(s) of Death #2 -—>
<!=- D.9.4.r.1b Autopsy—determined Cause(s) of Death (MedDRA code) #2 —>
<originalText>D. 9. 4; r. 2{/originalText>
<|— D.9.4.r.2: Autopsy-determined Cause(s) of Death (free text) #2 —>
{/value>
{/observation>
</outboundRelationship2>
{/observation>
</subject0f2> )
<subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
<id root="154ebB889-958b-45f2-a02f-42d4d6£4657" /> ‘
{code code="29" codeSystem="2, 16. 840. 1. 113883. 3,988, 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS">
{low value="20090101"/>
“<l-= E.i.4: Date of Start of Reaction / Event #1 —)
<high value="20090102"/>
<!-- E.i.5: Date of End of Reaction / Event #1 ——>
{/effectiveTime>
{value xsi:type="CE” code="E.i.2.1b" codeSystem="2. 16.840. 1. 113883, 6. 163"
codeSystenVersion="E. i. 2. 1a"> .
<!—— E.i.2.1a: MedDRA Version. for Reaction / Event #1 —>
<l-- E.i.2.1b: Reaction / Event (MedDRA code) #1 —>
<originalText language="E.i.1.1b">E.i.l: la{/originalText>
<l—— E.i. L la: Reaction / Event as Reported by the Primary Source in Native Language #l —>
¢l-- E.i.1.1b: Reaction / Bvent as Reported by the Primary Source Language #1 —>
</value>
{location typeCode="LOC">
{locatedEntity classCode="LOCE”>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
<{!— E.1.9: Identification of the Country Where the Reaction / Event Occurred #I -->
{/locatedPlace>
{/locatedEntity>
</location>
{outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
,{code code="30" codeSystem="2. 16.840. 1. 113883.:3. 989. 2. 1. 1. 19” codeSystemVersion="1, 17
displayName="reactionForTranslation”/>
<value xsi:type="ED"JE. 1. 1.2¢/valued
{!-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #l —>
{/observation> )
{/outboundRelationship2>
<outbhoundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="37" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayNeame="termHighlightedByReporter”/>
{value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840.1. 113883. 3.989.2.1.1.10"
codeSystemVersion="1.0"/> )



¢{!—— E.i.3.1: Term Highlighted by the Reporter #1 ——>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1.1.19” codeSystemVersion="1.1"
displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
¢l-- E.i.3.2a: Results in Death #1 —>
{/observation> '
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2. 16, 840.1.113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/> ‘ ’
{value xsi:type="BL” nullFlavor="NI"/>
¢!— E.1i.3.2b: Life Threatening #1 ——>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="33" codeSystem="2. 16. 840, 1. 113883.3.989. 2.1, 1.19” codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL” value="true”/>
¢)-- E.i.3.2¢: Caused / Prolonged Hospitalisation #1 —>
{/observation> )
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
Lobservation classCode="0BS” moodCode="EVN">
(code code="35" codeSystem="2. 16.840. L. 113883. 3.989. 2. 1.1.19” codeSystemVersion="1.1"
displayName=”resultsInPersistentOrSignificantDisahility”/)
{value xsi:type="BL” nullFlavor="NI"/>
¢!-- E.1i.3.2d: Disabling / Incapacitating #1—>
</observation> s
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/>
~ <!-—B.i.3.2e: Congenital Ancmaly / Birth Defect #1 —>
~ {/observation>
</outboundRelationship2>
<outboundRelationship2 .typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
¢code’ code="26" codeSystem="2. 16.840. 1. 113883.3.989. 2.1, 1.19” codeSystemVersion="1 1"
displayName="othérMedicallyImportantCondition”/>
{value xsi:type="BL” value="true”/>
¢!—- E.1i.3.2f: Other Medically Important Condition #l —>
{/observation>
{/outboundRelationship2>
) <outboundRelationship2.typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2.16.°840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2. 16. 840. 1. 113883. 3. 989, 2, 1. 1. 117
codeSystemVersion="1.0"/>
<l-= E.i.7: Outcome of Reaction / Event at the Time of Last Observation #1 —>
" {/observation> ’
</outboundRelatidnship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 15.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
<l-— E.i.8: Medical Confirmation by Healthcare Professional #1 —->
{/observation>
{/outhoundRelationship2”
{outboundRelationship2 typeCode="PERT">



s

<observation classCode="0BS” moodCode="EVN”>

{code code="11" codeSystem="2. 16. 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10” codeSystemVersion="1. 0"

displayName="3%n - BE&0" />
{value xsi:type="CE” code="]2.14.i” codeSystem="2, 16. 840. 1. 113883.3.989.5.1.3.2. 1. 8"
codeSystemVersion="1.0"/>
‘ <I— @eejz. 14.i k40 - BE4&0 #1 —>
{/observation>
</outboundRelationship2> &
{/observation>
{/sub ject0f2>
LsubjectOf2 typeCode="SB]”>
{observation classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c—93e9-5b860b314220” />
{code code="29" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2..1. 1. 19” codeSystemVersion="1. 1"
displayName="reaction”/> ' i
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
. <l-- E.i.4: Date of Start of Reaction / Event #2 —->
<width value="24" unit="E. i.6b"/>
<l-- E.i.6a: Duration of Reaction / Event (number) #2 —>
¢l-- E.i.6b: Duration 'of Reaction / Event (unit) #2 —>
{/effectiveTimed
{value xsi:type="CE” code="E.i.2.1b" codeSystem="2.16.840. 1. 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a*> )
{1-— E.i.2.1a: MedDRA Version for Reaction / Event #2 ——>
{!— E.i.2.1b: Reaction / Event (MedDRA code) #2 —>
<originalText language="E.1i. 1. 1b">E. i. 1. la</originalTextd>

\

<!-- E.i.1.la: Reaction / Event as Reported by the Primary Source in Native Language #2 —>

<~ E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #2 —>
</value> 3
{location typeCode="LOC"Y
<locatedEntity classCode="LOCE”> |
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
{code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>"
<J— E.i.9: Identification of the Country Where the Reaction / Event Occurred #2 —->
</locatedPlace>
{/locatedEntity>
{/location>
{outboundRelationship2 typeCode="PERT”>
{observatjon classCode="0BS” moodCode="EVN"> .
{code code="30" codeSystem="2. 16. 840, 1. 113883. 3, 989. 2, 1.-1. 19” codeSystemVersion="1. 1"
displayName="reactionForTranslation”/>
{value xsi:type="ED">E. i. 1. 2</value> .
<!== E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #2 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
. <code code="37" codeSystem="2. 16, 840. 1. 113883, 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="termHighlightedByReporter”/>
{value xsi type="CE” code="E.i.3.1" codeSystem="2.16.840. 1. 113883, 3.989.2.1.1. 10"
codeSystemVersion="1. 0“/>
{!—— E.i.3.1:Term Highlighted by the Reporter #2 -->
{/observation> ]
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19” codeSystenVersion="1.1"
displayName="resultsInDeath”/>
{value xsi:type="BL” value="true”/>
{!-- E.1.3.2a: Results in Death #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN”">
{code code="21" codeSystem="2. 16.840. 1. 113883. 3, 989. 2. 1. 1, 19° codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
{value xsi:type="BL” nullFlavor="NI"/>
{1-- E.i.3.2b: Life Threatening #2 ——>



{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
(observation classCode="0BS” moodCode="EVN">
- <code code="33". codeSystem="2. 16. 840, 1, 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization )
<yalue xsi:type="BL” value=" true ">
¢l— E.1i.3.2c: Caused / Prolonged Hospitalisation #2 -
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="35" codeSystem="2. 16. 840.1.113883.3.989.2.1.1.19" conSystemVersion=”1.1"
displayName= resultsInPers1stentOrSlgnlflcantDlsabl11ty />
{value xzsi:type="BL” nullFlavor="NI"/> .
¢]-— E.i.3.2d: Disabling / Incapacitating #2 -—> '
{/observation>
</outboundRelat10nsh1p2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 197 codeSystemVersion="1,1"
displayName=”congenitalAnomalyBirthDefect"/)
<value xsi:type="BL” nullFlavor="NI"/>
<!-- E.i.3.2e: Congenital Anomaly / Birth Defect #2 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="26" codeSystem="2. 16. 840. 1. 113883. 3.989.2.1.1. 19" codeSystemVersion="1, 1"
displayName="otherMedicallyImportantCondition />
<value xsi:type="BL” value="true”/>
{!— E.j.3.2f: Other Medically Important Condition #2 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVYN">
<code code="27" codeSystem="2. 16, 840.1. 113883, 3,989.2.1.1.19” codeSystemVersion="1. 1"
displayName="outcome”/>
_ <value xsi:type="CE” code="E.i.7" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 117
codeSystemVersion="1.0"/>
¢l— E.1i.7: Outcome of Reaction / Event at the Time of Last Observation #2 —>
0 {/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode=" BVN">
(code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="medicalConfirmationByHealthProfessional”/>
¢value xsi:type="BL” value="true”/>
<l-— E.i.8: Medical Confirmation by Healthcare Professional #2 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
Cobservation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1,3.2. 1. 107 codeSystemVersion="1. 0"
displayName="#%1 - BE&N"/>
<value xsi:type="CE” code="J2.14.i" codeSystem="2. 16. 840, 1. 113883.3.989.5.1.3.2.1.8”
codeSystemVersion="1.0"/> .
<I— @@eJ2.14.1 40 - BER #2 —>
{/observation>
</outboundRelationship2>
{/observation>
¢/subject0f2>
<subject0f2 typeCode=" SBJ >
{observation classCode="0BS” moodCode="EVN">
<id root="3a8626cb-9f1b—4eaB8-8a0f-e0ff34430adf”/>
Ccode code="29" codeSystem="2.16. 840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1. 1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS">
<width value="24" unit="E.i.6b"/>



{}— E.i.6a: Duration of Reaction / Event (number) #3 —>
<!—— E.'i.6b: Duration of Reactiom /-Event (unit) #3 —> -
<high value="20101201"/>
{!— E.i.5: Date of End of Reaction / Event #3 ——>
{/effectivelime>
. <value xsi:type="CE” code="E. i.2.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystenVersion="E. i. 2. 1a”> )
<!-— E.i.2.1a: MedDRA Version for Reaction / Event #3 -—>
<!-— E.i.2.1b: Reaction / Event (MedDRA code) #3 —-
<or1g1nalText language="E. i. 1. 1b">E. 1. L. 1a</or1g1nalText)
<l-- E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #3 —>
<l-- E.i.1.1b: Reaction / Event.as Reported by the Primary Source Language #3 ——>
</value> )
<{location typeCode="LOC">
{locatedEntity classCode="LOCE”> . _
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="E.1i.9" codeSystem="1.0, 3166.1.2.2"/>
<l-— E:i.9: Identification of the Country Where the Reaction / Event Occurred #3 —»
<{/locatedPlace>
{/locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN”>
{code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1.1, 19" codeSystemVersion="1,1"
displayName="reactionForTranslation”/>
{value xsi:type="ED”}E. i. L. 2{/value> _
<{I-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #3 ——>
{/observation>
{/otitboundRelationship2>
‘CoutboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN"}>
{code code="87" codeSy§t9m=”Z.16.840L1.113883:3.989.2.1.1.19’ codeSystemVersion="1.1"
displayName=" termnghl1ghtedByReporter />
{value xsi:type="CE” code="E.1i.3. 1 codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 10”
codeSystemVersion=”l.0”/)
{l—— E.i.3.1:Term Highlighted by the Reporter #3 —>
{/observation>
{/outboundRelationship2>
b <outboundRelationship2 typeCode— PERT >
<observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem— 2. 16, 840. 1, 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
{value xsi:type="BL” value=7true”/>
{!— E.i.3.2a: Results in Death #3 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
" <observation classCode="0BS” moodCode="EVN">
<code. code="21" codeSystem="2.16.840. 1. 113883, 3.989. 2. 1. 1. 19” codeSystemVersion="1: 1"
displayName="isLifeThreatening”/>
{value xsi:type="BL” nullFlavor="NI"/> '
<l-- E.i.3.2b: Life Threatening #3 —>
{/observation®
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
, {code code="33" codeSystem="2.16. 840, 1.113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
<value xzsiitype="BL" value="true”/> L
<l-- E.i.3.2c: Caused / Prolonged Hospitalisation #3 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2? typeCode="PERT">
{observation classCode="0BS” mocdCode="EVN">
{code code="35" codeSystem="2. 16. 840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>’
{value xsi:type="BL” nullFlavor="NI*/y -
<I— E.i.3.2d: Disabling / Incapacitating #3 —>
{/observation>



{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code ‘code="12" codeSystem="2. 16. 840. 1. 113883.3.989. 2.1, 1. 19” codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/> -
<l-- E.i.3.2e: Congenital Anomaly / Birth Defect #3 —->
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” mcodCode="EVN"> .
(code code="26" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
{!—- E.1i.3.2f: Other Medically Important Condition #3 ——>
{/observation>
{/outboundRelationship2> ~ .
{outboundRelationship2 typeCode="PERT">
<pbservation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1. 113883. 3.989. 2. 1.1.11"
codeSystemVersion="1.0"/>
¢l—— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN”>
<code code="24" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2, 1. 1. 19” codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL” value="true”/>
¢{!— E.i.8: Medical Confirmation by Healthcare Professional #3 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3.989.5.1.3.2. 1. 10” codeSystemVersion="1. 0"
displayName="4%n - BE&"/> ) . !
<value xsi:type="CE” code="J2.14.1” codeSystem="2.16.840,1.113883.3.989.5.1.3.2.1.8"
codeSystemVersion="1. 0"/> ] )
<l-- @eeJ2.14.1 R - BE& #3 —>
{/observation> D
</outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-80ff-dd8415f4£8a5" /> !
<code code="29" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/> & :
<effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="IVL_TS">
low value="20090101"/>
<!— E.1i.4: Date of Start of Reaction / Event #4 ~—>
-<high value="20101201"/>
{1-— E.1i.5: Date of End of Reaction / Event #4 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<width value="24" unit="E.i.6b"/> ’
¢!— E.i.6a: Duration of Reaction / Event (number) #4 —>
¢l-- E.i.6b: Duration of Reaction / Event {(unit) #4 —->
</comp>
{/effectiveTime>
E {value xsi:type="CE” code="E.1i.2.1b" codeSystem="2.16.840. 1, 113883.6, 163"
codeSystenVersion="E. i.2.1a”>
' {!-—E.i.2 la: MedDRA Version for Reaction / Event #4 -—>
¢!-- E.i.2.1b: Reaction / Event (MedDRA code) #4 —>
{originalText language="E.i.1.1b">E. i.1.1la{/originalText>
{!-- E.i. 1l 1a: Reaction / Event as Reported by the Primary Source in Native Lahguage #4 ——>



<{!— E.i.1. 1b: Reaction / Event as Reported by the Primary Source Language #4 —>
{/value>
{location typeCode="10C">
<locatedEntity classCode="LOCE”>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code’ code="E. i. 9" codeSystem="1. 0. 3166. 1. 2.2"/> d
<!—— E.i;9: Identification of the Country Where the Reaction / Event Occurred #4 -->
{/locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
“<code code="30" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
<value xsi:type="ED")E. i.1.2<{/value>
- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 ——>
{/observation>
</outboundRelationship2> . 4
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="37" codeSystem="2.16.840. 1. 113883. 3.989.2. 1. 1. 19”. codeSystemVersion="1.1"
displayName="termHighlightedByReporter”/>
{value xsi:type="CE” code="E.i.3.1” codeSysiém=”2.16.840.1.113883.3.989;2.1.1.10”
codeSystemVersion="1.0"/>
<!--B.i.3.1:Term Highlighted by the Reporter #4 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2. 16. 840. 1. 113883. 3.989.2.1. 1. 19” codeSystemVersion="1.1"
displayName="resultsInDeath”/> : _
, <value xsi:type="BL” value="true”/>
<|-- E.i.3.2a! Results in Death #4 —>
{/observation> 3
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
{code code="21" codeSystem="2.16.840. 1. 113883. 3.989.2.1.1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/> .
' <value xsi:type="BL" nullFlaver="NI"/>
- <l-- E.i.3.2b: Life Threatening #4.—>
{/observation>"
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="33" codeSystem="2. 16: 840. 1. 113883. 3.989.2.1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL” value="true”/>
<!=- E.i.3.2c: Caused / Prolonged Hospitalisation #4 —>
{/observation)
</outboundRelationship2>
<outbpundRelationship2 typeCode="PERT”>
observation classCode="0BS” moodCode="EVN">
{code code="35" codeSystem="2. 16,840. 1. 113883. 3,989, 2.1. 1. 19" codeSystemVersion="1.1"
displayName="restultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlavor="NI"/>
<}— E.i.3.2d: Disabling / Incapacitating #4 -->
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/> ‘
<value xsi:type="BL” nullFlavor="NI"/>
¢!-- E.i.3.2: Congenital Anomaly / Birth Defect #4 —>
{/observation>
{/outboundRel ationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">



<code code="26" codeSystem="2.16. 840. 1. 113883 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="othérMedicallyImportantCondition”/>
.<value xsi:type="BL” value="true”/>
{!-- E.i.3.2f: Other Medically Important Condition #4 ——>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2:1. 1. 19” codeSystemVersion="1.1"
displayName="outcome”/>
¢value xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1. 113883. 3,989.2.1. 1.11"
codeSystemVersion="1.0"/>
<1— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #4 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayNeme="medicalConfirmationByHeal thProfessional”/>
<value xsi:type="BL” value="true”/>
{l-- E.i.8: Medical Confirmation by Healthcare Professional #4 ——
. {/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16, 840. 1. 113883. 3,989, 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="%n « BE&1"/>
{value xsi:type="CE” code="J2.14.1i” codeSystem="2.16.840.1.113883.3,989.5.1.3.2.1.8"
codeSystemVersion="1.07/>
<1-— @@eJ2. 14.1 X0 - BEA #4 —>
{/observation>
</outboundRelationship2>
{/observation>
{/subject0f2>
<subject0f2 typeCode="SB]">
<observation classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f9ddb7eabd” />
<code code="29" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
¢}-- E.1i.4: Date of Start of Reaction / Event #5 ——>
</effectiveTime>
<value xsi:type="CE” code="E.i.2.1b” codeSystem="2.16.840.1.113883.6, 163"
codeSystemVersion="E. i. 2. 1a"> : 24
¢l—— E.i.2. 1a: MedDRA Version for Reaction / Event #5 —>
<l-- E.i.2.1b: Reaction / Event (MedDRA code) #5 ——>
<originalText language="E.1i.'l.1b">E.i. 1. 1al/originalText>
¢l-— E.1i.1. la: Reaction / Event as Reported by the Primary Source in Native Language #5 —>
¢l-= E.i.1. 1b: Reaction / Event as Reported by the Primary Source Language #5 ——>
{/value>
{location typeCode="LOC">
<locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
<!-f E.i.9: Identification of the Country Where the Reaction / Event Occurred #5 —>
{/locatedPlace>
{/locatedEntity>
{/location>
CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
<value xsi:type="ED"JE.1.1.2</value>
¢!-= E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #5 -—>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">



{code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="termHighlightedByReporter”/>
{value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.10” *
codeSystemVersion="1.0"/>
<l-- E.i.3.1:Term Highlighted by the Reporter #5 ——>
{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2. 16.840. 1. 113883. 3. 989.2.1. 1. 19” codeSystemVersion="1.1"
displayName="resul tsInDeath”/>
) {value xsi:type="BL” value="true”/>
{!—— E.1i.3.2a: Results in Death #5 —->
{/observationd
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
: <{code code="21" cddeSystem=”2.16.840.1.113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
, <value xsi:type="BL” nullFlavor="NI"/>
<1=- E.i.3.2b: Life Threatening #5 ——>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="33" codeSystem="2. 16.840. 1. 113883. 3.989.2.1.1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL” value="true”/> -
<l-- E.i.3.2c: Caused / Prolonged Hospitalisation #5 —>
. {/observation>
</outboundRelationship2> _
<outboundRelationship2 typeCode="PERT"> )
<observation classCode="0BS” moodCode="EVN">
{code code="35" codeSystem=”2.16.840.1.113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL” nullFlavor="NI"/>
{l-- E.i.3.2d: Disabling / Incapacitating #5 —>
{/observation> .
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
Yobservation classCode="0BS” moodCode="EVN">
<code ¢code="12" codeSystem="2. 16.840. 1. 113883. 3. 989.2.1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/> :
{value xsi:type="BL” nullFlavor="NI"/>
¢}-- E.i.3.2e: Congenital Anomaly / Birth Defect #5 —>
{/observation>
</outboundRelationship2>.
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> ]
{code code="26" codeSystem="2: 16. 840. 1. 113883. 3. 989. 2. 1..1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
{value xsi:type="BL” value="true”/>
<{!-—— E.{i.3.2f: Other Medically Important Condition #5 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCodé="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989.2. 1. 1. 19” codeSystemVersion="1.1"
displayName="outcome”/> :
<value xsi:type="CE” code="E.j.7” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 11"
codeSystemVersion="1. 0" />
{!— E.i.7: Outcome of Reaction / Event at the Time of Last Obseérvation #5 —>
<{/observation>
{/outboundRelationship2> R
<outboundRelationship2 typeCode="PERT">
" <observation classCode="0BS” moodCode="EVN">
{code code="24" codeSystem="2.16.840.1..113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>



¢!—— E.1i.8: Medical Confitmation by Healthcare Professional #5 ——>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16, 840. 1. 113883. 3. 989.5.1.3.2.1. 10" codeSystemVersion="1.0"
displayName="2R%n « BE4n”/>
¢yalue xsi:type="CE” code="J2.14.i” codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.8"
codeSystemVersion="1.0"/> , .
<l-- @0@J2. 14.1 %0 - BE&n #5 —>
{/observation> .
{/outboundRelationship2>
{/observation>
{/subject0f2> ]
<subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
<id r00t=”1f927283—l0b6-4334—9d43-992564qu18f”/>
- <code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1..19” codeSystenmVersion="1. 1"
displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS”>
<high value="20090101"/>
¢!-- E.i.4: Date of Start of Reaction / Event #6 ——
{/effectiveTime>
<value xsi:type="CE” code="E.i.2.1b” codeSystem="2.16.840. 1. 113883. 6. 163"
codeSystemVersion="E. i.2. 1a">
¢!-- E.i.2.1a: MedDRA Version for Reaction / Event #6 —>
N {!-— E.i.2.1b: Reaction / Event (MedDRA code) #6 —> °
{originalText language="E.i.l.1b">E.i.1.1la{/originalText>
{!-- E.i.l.1a: Reactjon / Event as Reported by the Primary Source in Native Language #6 —->
¢l-— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #6 ——>
{/value> : B
<location typeCode="L0C">
<locatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E.i..9” codeSystem="1.0.3166.1.2.2"/>
¢!-— E.i.9: Identification of the Country Where the Reaction / Event Occurred #6 ——>
</locatedPlace>
{/locatedEntity>
</location’>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
¢code code="30" codeSystem="2. 16. 840. 1.113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
<value xsi:type="ED">E.1i. L. 2</value>
¢l-— E,i.1.2: Reaction / Event as Reported by the Primary Source for Translation #6 ——>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName=”termHighlightedByReporter”/> .
<value xsi:type="CE” code="E.i.3.1” codeSystem="2.16.840.1,113883.3.989. 2.1, 1. 107
codeSystemVersion="1. 0"/>
<!-- E.i.3.1:Term Highlighted by the Reporter #6 —>
{/observation>
<{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2. 16, 840. 1. 113883. 3.989: 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="resultsInDeath”/> o2 o
<value xsi:type="BL” value="true”/>
<l-- E.i.3.2a: Results in Death #6 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>’
{observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="1isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>

®



<l-- E.i.3.2b: Life Threatening #6 -->
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT”>
<observation'é}assCode=”0BS” moodCode="EVN">
{code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL” value=" true wel
{!=- E.i.3.2c: Caused / Prolonged Hospltallsatlon e —>
{/observation>
</outboundRe‘at1onsh1p2>
<outbouPdRelat10nsh1p2 typeCode="PERT">
observation classCode="0BS” moodCode="EVN">
{code code="35" codeSystem="2.16.840.1, 113883, 3. 989, 2. 1. 1.'19” codeSystemVersion="1. 1"
'displayName='resu1tsInPersistentOrSignificantDisability”/> ;
{value xsi:type="BL” millFlavor="NI"/>
<!-=E.i.3.2d: Dlsabllng / Incapacitating #6 ——>
{/observation>
</outboundRelationship2>
<oﬁtboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN”>
<{code code="12" codeSystem—”Z 16.840. 1.113883. 3.989. 2. 1. 1. 19” codeSystemVersien="1.1"
displayName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL” nullFlavor="NI />
<|— E.1i.3 2e: Congenital Anomaly / Birth Defect #6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
{code code="26" codeSYstem— 2 16.840. 1. 113883. 3, 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/> .
<value xsi:type="BL” value="true”/>
{l=~ E.i.3.2f: Other Medically Important Condition #6 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT”>
{observation.classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2.16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1,1"

f

displayName="outcome”/>
<value xsi:type="CE” code="E.i.7” codeSystem=”2.16.840[1.113883.3.989.2.1.1.11”
codeSystemVersion="1. 0"/> )
<I— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #6 —
{/observation)
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 16.840. 1. 113883. 3. 989, 2.1. 1. 19” codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL” value="true”/p
{!-- E.i.8: Medical Confirmation by Healthcare Professional #6 ~->
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moedCode="EVN”>
{code code="11" codeSysten="2. 16. 840. 1. 113883. 3. 989. 5. 1 .3.2.1.10 codeSystemVersion="1. 0"
displayName="3%1 + BE4&n”/> | —
i . {value xsi:type="CE” code="J2.14.1i” codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.8"
codeSystemVersion="1. 0" /> .
<1-- @@0J2. 14. i K&« BEAD- #6 —>
{/observation>
{/outboundRelationship2>
</observation>
{/subject0f2>
{subject0f2 typeCode="SB]”>
{observation classCode="0BS” moodCode="EVN">
<id root=”80342969—38be—423f—bib—ce14bc279d8e”/>
{code code="29" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="reaction”/>
effectiveTime xsi:type="IVL_TS">



{width value="24" unit="E.i.6b"/>

¢!—- E.i.6a: Duration of -Reaction / Event (number) 47 —>

¢1-- E.i.6b: Duration of Reaction / Event (unit) #7 —>
{/effectiveTime>
¢value xsi:type="CE” code="E.i.2.1b" codeSysten="2. 16. 840. 1. 113883. 6. 163"

codeSystemVersion="E. i.2. 1a">

<!-- E.i.2.1a: MedDRA Version for Reaction / Event #7 —>

{!1-— E.i.2. 1b: Reaction / Event (MedDRA code) #7 -—>

{originalText language="E.1i. 1. 1b”>E. i. 1. 1la¢/original Text>

¢{!— E.1i.l. 1a: Reaction / Event as Reported by the Primary Source in Native Language #7 ——>

<(l-- E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #7 —>
</value>
<location typeCode="LOC”>
<locatedEntity classCode="LOCE">
¢locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
{code code="E.1.9” codeSystem="1.0.3166.1.2.2"/>

{4— E. i.9: Identlflcat1on of the Country Where the Reaction / Event Occurred #7 —>

<{/locatedPlace>
{/locatedEntity>
{/location>
<outboundRelationship2 typeCode— PERT”>
{observation classCode="0BS” moodCode="EVN">

b <oode code="30" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"

displayName="reactionForTranslation”/>
<value xsi:type="ED">E.i. 1.2</value>

<1—- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 -

</cbservation>
' {/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

<code code="37" codeSystem="2. 16.840, 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"

displayName="termHighlightedByReporter 5
¢value xsi:type="CE” code="E.i.3.1” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 10"
codeSystemVersion="1.0"/>
¢l-- E.i.3.1:Term Highlighted by the Reporter #7 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">

<code code="34" codeSystem="2. 16.840.1. 113883. 3.989.2.1.1.19” codeSystemVersion="1.1"

displayName="resultsInDeath”/>
{value xsi:type="BL” value="true”/>
{1--E.i.3.2a: Results in Death #7 -—>
{/observation>
</outboundRelationship2>
(outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">

<code code="21" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1. 1"

displayName="isLifeThreatening”/>
¢value xzsi:type="BL” nullFlavor="NI"/>
{!— E.i.3.2b: Life Threatening #7 —>
{/observation> '
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">

<code code="33" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1. 1"

dlsplayName— requ1resInpat1entHosp1tallzat1on 7/
" {value xsi:type="BL” value="true”/>
<!—— E.1i.3.2c: Caused / Prolonged Hospltallsatlon #7 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">

{code code="35" codeSystem="2.16.840. 1. 113883, 3, 989. 2. 1. 1. 19” codeSystemVersion="1.1"

displayName= *resultsInPersistentOrSignificantDisability”/>
(value xsi:type="BL” nullFlavor— NI”/>
¢)— E.i.3.2d: Disabling / Incapacitating #7 ——>
</observation>
</outboundRelationship2>



{outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2.16. 840. 1. 113883.'3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI"/> Ny
<|-- E.i.3.2e: Congenital Anomaly / Birth Defect #7 —>
{/observation> ’
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="26" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
{value xsi:type="BL” value="true”/>
<!— E.i.3.2f: Other Medically Important Condition #7 ——>
{/observation> :
{/outboundRelationship2’ R
<outboundRelationship2 typeCode="PERT">
_ <observation classCode="0BS” moodCode="EVN">
<code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” . codeSystenVersion="1. 1”
displayName="outcome”/> !
<value xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1.113883.3.989.2.1.1.11"
codeSystemVersion="1. 0”7 /> .
<l=~ E.i.7: Outcome of Reaction / Event at the Time of Last Observation #7 —->
{/observationd i
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
{code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName=”medicalConfirmationByHealtBProfessional”/>
<value xsi:type="BL” value="true”/>
<!-- E.1i.8: Medical Confirmation by Healthcare Professional #7. —>
{/ohservation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” codeSystemVersion="1, 0"
displayName="550 - BEZ0"/> an
o <{value xsi:type="CE” code="J2.14.i" codeSystem="2. 16.840. 1.113883.3.989.5.1.3.2.1.8”
codeSystemVersion="1, 07/>
<I-- 00672.14.1 K0 - BE #7 —>
{/observationd
{/outboundRelationship2>
{/ohservation)
</subject0f2> 3
{subjectOf2 typeCode="SB]">
{observation classCode="0BS” moodCode="EVN">
<id rodt="alb5be092-8070-426d-af04~6863263443e0" />
Kcode code="29". codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="reaction”/> . :
' <effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="IVL_TS">
{low value="20090101"/>
<l=— E.i.4: Date of Start of Reaction / Event #8 —>
{width value="24" unit="E.i.6b"/>
<!-— E.i.6a: Duration of Reaction / Event (number) #8 —>
<! E.i.6b: Duration of Reaction / Event (unit) #8 —>
{/comp>
{comp xsi:type="IVL_TS™ operator="A">
<high,value="20101201"/>
<l-= E. i.5: Date of End of Reaction / Event #8 —>
</comp>
{/effectiveTime> .
<value xsi:type="CE” code="E. i.2.1b" codeSystem="2.16. 840. 1. 113883. 6, 163"
codeSystemVersion="E. i.2.1a”>
<!-~ E.i.2.1a: MedDRA Version for Reaction / Event #8 —>
<!— E.'i.2.1b: Reaction / Event (MedDRA code) #8 ——> -
{originalText language="E. i.l.1b">E.1i. 1. la$/originalText>
<{!— E.i.l la: Reaction / Event as Reported by the Primary Source in Native Language #8 -—>
{!-- E.i.1.1b: Reaction / Event as Reported by the Primary Source Lariguage #8 —>



</value>
¢location typeCode="LOC">
¢locatedEntity- classCode="LOCE">
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.i.9” codeSystem="1.0. 3166.1.2.2°/>
1-- E.i.9: Identification of the Country Where' the Reaction / Event Occurred #8 ——>
{/locatedPlace>
<{/locatedEntity>
{/location>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1.1. 19" codeSystemVersion="1,1"

displayNeme="reactionForTranslation”/>

<value xsi:type="ED"JE.1i. 1. 2¢/value>
{1— E.i.1.2: Reaction / Event  as Reported by the Primary Source for Translation #8 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code=737" codeSystem=”2.16.840.1.113883.3.989.2.1.1f19”'codeSystemVersion=”1.I”

displayName="termHighlightedByReporter”/>

codeSystemVersion="1.0"/>

¢yalue xsi:type="CE” code="E.i.3.1” codeS&stem="2.162840.1.113883.3.989.2.1.1.10”

<!—— E.i.3.1:Term Highlighted by the Reporter #8 -—>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
. <observation classCode="0BS” moodCode="EVN">
<code code="34" codeSystem="2. 16. 840. 1. 113883. 3.989.2.1.1.19" codeSystemVersion="1.1"

displayName="resultsInDeath”/>

displayName

{value xsi:type="BL”.value="true”/>
<]-- E.i.3.2a: Results in Death #8 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem=”2.16.849.1.113883.3.989.2.1.1.19” codeSystemVersion="1,1"

="isLifeThreatening”/>

<yalue xsi:type="BL” nullFlavor="NI"/>
¢{!-- E.i.3.2b: Life Threatening #8 ——>
<{/observation>
</outboundRelationship2>.
" ¢outboundRelationship2 typeCode="PERT">
¢observation classCode="0BS” moodCode="EVN"> E
{code code="33" codeSystem="2. 16. 840, 1.113883. 3. 989.2. 1. 1.19” cogeSyétemVersion=”1.1”

displayName=”requiresInpatientHospitalizatlon />

¢value xsi‘type="BL” value="true”/>
¢l-— E.i.3.2c: Caused / Prolonged Hospitalisation #8 —->
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode=" PERT >
{observation classCode="0BS” moodCode="EVN">
(code code="35" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersidn=”}.l”

displayName=”resultsInPerslstentOrSignificantDisability”/>

(value xsi:type="BL” nullFlavor="NI"/> .
{!-- E.i.3.2d: Disabling / Incapacitating #8 -—> h
{/observation>
</outboundRelationship2>
{outboundRelationship? typeCode="PERT">
<observation classCode— 0BS” moodCode="EVN">
<code code="12" codeSystem="2. 16. 840. 1, 113883, 3.989.2. 1.1, 19" codeSystemVersion="1.1"

displayName=”congenitalAnomalyBirthefect 75

<yalue xsi:type="BL” nullFlavor="NI1"/>
<F-EL&Z@Cmyﬂ%khmﬂy/ﬁﬁﬁDﬁwt%—ﬁ
{/observation> i
{/outboundRelationship2>
<{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="26" codeSystem="2. 16. 840. 1, 113883, 3.989.2.1.1.19” codeSystemVersion="1, 1"



displayName="otherMedicallyImportantCondition”/>
3 <{value xsi:type="BL” value="true”/>
{!-- E.i.3.2f: Other Medically Important Condition #8 —>
{/observation®
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN”">
{code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 197 codeSystenVersion="1.1"
displayName="outcome” />
\ <value xsi:type="CE” code="E.i.7” codeSystem="2, 16. 840. 1. 113883. 3.989. 2. 1.'1, 117
codeSystemVersion="1. 0"/>
<l~= E.i.7: Outcome of Reaction / Event at the Time of Last Observation #8 —
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="24" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
disp1ayName=”medicalConfirmationByHealthPfofessional”/>
<value xsi:type="BL” value="true”/>
<!— E.i.8: Medical Conflrmatlon by Healthcare Professional #8 —>
¢/observation>” .
</outboundRelationship2> i
{outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2: 1. 10" codeSystemVersian="1. 0"
displayName="3k%n - EE5n"/> _
<value xsi:type="CE” code="J2.14.i” codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1,8"
codeSystemVersion="1. 0" /> '
<l=- 00@]J2.14. 1 %0 - BEfn #8 —>
{/observation> 0
{/outboundRelationship2>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]"> )
{organizer classCode="CATEGORY” moodCode="EVN”>
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName=”testsAndProceduresRelevantToTheInVestigation”/)
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2. 16, 840 1. 113883. 6. 163" codeSystemVersion="F. r. 2, 2a">
{!— F.r.2.2a: MedDRA Version for Test Name #1 — '
<!-— F.r.2.2b: Test Name (MedDRA code) #1 —>
CoriginalText>F. r. 2. 1{/originalText)
<l=— F.1.2.1: Test Name (free text) #l ——> 2
</code>
<effectiveTime value="20090101"/>
<!== F.1.1: Test Date #1 —>
<value xsi:type="IVL_PQ">
<center value="10" unit="mg/d1°/>
{!-- F.r.3.2: Test Result (value / qualifier) #1 —>
{!=- Fir.3.3: Test Result (unit) #1 ——>
{/value>
{interpretationCode code="F.r.3.1" codeSystem="2. 16. 840. 1. 113883. 3. 989.2.1.1.12"
codeSystemVersion="1.0"/>
<{I-= F.1.3.1: Test Result (code) #1 ——>
{referenceRange typeCode="REFY”>
<observationRange classCode="0BS” moodCode="EVN.CRT”>
<value xsi:type="PQ” value="40" unit="mg/dl1”/>
<!=- F.r.4: Normal Low Value #1 —>
{interpretationCode code="L” codeSystem="2.16.840. 1. 113883. 5. 83“/>
{/observationRange>
{/referenceRange> - ~
{referenceRange typeCode="REFV”>
{observationRange classCode="0BS” moodCode="EVN. CRT”>
<value xsi:type="PQ” value="110" unit="mg/dl”/>
<!-- F.r.5: Normal High Value #1—>
{interpretationCode code="H" codeSystem="2. 16. 840. 1. 113883. 5. 83"/>
{/observationRange>
{/referenceRange>



{outboundRelationship2 typeCode="PERT"> 5
<observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2.16.840. 1. 113883. 3. 989. 2.1.1.19" codeSystemVersion="1. 1"
displayName="comment” />
<value xsi:type="ED”>F.r.6</value>
{!-- F.r.6: Comments (free text) #1 ——>
{/observation> '
{/outboundRelationship2>
“¢outboundRelationship2 typeCode="REFR”>
{observation classCode="O0B5” moodCode="EVN">
{code code="25" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1/1. 19" codeSystemVersion="1.1"
displayName="moreInformationAvailable”/>
<value xsiitype="BL” value="true”/>
<l--F.1.7: More Information Available #1 -—>
</observation>
</outboundRelationship2>
{/observation>
{/component> ,.
{component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
{code code="F.r. 2. 2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r.2.2a">
¢!-- F.1.2.2a: MedDRA Version for Test Name #2 ——> ’
¢l— F.r.2.2b: Test Name (MedDRA code) #2 —>
<briginalText>F.r.2.1</origina1Text>
{1-- F.r.2.1: Test Name (free text) #2 ——>
</code> .
<effectiveTime value="20090101"/>
<= F.r.1: Test Date #2 —>
<value xsi:type="IVL_PQ™>
<low nullFlavor="NINF"/>
. <high value="10" unit="mg/d1” inclusive="false”/>
{/value>
{!— F.r1.3.2: Test Result (value / qualifier) #2 —->
<l-— F.r.3.3: Test Result (unit) #2 —>
<l-— LT 10 mg/dl #2 —>
{/observation>
{/component>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163” codeSystemVersion="F.r.2.2a">
<l-- F.r.2.2a: MedDRA Version for Test Name #3 —>
¢}-- F.1.2.2b: Test Name (MedDRA code) #3 ——>
<originalText>F. r. 2. 1{/originalText>
(== F.1.2.1: Test Name (free-text) #3 ——>
{/code> '
{effectiveTime value="20090101"/>
<l-= F.r.1: Test Date #3'—>
<value xsi:type="IVL_PQ">
<low nullFlavor="NINF"/>
<high value="10" unit="mg/dl” inclusive="true”/>
</value> 5
¢{]— F.1.3.2: Test Result (value / qualifier) #3 —>
¢!— F.r.3.3: Test Result (unit) #3 —>
<!-- LE 10 mg/dl #3-—>
{/observation>
{/component>
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystenVersion="F. r. 2. 2a">
¢J— F.r1.2.2a% MedDRA Version for Test Name #4 ——>
¢I— F.r.2.2b: Test Name (MedDRA code) #4 -—>
{originalText)F. r. 2. 1{/originalText>
&l=— F.r.2.1: Test Name (free text) #4 -—>
{/code> .
<effectiveTime value="20090101"/>
<!— F.r.1: Test Date #4 —>
<value xsi:type="IVL_PQ"> .
(low value="10" unit="mg/dl” inclusive="false”/>
-<high nullFlavor="PINF’/>



{/value>
{!-- F.r.3.2: Test Result (value / qualifier) #4 --)
<{!-= F.r.3.3: Test Result (unit) #4 -->
{I-- GT 10 mg/dl #4 —>
{/observation>
{/component>
{commponent typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
{code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F. r. 2. 2a”>
<!-= F.r.2.2a: MedDRA Version for Test Name #5 —>
{}—= F.r.2.2b: Test Name (MedDRA code) #5 -->
<originalText>F.r. 2. 1</originalText>
«Kl~= F.r.2.1: Test Name (free text) #5 —>
{/code> )
<effectiveTime value="20090101"/>
<l=— F.r.1: Test Date #5 —>
{value xsi:type="IVL_PQ">
<low -value="10" unit="mg/d1” -inclusive="true”/>
<high nullFlavor="PINF"/>
{/value>
{!-- F.r.3.2: Test Result (value / qualifier) #5 ——>
<!— F.r.3.3: Test Result (unit) #5 —>
<!—GE 10 mg/dl #5 --> i
{/observation>
{/component?
{component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN”>
{code code="F.r.2.2b” codeSystem="2.16. 840. 1, 113883. 6. 163" codeSystemVersion="F.r.2.2a">
(== F.1.2.2a: MedDRA Version for Test Name #6 —>
J== F.1.2.2b: Test Name (MedDRA code) #6 ——>
{originalText>F.r. 2. 1{/originalText>
{!— F.r.2. 1 Test Name (free text) #6 ——>
<fcode>.
{effectiveTime value="20090101"/
{— P.r.1: Test Date #6 —> i
{value xsi:type="ED">F.r. 3. 4{/value>
¢!-- F.r.3.4: Result Unstructured Data (free text) #6 ——>
{/observation>
{/component?
{/organizer> =
{/subject0f2> '
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="4" codeSystem="2.16. 840. 1. 113883. 3. 989, 2. 1. 1 20" codeSystemVersien="1. 0"
dlsplayName— drugInformation”/>
<I-- 6.k Drug(s) Information (repeat as necessary) #1 ——>
<component typeCode="COMP”>
<substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5~e039-4a7a-9¢c30-67671b0efled” />
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT” determlnerCode— KIND”>
<code code="G.k.2.1.1b” codeSystem="TBD-MPID” codeSystemVer51on- G.k.2.1.1a" /"
{-="G.k.2.1.1a: MPID Version Date / Number #1 ——>
{!-= G.k.2.1. 1b: Medicinal Product Identifier (MPID) #1 —
<name>G. k. 2. 2¢/name> i
<{!-=G.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 ——>
<asManufacturedProduct classCode="MANU">
<subjectOf typeCode="SBI”>
<approval classCode="CNTRCT” moodCode— EVN">
<id extension="G.k.3.1” root="2. 16.840. 1. 113883. 3. 989, 2. 1. 3.4"/>
<l-- G.k.3.1: Authorisation / Application Number #l —)
<holder typeCode="HLD">
{role classCode="HLD">
{playing0rganization classCode="0RG* determinerCode="INSTANCE”>
<name>G. k. 3. 3¢/name>
<l-- G. k. 3.3: Name of Holder / Applicant #1 -->
</playingOrganization>
{/role>



</holder>
<author typeCode="AUT">
{territorialAuthority classCode="TERR">
(territory classCode="NAT” determinerCode="INSTANCE">
<¢ode code="G.k.3.2" codeSystem="1.0.3166.1.2.2"/>
<l-- G.k.3.2: Country of Authorisation / Application #1 ——>
{/territory>
</territorialAuthority>
</author>
{pertinentInformation typeCode="PERT">
¢policy classCode="POLICY” moodCode="EVN">
<code code="J2.5.k" codeSystem=”2.16.840.1.1L3883.3.989.5.1.3.2.1.4”
codeSystemVersion="1.0"/> ‘
<l 900]2.5.k: —RAERRZOY 2 EH%E #l —
</policy> ~
{/pertinentInformation>
{/approval>
{/subject0f> .
{subjectOf typeCode="SBJ">
{characteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3.989.5.1. 3. 2.1, 10"
codeSystemVersion="1.0" displayName=" i EFLEDRRES"/>
<value xsi:type="CE” code="J2.4.k” codeSysten="2. 16. 840. 1. 113883, 3.989.5.1.3. 2. 1. 8"
codeSystemVersion="1.0"/>
<1 0aJ2. 4.k: HEERLEORRKESS #1 —>
{/characteristic>
</subject0f>
¢/asManufacturedProduct>
<asSpecializedKind classCode="GEN">
{generalizedMaterialKind classCode="MAT" determinerCode="KIND">
{code>
<originalText>J2. 12{/originalText>
d— gej2.12: IRBRERAERS —
{/code>
</generalizedMaterialKind>
{/asSpecializedKind>
<ingredient ‘classCode="ACTI">
{quantity>
<numerator value="10" unit="G.k.Z2.3.r.3b"/>
{)— G.k.2.3.7.3a: Strength (number) #1-1 —>
© (1= G.k.2.3.7r.3b: Strength (unit) #1-1 -
{denominator value="1"/>
</quantity>
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”
codeSystemVersion="G. k. 2. 3. 1. 2a"/>
<!-- G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number #1-1

-—>
<!— G.k.2.3.r.2b: Substance / Specified Substance TermID #1-1 —>
<name>G. k. 2. 3. r. 1{/name>
<1—- G.k.2.3.1.1: Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance>
<{/ingredient>
{ingredient classCode="ACTI">
{quantity>
{numerator value="10" unit="G.k.2.3.r.3b"/>
¢|-- G.k.2.3.r. 3a: Strength (number) #1-2 —>
¢!—- G.k. 2.3.1.3b: Strength (unit) #1-2 —>
<denominator value="1"/>
{/quantity>
(ingredientSubstance classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.3.1.2b" codeSystem="TBD-Substance”
codeSystemVersion="G.k. 2. 3. 1. 2a"/>
<J—= 6.k 2.3.1. 22 Substance / Specified Substance TermID Version Date / Number #1-2
-

<l-- G.k.2.3.1.2b: Substance / Specified Substance TermID #1-2 —>

<name>G. k. 2. 3. r. 1{/name>

<l-= G.k.2.3.r.'1: Substance / Specified Substance Name #1-2 —>
{/ingredientSubstance>



{/ingredient>
</kind0fProduct>
<subject0f typeCode="SB]”>
<productEvent classCode="ACT” moodCode="EVN">
{code code="1" codeSystew="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18” codeSystenVersion="1. 0"
displayName="retailSupply”/>
‘ {performer typeCode="PRE"»> 3
<assignedEntity classCode="ASSIGNED”>
<represented0rganlzat10n classCode="0RG” determinerCode="INSTANCE">
<addr>
- {country>G. k. 2. 4¢/country>
{I— G.k.2.4: Identification of the Country Where the Drug Was Obtained #1 —>
{/addr>
{/representedOrganization)
{/assignedEntity>
{/performer>
</productEvent>
</subjectOf>
<subjectOf typeCode="SB]">
{observationEvent classCode="0BS” moodCode="EVN"> ‘
<code code="2" codeSystem="2.16.840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10"
codeSystemVers1on— 1.0” displayName="—#3 FR S DA FREK" />
<value xsi:type="CE” code="]2.6.k" codeSystem="2. 16.840.1, 113883, 3.989.5.1.3.2.1.5"
codeSystemVersion="1.0"/>
' <I— 80e72.6. k: —RAERKDATFRE #1 —>
{/observationEvent>
<{/subjectOf>
{/instanceOfKind>
{/consumable>
{outboundRelationshipl typeCode="SAS”>
<pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
{h— G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #1 ——>
<'—— G.k.9.1.3.1b: Time Interval between Beglnnlng of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #1 —> :
<actReference classCode="0BS” moodCode="EVN">
{id root="154ebB89-958b-45F2-a02f-42d4d6F4657F" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
<!-—'G.k.9.1.3.2a! Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #1 --> -
<{!-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, React1on #1 -—>
{actReference classCode="0BS” moodCode="EVN">
{id root="154eb889-958b- 45f2—a02f 42d4d6£4657F" />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k?9.1i.3.1b"/>
{!-- G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #2 —>
== 6.%.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #2 ——>
- <actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8~4ebc-93e9-5b860b314220" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
d— G.k.9.1.3.2a Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #2 —>
o &!— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #2 —>
<actReference classCode="0BS" moodCode="EVN">
" <id root="2baa28d6-c9e8~4e6c—93e3-5h860b314220” />
</actReference>
</outboundRelationshipl>



{outboundRelationshipl typeCode="SAS">
<pauseQuantity value=" 10 unit="G.k.9.1i.3.1b"/>
{!—- 6.k 9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #I, Reaction #3 ——
{!— 6.%.9.1.3.1b: Time Interval betweqn Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #3 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="3a8626c¢b-9f1b— —4ea8-8a0f-e0f£34430adf” />
{/actReference>
</outboundRelationshipl> )
{outboundRelationshipl typeCode="SAE">
<pauseQuant1ty balue— 107 unit="G. k. 9.1.3.2b"/>

(number) Drug #1, Reaction #3 -—)
<!—— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #3 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="3a8626¢cb-9f1b~4ea8-8a0f-e0ff34430adf” />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value—”lU” unit—”G.k.B.i.B.lb”/)

Reaction / Event (number) Drug #1, Reaction #4 = &
<l-—— G.k.9.1i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #4 ——>
{actReference classCode="0BS” moodCode="EVN">
{id root="2e99840f-08b4-499c-80ff-dd8415f4f8a5" />
{/actReference> .
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value= 710" unit="G.k.9.1.3.2b"/>
<l-- G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #4 —>
<l-- 6.k 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit)- Drug #1, Reaction #4 —=>
{actReference classCode="0BS” moodCode="EVN">
{id root="2299840f-08b4-499c-80ff-dd8415f4£8a5" />
</actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
'<pauseQuant1ty value— 10" unit= G.k.9.1.3.1b”/>

Reaction / Event (number) Drug #1, Reaction #5 -—> 1
!-- 6.%.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #5' -—>
{actReference classCode="0BS” moodCode— EVN">
<id root="1071064c—cf10-4a3b-83c1-34f9ddb7eabd” />
{/actReference> '
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l—— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and-Start of Reaction / Event
(number) Drug #1, Reaction #5 ——>

(unit) Drug #1, Reaction #5 ——)
<actReference classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f9ddb7eabd” />
</actReference>
{/outboundRelationshipl>
.<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
{1—- 6.k.9.i.3.1a: Time Interval between Beginning 'of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #6 ——>

Reaction / Event (unit) Drug #1, Reaction #6 -
<actReference classCode="0BS” moodCode="EVN">
<id roof=’1f927283—10b§-4334—9d43-e925640fb18f”/>
{/actReference>



{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
<l-= 6.k.9. 1. 3. 2a: Tlme Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #6 ——> .
<{!-- G.k.9.i.3.2b! Time Interval between Last Dose of Drug -and Start of Reaction / Event
(unit) Drug #1, Reactlon #% —>
{actReference classCode="0BS”. moodCode="EVN">
{id root="1f927283-10h6-4334-9d43-e925640fb18£" />
</actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
<J== G.k. 9. 1.3 la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #7 —>
<]—— G.k.9.i.3.1b: Time Interval between Beglnnlng of Drug Administration and Start of
Reaction /'Event (unit) Drug #1, Reaction #7 ——>
{actReference classCode="0BS? moodCode="EVN">
<id root="e0342969-38be—423f-b6bb-cel4bc279d8e” />
</actReference> J
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k. 0. 1i.3.2b"/>
<l=- 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #7 —>
<I~- 6.k 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit)  Drug #1, Reaction #7 —> ,
<actReference classCode="0BS” moodCode="EVN”>
<id root="e0342969-38be-423f-b6bb—cel4bc279d8e” />
{/actReference>
{/outboundRelationshipl>
<outboundRelatiohshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢!--6.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #8 ——>
. {I-- 6.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #8.—> -
’ <actReference classCode="0BS” moodCode="EVN">
<id root="albbe092- 8070—426d—af04—686326344380 />
{/actReference>
</outboundRelationshipl>
<outboundRelat10nsh1p1 typeCode="SAE” )
{pauseQuantity value="10" unit="G.k.9.1.3.2b"/>
<I-- G.k.9.i.§.2a} Time Intetval between Last Dose of Drug and Start of Reaction:/ Event
(number) Drug #1, Reaction #8 ——>
I-- G6.k.9.i.3.2b: Tlme Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #8 —=> -
CactReference classCode="0BS” moodCode="EVN">
<id root="al5be092-8070-426d-af04-68632634430" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationship2 typeCode="PERT”> )
{observation classCode="0BS” moodCode="EVN”>
<code code="6" codeSystem="2.16.840. 1. 113883. 3.989.2.1. 1. 19” codeSystemVersion="1.1"
displayName="blinded” /> :
<value xsi:type="BL” value="true”/>
<I~- G.k.2.5: Investigational Product Blinded #1 —>
{/observationy
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
<!-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #l-1 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
<{text>G. k. 4.r. 8<{/text>
<I-= 6 .k.4.r.8: Dosage Text #1-1 ——>
<effect1veT1me xsi:type= SXPR_TS >
<comp xsi:type="PIVL_TS">.
<period value="10" unit="G.k. 4.1, 3%/5
<= G.k.4.r.2: Number of Units in the Interval #1-1 —>
<!-= G.k.4.r.3: Definition of the Time Interval Unit #1-1 —>



{/comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
¢l—— G.k.4.1.4: Date and Time of Start of Drug #1-1 ——>
<high value="20090101"/>
<!—— G.k. 4.r.5: Date and Time of Last Admlnlstratlon #1-1 —>
<{/comp? -
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
{!-- G.k.4.r.6a: Duration of Drug Administration (number) #1-1 -
<1-- G.k.4.1.6b: Duration of Drug Administration (unit) #1-1 ——>
</comp>
{/effectiveTime>
(routeCode code="G.k. 4. r.10.2b” codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 147
codeSystemVersion="G. k. 4. r.10. 2a”>
- G. k.4.r. 10 2a: Route of Administration TermID Version Date / Number #1-1 —>
<!-— G.k. 4.r.10.2b: Route of Administration TermID #1-1 -—>
{originalText>G. k. 4. r. 10, I</originalText>
¢l-— G.k. 4.r.10.1: Route of Administration (free text) #1-1 -=>
{/routeCode>’
<doseQuantity value="10" un1t— “G. k. 4.r. 1b"/>
{]— G.k.4.r.la Dose (number) #1-1 —>
!-- G.k.4.r.1b: Dose (unit) #1-1 —>
{consumable typeCode="CSM">-
<instanceOfKind cldssCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<1lotNumberText>G. k. 4. r. 7</1lotNumberText>
-~ G.k.4.1.7: Batch / Lot Number #1-1 -=>
g </productInstanceInstance)
<kindOfProduct classCode="MMAT” determinerCode="KIND">
(formCode code= “G. k. 4. 1. 9. 2b” codeSystem="TBD-DoseForm”

codeSystemVersion="G.k.4.r.9.2a">

<!-— G.k.4.r.9.2b Pharmaceutlcal Dose Form TermID #1-1 —>
<originalText>G. k. 4. 1. 9. 1</originalText>
¢l—- G.k.4.7.9.1: Pharmaceutical Dose Form (free text) #1-1 -=>
{/formCode>
</kind0fProduct>
{/instance0fKind>
</consumable>
¢inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSysteh=”2.16.840.1.113883.3.989.2.1.1,19” codeSystemVersion="1. 1"
disp1ayName=”parentRouteOfAdministration”/)
<value xsi:type="CE” code="G.k.4.r.1l.2b" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14"

codeSystemVersion="G. k. 4. r. 11. 2a">
¢{l— G.k.4.1.11.2a: Parent Rotite of Administration TermID Version Date / Number #1-1
-—>
¢!—- G.k.4.r.11.2b: Parent Route of Administration TermID #1-1 ——>
<or1g1na1Text>G k. 4.r. 11, 1</original Text>
¢l-- G.k.4.1.11.1: Parent Route of Administration (free text) #1-1 —>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration> .
</outboundRelationship2>
<outboundRelationshipZ typeCode="COMP">
<{!1-- G.k 4. 1: Dosage and Relevant Information (repeat as necessary) #1-2 —>
<substanceAdm1nlstrat1on classCode="SBADM” moodCode="EVN">
(textdG. k. 4. 1. 8<¢/textd
{}-+ G.k.4.r.8: Dosage Text #1-2 —>
LeffectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS">
{period value="10" unit="G.k.4.r.3"/>
<l—— G.k.4.7.2: Number of Units in the Interval #1-2 —>
¢<!— G.Kk.4.r.3: Definition of the Time Interval Unit #1-2 —=>
{/comp>
<comp xsi:type="IVL_TS” operator- A"
<low value="20090101"/>



{]— G.k.4.r.4: Date and Time of Start of Drug #1-2 =->
<high value="20090101"/>
<!— G.k.4.r.5: Date and Time of Last Administration #1-2 ——>
</comp> -
{/effectiveTime> ‘ .
{routeCode code="G.k.4.r.10.2b”" codeSystem="2. 16.'840. 1. 113883. 3. 989. 2. 1. 1. 14"
.codeSystemVersion="G. k. 4. r..10. 2a”">
' <!-- G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #1-2 —>
<=~ G.k. 4.r.10.2b: Route of Administration TerwID #1-2 ——>
{originalText>G. k. 4. 1. 10. 1{/originalText>
<)== G.k.4.r.10.1: Route of Administration (free text) #1-2. -->
{/routeCode> i
{doseQuantity value="10" unit="G. k.4.r.1b”/>
<l-- G.k.4.r.1la Dose (number) #1-2 -->
<{!-- G.k.4.r.1b: Dose (unit) #1-2 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<!-- G.k.4.1.7: Batch / Lot Number #1-2 -->
{/productInstancelnstance) .
<kindOfProduct classCode="MMAT” determinerCode="KIND”>

{formCode code="G,k.4,r.9.2b” codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.7.9. 2a"> ‘
<!-- G.k.4.r. 9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 —->
<!-- G.k.4.1.9. 2b: Pharmaceutical Dose Form TermID #1-2 —->
originalText>G. k. 4.1.9. 1{/originalText>
4=~ G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-2 —>
</formCode>
</kindOfProduct>
{/instance0fKind>
{/consumable>

<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883, 3.989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="parentRoute0fAdministration”/>
<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2.16. 840. 1. 113883. 3. 989.2.1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a">
<l— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1-2
_-) -
<{!— G.k-4.r.11.2b: Parent Route of Administration TermID #1-2 —>
<originalText>G. k. 4. r. 11. 1<{/original Text>
{!— G. k.4.1.11.1: Parent Route of Administration (free text) #1-2 —>
{/value>
</observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2’ typeCode="COMP”>:
<!-- G.k.4.r: Dosage and Relavant Information (repeat as necessary) #1-3 <>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8{/text>
{!— G.k.4.r.8: Dosage Text #1-3 ——>
{effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="PIVL_TS™>
{period value="10" unit="G.K.4.r.3"/>
{!— G.k.4.r.2: Number of Units in the Interval #1-3 —-> )
{I-—- G.k.4.1.3: Definition of the Time Interval Unit #1-3 -->
</comp> _
{comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
{1== G.k. 4.r. 4: Date and Time of Start of Drug #1-3 -—>
<width value="4" unit="G.k. 4.r.6b"/> '
{!— G.k.4.r.6a: Duration of Drug Administration (number) #1-3 —>
<{!— G.k. 4.r.6b: Duration of Drug Administration (unit) #1-3 ——>
</comp?
{/effectiveTimed
<routeCode code="G.k. 4. r.10.2b” codeSystem="2. 16.-840. 1. 113883, 3.989. 2. 1. 1. 14" d
codeSystemVersion="G. k. 4. r. 10. 2a”> 5



¢l-- G.k.4.1.10.2a: Route of Administration TermID Version Date /.Number #1-3 ——>
¢|—— G.k. 4.1.10.2b: Route. of Administration TermID #1-3 -—>
{originalText>G. k. 4. r. 10. 1{/originalText>
¢{!-- G. k4. 1.10.1: Route of Administration (free text) #1-3 -
{/routeCode> .
¢doseQuantity value="10" unit="G.k.4.r.1b"/>
<!-- G.k.4.r.1la Dose (number) #1-3 —>
¢1-- G.k.4.r.1b: Dose (unit) #1-3 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<productInstanceInstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<!-- G.k.4.r.7: Batch / Lot Number #1-3 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G.k. 4.r.9.2b” codeSystem="TBD-DoseForm”

codeSystemVersion="G. k. 4.r. 9. 2a">

<l— G.k. 4.r. 9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3 —>
<l~- G.k.4.7.9. 2b: Pharmaceutical Dose Form TermID #1-3 —>
<originalText>G. k. 4. r. 9. 1{/originalText>
¢<!— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-3 —>
{/formCode>
<£/kind0fProduct>
{/instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840.1.113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"

displayName="parentRouteOfAdministration”/>

<value xsi:type= “CE” code="G. k. 4. .11 2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14"

codeSystemVersion="G. k. 4.r. 11. 2a™>

—>

codeSystemVersion="G. k. 4.1, 10.23">

<!— G.k 4.1.11.2a: Parent Route of Administration TermID Version Date / Number #1-3

<!-- G.k.4.r.11,2b: Parent Route of Administration TermID #1-3 —>
{originalText>G. k. 4. r. 11. 1<{/originalText>
<!-- G.k.4.r.11.1: Parent Route of Administration (free text) #1-3 ——>
<{/value>
{/observation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
¢l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #174 -
{substanceAdministration classCode="SBADM” moodCode="EVN"> 3
<{text>G. k. 4. r. B</text>
¢!-- G.k.4.r.8: Dosage Text #1-4 ——> 2
CeffectiveTime xsi:type="SXPR_TS”>
{comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.r.3"/>
¢l— G.k.4.r.2: Number of Units in the Interval #1-4 ——
{!-— G.k.4.1. 3! Definition of the Time Interval Unit #1-4 —>
{/comp>
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k. 4.r1.6b"/>
¢l— G.k.4.r.6a: Duration of Drug Administration (number) #1-4 -—>
{l-— G.k. 4.1.6b: Duration of Drug Administration (unit) #1-4 —>
<high value="20090101"/>
¢l-— G.k.4.r.5: Date and Time of Last Adm1n1strat10n #1-4 —>
{/comp>
{/effectiveTime>
<routeCode code="G.k.4.r.10.2b" cheSystem=’2.16.84Q.1.113883.3.989.2.1.1.14”

¢!-— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-4 -->
{!-= G.k.4.r.10.2b: Route.of Administration TermID #1-4 ——>.
CoriginalText>G. k. 4. r. 10. 1<{/originalText>
<!-= G,k.4.1.10.1: Route of Administration (free text) #1-4 ——>

{/routeCode>

<doseQuantity value="10" unit="G.k. 4.r. 1b"/>

<l-— G.k.4.r.1la Dose (number) #1-4 —>



K— G.k.4.1.1b: Dose (unit) #1-4 ——>
<consumable typeCode="CSM”>
LinstanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{!— G.k.4.1.7: Batch / Lot Number #1-4 —->
</productInstanceInstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G. k. 4.r.9.2b" codeSysten="TBD-DoseForm”
codeSystemVersion="G. k. 4.r.9.2a"> _
¢1-= G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-4 —)>
<!— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-4 —->
<originalText>G. k. 4. 1. 9. 1</originalText>
<{!— G.k.4.r.9. 1: Pharmaceutical Dose Form (free text) #1-4 —>
{/formCode>
</kind0fProduct>
{/instance0fKind>
</consumable) -
{ihboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration”/>
<yalue xsi!type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystenVersion="G. k. 4. r. 11. 2a”>
: <l— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-4
-
<I— G.k.4.1:11.2b: Parent Route of Administration TermID #1-4 —>
originalText>G. k. 4. r. 11. 1{/originalText> .
<l== G.k.4.r.11.1: Parent Route of Administration (free text) #1-4 —>
<{/value> ‘
{/observation>
</inboundRelatiohship>
{/substanceAdministration>
{/outboundRelationship2) -
<outhoundRelationship2 typeCode="COMP”>
<l-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-5 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. 1. 8</text> _
{I-- G.k.4.r.8: Dosage Text #1-5 —>
{effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="IVL_TS">
{low value="20090101"/>
<l— G.k.4.r.4: Date and Time of Start of Drug #1-5 —>
<high- value="20090101"/>
<}— 6.k 4.1.5: Date and Time of Last Administration #1-5 ——>
</comp>”
<comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k. 4.r.6b"/>
{l-= G.k 4.r.6a: Duration of Drug Administration (number) #1-5 —>
<l=— G.k. 4.r.8b: Duration of Drug Administration (unit) #1-5 —>
</comp> '
{/effectiveTime>
<routeCodé code="6.k. 4. r.10.2b” codeSystem="2.16.840.1. 113883 3.989. 2. 1. 1, 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
<l-- G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #1-5 —->
{1-— G.k. 4.1.10. 2b: Route of. Administration TermID. #1-6 ——>
<originalText>G. k. 4. r. 10. 1<{/originalText) ' )
<}=~ 6.k.4:r.10.1: Route of Administration (free text) #1-5.-->
{/routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<!—— G.k.4.r.1la Dose (number) #1-5 —->
{I-- 6.k.4.r.1b’ Dose (unit} #1-5 —>
<consumable typeCode="CSM”>
{instanceOfKind classCode="INST”>
<{productInstanceInstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
¢l-= G.k.4.r.7: Batch / Lot Number #1-5 —->.
</productInstancelnstance> '
<kindOfProduct classCode="MMAT” determinerCode="KIND">
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codeSystemVersion="G. k. 4.r.9.2a"> ;
<l-- G.k.4.7.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-5 ——>
¢l-- 6.k 4.1.9. 2b: Pharmaceutical Dose Form TermID #1-5 —>
<originalText>G. k. 4. r. 9. 1{/originalText>
<l-— G.k.4.7.9.1: Pharmaceutical Dose Form (free text) #1-5 —>
. </formCode>
¢/kindOfProduct>
{/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1, 19” codeSystemVersion="1.1"

displayName="parentRouteOfAdministration”/>
¢value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14”

codeSystemVersion="G. k. 4. r. 11. 2a”>
<|-= G.k. 4. r.11.2a: Parent Route of Administration TermID Version Date / Number #1-5

.

-
¢l— G.k.4.1.11.2b: Parent Route of Administration TermID #1-5 —>
{originalText>G.k. 4. r.11. 1</originalText>
<!-= G.k.4.1.11.1: Parent Route of Administration (free text) #1-5 —>

</value>
{/observation>
¢/inboundRelationship>
{/substanceAdministration> -

{/outboundRelationship2>

{outboundRelationship2 typeCode="COMP"> )

" <!— G.k. 4.r: Dosage and Relevant -Information (repeat as necessary) #1-6 —>

{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. B{/text>
<I-= G.k.4.1.8: Dosage Text #1-6 ——>
{effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="PIVL_TS">
{period value="10" unit="G.k. 4.r.3"/>
¢{l-- G.k.4.r.2: Number of Units-in the Interval #1-6 ——>
¢!— G.k.4.7.3: Definition of the Time Interval Unit #1-6 —>
</comp>
{comp xsi:type="IVL_TS” operator="A">
¢low value="20090101"/>
¢l-- G.k. 4.r.4: Date and Time of Start of Drug #1-6 —=>
<width value="4" unit="G.k.4.r.6b"/>
¢<J-- G.k. 4.1.6a: Duration of Drug Administration (number) #1-6 -->
<l—— G.k.4.r.6b: Duration of Drug Administration (unit) #1-6 ——>
{/comp>
<comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
{1-- G.k.4.1.5: Date and Time of Last Administration #1-6 ——>
{/comp>
{/effectiveTime> -
<routeCode code="G.k. 4.r.10.2b" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1, 14”
codeSystemVersion="G. k. 4. . 10. 2a”>
; ¢<l-—G.k. 4.7.10. 2a: Route of Administration TermID Version Date / Number #1-6 -->
<l-- G.k. 4.r.10. 2b: Route of Administration TernID #1-6 —>
<originalText>G,k.4.r.10.1</originalText>
<l-- G.k.4.r.10.1: Route of Administration (free text) #1-6 —>

{/routeCode>

{doseQuantity value="10" unit="G.k. 4.r.1b"/>

{I-- G.k.4.r.1la Dose (number) #1-1 —>

{!— G.k.4.r.1b: Dose {(unit) #1-1 —>

{consumable typeCode="CSM">

<instanceOfKind classCode="INST">
<{productInstanceInstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7¢/lotNumberText>
<!-- G.k.4.r.7: Batch / Lot Number #1-1 ——>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k. 4.r.9.2b” codeSystem="TBD-DoseForm”

codeSystemVersion="G. k. 4. r. 9. 2a"> /
<!— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-6 —>



<!~- 6.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-6 —>
<originalText>G. k. 4.1.9. 1</originalText>
<l~- G.k. 4.1.9.1: Pharmaceutical Dose Form (free text) #1-6 -—>
</formCode>
</kind0fProduct>
{/instarce0fKind>
{/consumable>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
{code code="28" ccdeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="parentRoute0fAdministration”/>
{value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2.16.840.1.113883. 3.989.2 1.1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a">
' <!~ 6.k. 4.1 11.2a: Parent Route of Administration TermID Version Date / Number #1-6
- .
{}— G.k.4.7.11.2b: Parent Route of Administration TermID #1-6 —>
{criginalText>G. k. 4. r. 11. 1</originalText>
<1— G.k.4.r.11.1: Parent Route of Administration (free text) #1-6 —>
</value> ' -
</observation>
</inboundRelationship) '
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”> R
{!-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-7 —>
{substanceAdministration. classCode="SBADM” moodCode="EVN">
{text>G.k. 4. r. 8{/text>
<= G k.4.r.8: Dosage Text H1-7 —> .
<effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="IVL_TS">
<low value="20090101"/> .
<{!=— G.k.4.r.4: Date and Time of Start of Drug #1-7 —>
{width value="4" unit="G.k.4.r.6b"/> .
<!— G.k.4.r.6a: Duration of Drug Administration (number) #1-7 —>
{l— G.k.4.r.6b: Duration of Drug Administration (unit) #1-7 -
</comp> .
{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/> -
{!— G.k.4.1.5: Date and Time of Last Administration #1-7 —->
{/comp>
{/effectiveTime>
<routeCode code="G.k. 4, r.10.2b" codeSystem="2. 16. 840. 1. 113883. 3,989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
<!~ G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-7 —->
<!=- G.k.4.r.10.2b: Route of Administration TermID #1-7 ——>
originalTexti>G. k. 4.r. 10. 1{/originalText>
<{l-- G.k.4.1.10. 1: Route of Administration (free text) #1-7 -—>
{/routeCode> .
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
{!~= G.k.4.r. 1a Dose (number) #1-7 -->
{!-- G.k.4.r.1b: Dose (unit) #1-7.—>
{consumable typeCode="CSM”>
{instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</1otNumberText>
{!— G.k.4.r.7: Batch / Lot Number #1-7 —>
{/productInstanceInstance®
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{fornCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”

.

codeSystemVersion="G. k. 4.r. 9. 2a™>
<I-= G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version.Date / Number #1-7 —>
<I-= G.k.4.1.9. 2b: Pharnaceutical Dose Form TermID §1-7 —>
{originalText>G. k. 4.r. 9. 1</originalText>
<l-- G.k.4:1.9.1: Pharmaceutical Dose Form (free text) #1-7 —>
</formCode> '
</kind0fProduct>
</instanceOfKind>
<{/consumable>
<{inboundRelationship typeCode="REFR">



(observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16, 840. 1. 113883. 3.989.2.1.1.19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration "/
{value xsi:type="CE” code="G.k.4.r.1l 2b” codeSystem— 2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14”
codeSystenVersion="G.k. 4. r. 11. 2a”>
¢1— G.k. 4.1.11.2a: Parent Route of Administration TermID Version Date / Number #1-7
e
<J—"G.k.4.r.11.2b: Parent Route of Administration TermID #1-7 —>
<originalText>G. k. 4. r. 11. 1</originalText>
¢l=- G.k.4 r.11.1: Parent Route of Administration (free text) #1-7 —>
{/value>
{/observation>
{/inboundRelationship> >
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode=" SUMM >
Cobservation classCode="0BS” moodCode="EVN">
{code code="14" codeSystem=”2.16.840.1.113883.3.989.2.1.1.19” codeSystemVersion="1..1"
displayName="cumulativeDoseToReaction />
<value xsi:type="PQ” value="10" unit="G.k.5b"/>
<l—- G.k.5a: Cumulative Dose to First Reaction (humber) #1 —>
¢l--"G.k.5b: Cumulative Dose to First Reaction (unit) #1 -->
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">-
<observation classCode="0BS” moodCode="EVN"> )
<code code="16" codeSystem="2.16.840, 1. 113883. 3. 989.2,1.1. 19" codeSystemVersion="1. 1"
displayName="gestationPeriod”/>
<value xsi:type="PQ” value="10" unit="G.k.6b"/>
<l-— G.k.6a: Gestation Period at Time of Exposure (number) #1 —>
<{l-—- G.k.6b: Gestation Period at Time of Exposure (unit) #1 =
{/observation>
</outboundRelationship2>
<outboundRe1at10nSh1p2 typeCode=" PERT” >
{observation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2.16.840. 1.113883.3.989.2.1.1.1%" codeSystemVersion="1.1"
displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.1i.4" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1, 1, 16”
codeSystemVersion="1.0"/> i
<l-— G.k.9.1.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #1'—>
<outboundRelationshipl typeCode="REFR”>
<actReference classCode="0BS” moodCode="EVN">
d root="154eb889-058b-45f2-a02f-42d4d6F4657£" />
{/actReferencé>
</outboundRelationshipl>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="OBS” moodCode="EVN">
{code code="31" codeSystem="2. 16.840. 1. 113883. 3. 989.2.1. 1, 19" codeSystemVersion="1. 1"
displayName="recurrance0fReaction s
] ¢value xsi:type="CE” code="G.k.9.1i. 4" codeSystem=”2.16.840.1.113883.3.989.2.1.1.16"
codeSystemVersion="1.0"/>
¢!—- G.k.9.1i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 —>
<outboundRelationshipl typeCode=”REFR”>
{actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4ebc-93e9-5b860b314220" />
{/actReference>
{/outboundRelationshipl>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR™> 1
<observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16, 840. 1. 113883 3,989.2.1.1.19” codeSystemVerslon= 1. 17
displayName="codedDrugInformation”/> _
<value xsi:type="CE” code="G.k. 10.1” codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 17°
codeSystemVersion="1.0"/>
¢!-- G.k.10.1: Additional Information on Drug (coded) (repeat as necessary) #1-1 ==
{/observation>



{/outboundRelationship2>
{outboundRelationship2. typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
{cede code="9" codeSystem="2. 16,840, 1, 113883. 3.989.2.1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
<value xsiitype="CE” code="G.k.10.r” codeSystem="2, 16.840. 1. 113883.3.989.2.1.1. 17"
codeSystemVersion="1.0"/>
<!<- G. k. 10.r: Additional Information on Drug (coded) (repeat as necessary) #1-2 —>
{/obsérvation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="REFR">
<observation classCode="0BS” moodCode="EVN”>
{code code="2" codeSystem=’2{16.840‘1.113883.3.989.2.1.1.19”*codeSystemVersion=”1.1”
displayName="additionalInformation”/>
<value xsi:type="ST7>G.k.11<{/value>
<l-- 6.k.11: Additional Information on Drug (free text) #1 —>
{/observation>
</outboundRelat10nsh1p2>
{inboundRelationship typeCode="" RSON >
" <observation classCode="0BS” moodCode="EVN">
{code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989.2.1.1.19” codeSystemVersion="1.1"
.displayName=”indication”/>
* <value xsi:type="CE” code="G. k T.r. 2b” codeSystem="2. 16. 840. 1. 113883. 6, 163
codeSystemVersion="G. k. 7. r. 2a"> ]
{l— G.k.7.r.2a: MedDRA Version for Indication #1-1 —>
<I-~ G.k:7.r.2b: Indication (MedDRA code) #1-1 —>
<drigina1Text?G.k.7.r.1</originalText>
{1— G.k.7.r.1: Indication as Reported by the Primary Source‘#l—l —>
</value>
<performer typeCode="PRF">
{assignedEritity classCode="ASSIGNED">
{code code=”3”-cddeSystem='2.16.840.1.113883.3.989.2.l.1.21”vcodeSystemVersion=”1.0”
displayName="sourceReporter”/>
{/assignedEntity>
{/performer>
</observation®
{/inboundRelationship>
{inboundRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
{code. codé="19" codeSystem="2. 16. 840, 1. 113883.3,989.2.1. 1. 19” codeSystemVersion="1.1"
displayName="indication”/> ; ] ‘
<value xsi:type="CE” code="G.k.7.r.2b" codeSystem="2.16.840. 1. 113883. 6. 163"
codeSystemVersion="G. k. 7. r. 2a">
¢l~~ G.k.7.1.2a: MedDRA Version for Indication #1-2 —>
{d— G.k.7.1.2b: Indication (MedDRA code) #1-2 —>
<originalText>G. k. 7. r. 1{/original Text>
{I-—— G.k.7.r.1: Indication as Reported by the Primary Source #1 2 —>
</value>
{performer typeCode="PRE”>.
' <assignedEntity classCode="ASSIGNED”>
{code code="3" codeSystem="2.16.840. 1. 113883, 3.989. 2. 1. 1. 21" codeSystemVersion="1. 0"
displayName="sourceReporter” />
</assignedEntity>
</performer>
{/observation>
{/inboundRelationship>
<inboundRelationship typeCode="CAUS*>
<act classCode="ACT” moodCode="EVN"> 2
_<code code="G.k.8" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 15" codeSystemVersion="1.0"/>
<l-- G.k.8: Action(s) Taken with Drug #1 —>
{/act>
{/inboundRelationship>
{/substanceAdministration>
{/component>
<!-- G.k Drug(s) Information (repeat as necessary) H2 ——>
{component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN">
<id Yoot="68d6f5ce-3b3b—45c7-92dd-69e06730c329” />
{consumable typeCode="CSM">



{instanceOfKind classCode="INST">
<kind0fProduct classCode="MMAT” determinerCode="KIND">
{code code="G.k.2. 1.2h" codeSystem="TBD-PhPID” codeSystemVersion="G.k.2.1.2a"/>
<l-~ G.k.2.1.2a: PhPID Version Date / Number #2 -——>
<I-- G.%. 2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 -
<name>G. k. 2. 2<{/name>
§!-— G.k.2.2: Medicinal Product Name as Reported by the Primary Source #2 -—>
{asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SBJ">
<approval classCode="CNTRCT” moodCode="EVN">
¢id extension="G.k. 3.1” root="2.16.840. 1.113883.3.989.2.1.3.4"/>
{!--=G.k.3.1: Authorisation / Application Number #2 ——>
¢holder typeCode="HLD”>
(role classCode="HLD">
<playingOrganization classCode="0RG” determinerCode="INSTANCE">
<name>G. k. 3. 3</name>
<|=- G.k.3.3: Name of Holder / Applicant #2 ——>
{/playing0rganization>
{/role>
{/holder>
<author typeCode="AUT">
<{territorialAuthority classCode="TERR">
<territory classCode="NAT”" determinerCode="INSTANCE">
<code code="G.k. 3.2” codeSystem="1.0.3166.1.2.2"/>
<1-- G.k. 3.2: Country of Authorisation / Application #2 ——>
{/territory>
{/territorialAuthority>
{/author>
<{pértinentInformation typeCode="PERT">
<policy classCode="POLICY” moodCode="EVN">
{code code="J2.5.k” codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 4"
codeSystemVersion="1.0"/>
<l— 008]2.5. k. —fEAEESSEDY X RESE #2 —
{/policy>
{/pertinentInformation>
{/approval>
<{/subject0f> -
{subjectOf typeCode="SBJ">
{characteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989.5. 1. 3.2.1. 10"
codeSystemVersion="1. 0" displayName="$fEHKDEDRRES"/> :
{value xsi:type="CE” code="J2.4.k” codeSystem="2. 16. 840. 1. 113883, 3.989.5. 1. 3. 2. 1. 3"
codeSystemVersion="1.0"/>
<1— @eeJ2.4.k: FEEMEORRES #2 —
{/characteristic>
<{/subject0f>
{/asManufacturedProduct>
<ingredient classCode="ACTI">
{quantity>
{numerator value="10" unit="G.k.2.3.r.3b"/>
{!— G.k.2.3.r.3a: Strength (number) #2-1 —>
<{!— G.k.2.3.r.3b: Strength (unit) #2-1 —>
{denominator value="1"/>

{/quantity> '
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
¢code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”

codeSystemVersion="G. k. 2. 3. 1. 2a” />
<!-— G.k.2.8.r.2a: Substance / Specified Substance TermID Version Date / Number #2-1
-
<!—— G.k. 2.3.r.2b Substance / Specified Substance TermID #2-1 ——>
<name>G. k. 2. 3. r. 1{/name>
! <!—— 6.k.2.3.1.1: Substance / Specified Substance Name #2-1 —>
{/ingredientSubstance>
{/ingredient>
<ingredient classCode="ACTI">
{quantity>
<numerator value="10" unit="G.k. 2.3.r.3b"/>
{1— G.k.2.3.r.3a! Strength (number) #2-2 —>
= G.k.2.3.1.3b: Strength (unit) #2-2 —>



{denominator value="1"/>
{/quantity>
-{ingredientSubstance classCode- MMAT” determinerCode="KIND">
<code code="G.k.2.3.r.2b” codeSystem— TBD —-Substance”
codeSystemVersion="G.k.2.3.r. 2a"/>
' <l G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date/Number #2-2 —
>
¢<]— G.k.2.3.r.2b Substance / Specified Substance TermID #2-2 —5
<{name>G. k. 2. 3. r. 1{/name>
1= G.k. 2.3:r.1: Substance / Specified Substance Name #2-2 —>
{/ingredientSubstance>
<{/ingredient>
</kindOfProduct>
{subjectOf typeCode="SB]">
<{productEvent classCode="ACT” moodCode="EVN">
<code, code="1" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1..1. 18" codeSystemVersion="1, 0"
displayName="retailSupply”/>
{performer typeCode="PRF">
{assignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="0RG" determinerCode="INSTANCE”>
<addr>
{country>G. k. 2. 4{/country>
{!— G.k.2.4: Identification of the Country Where the Drug Was Obtained #2' —>
{/addr>
{/representedOrganization>
<{/assignedEntity>
{/performer>. .
{/productEvent>
</subject0f>
<subjectOf typeCode="SB]”>
{observationEvent classCode="0BS” moodCode=" EVN "y
{code code="2" codeSystem="2. 16. 840. 1. 113883.3,989. 5. 1. 3. 2. 1. 10"
codeSystemVersion="1.0" displayName=*—frFEX 5D AFERK />
<value xsi:type="CE” code="J2.6.k” codeSystem="2.16.840. 1, 113883.3:989.5.1.3.2.1.5”
codeSystemVersion="1.0"/>
<— @00J2.6.k: —XAEEKDOAFRE #2 —
{/observationEvent>
{/subjectOf>
{/instance0fKind>
{/consumable>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k. 9. i.3.1b"/>
¢l 6.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start.of
Reaction / Event (number) Drug #2, Reaction #1—> .
{l-—— G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #1 —>
<actReference classCode="0BS” -moodCode="EVN">
{id root="154eb889-958h-45f2-a02f-42d4d6£4657" />
" {/actReference> :
</outboundRelat10nsh1p1)
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="6.k. 9.1i.3.2b"/> _
{i— 6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #1 ——>
(- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2 Reaction #1 —>
<actReference classCode="0BS” moodCode="EVN">
<id root=" 154eb889—958b—45‘2—a02f—42d4d6f4657"/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
' <pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢!~- 6.%k.9.1.3.1a’ Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #2 —> )
‘ <{l-- 6. k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #2 -->
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c—-93e9-5b860b3142207 />
{/actReference>



</outboundRelationshipl?>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.i.3.2b7/>
¢!— 6.k 9.i.3.2a’ Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #2 ——> ]
¢l-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #2 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220" />
{/actRefetrence>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<{pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
1= G.k.9.i.3.1a: Time Interval between. Beglnnlng of Drug Administration and Start  of
Reactlon / Event (number) Drug #2, Reaction #3 -—>
— 6.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #3 ——>
CactReference classCode="0BS” moodCode="EVN">
<id root="3a8626cb—9f 1b-4ea8-8a0f-e0f£34430adf” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl: typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
<l-- 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #3 —>
<!-- G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #3 ——>
<actReference classCode="0BS” moodCode="EVN">
<id root="3a8626ch~0f 1b—4ca8-8a0f-e0ff34430adf” />
{/actReference>
{/outboundRelationshipl> -
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/> ‘
<l-- 6.k 9 i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #4 —>
{l-——6.% 9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #4 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f—-08b4-499c—-80ff-dd8415f4{8a5" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k. 9.i.3.2b"/>
- 6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #4 —>
¢{l— G.k.9.1i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
. (unit) Drug #2, Reaction #4 ——>
<actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4~499c-80ff-dd8415f4f8a5" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit= G.k.9.1.3.1b”/>
<l— G.k.9.i.3.1a: Time Interval between Beginning of Drug Admlnlstratlon and Start of
Reaction / Event (number) Drug #2, Reactlon #5 ——)

Reaction / Event (unit) Drug #2 Reaction #5 -—> A
{actReference classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f9ddb7eabd” />
: {/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
<pauseQuant1ty value— 10” wnit="G. k. 9.1.3.2b"/>

(number) Drug #2, Reaction #5 -=>
<J— G.k.9.1i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #5 ——>
<actReference classCode="0BS” moodCode="EVN">
<id root="1071064c—cf10-4a3b-83c1-34f9ddbTeabd” />



</actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
<{l—- G.k.9.i.3.la: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Remction #6 —>
- G.k.9.1.3.1b Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #6 —-> .
<actRefererice classCode="0BS" moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e925640fb18£" />
{/actReference>
¢/outboundRelationshipl> 5
{outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k.9.i.3.2b"/> .
<!— 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #6 —>
{!— G.k.9:i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #6 ——>
<actReference classCode="0BS” moodCode="EVN">
<id r60t='1f927283-10b6—4334f9d43-e925640fb18f”/)
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
_<pauseQuantity value="10" unit="G.k.9.1i.3.1b"/> _
<l-- 6.k.9.i.3.1a: Time Interval between Beginning -of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #7 ——>
' <l-= G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #7 —>
{actReference classCode="0BS” moodCode="EVN">
<{id root="¢0342969- 38be-423f-bbbb—cel4bc279d8e” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k.9.1i.3.2b%/>
<!-- 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #7 -->
<!—-YG.k.9.i.3.2bi Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #7 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="¢0342969- 38be-423f—b6bb-cel4bc279d8e />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
<!— G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #8 —>
{!— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #8 —>
LactReference classCode— 0BS” moodCode="EVN” >
<id root="a15be092-8070~426d-af04-6863263443e0” />
</actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<!-- 6:k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event:
(number) Drug #2, Reaction #8 —>
<! 6.k 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2,- Reaction #8 —->
{actReference classCode="0BS” moodCode="EVN">
<id root="al5be092-8070-426d-af04-6863263443e07 />
{/actReference>
</outboundRelat10nsh1p1>
<outboundRelationship2 typeCode="PERT">
{observation 61assCode=fOBS' moodCode="EVN">
<code code="6" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. I, 1. 19” codeSystemVersion="1, 1”
displayName="blinded”/>
<value xsi:type="BL” value="true”/>
<!-- G.k.2.5: Investigational Product Blinded #2 —>
{/observation>



<{/outboundRelationship2>
CoutboundRelationship2 typeCode="COMP”>
¢l-- G.k. 4.1 : Dosage and Relevant Information (repeat as necessary) #2-1 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN™>
{textG, k. 4. 1. 8</text>
{!=- G.k.4. 1. 8: Dosage Text #2-1 —> -
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
"¢l—— G.k%. 4.7.4° Date and Time of Start of Drug #2-1 ——>
<high value="20090101"/>
¢(!-='6.k.4.1.5: Date and Time of Last Administration #2-1 -=>
{/effectiveTime> )
<routeCode code="G.k. 4. r.10.2b” codeSystem="2.16. 840, 1.113883.3.989.2. 1.1, 14"
codeSystenVersion="G. k. 4. r. 10. 2a">
<l—— G.k.4.¥ 10.2a: Route of Administration TermID Version Date / Number #2-1 ——>
<|-- G.k.4.r.10.2b: Route of Administration TermID #2-1 ——>
{originalText>G. k. 4.1, 10. 1{/originalText>
<!-- G.k. 4.r.10.1: Route of Administration (free text) #2-1 —>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4.r.1b"/>
¢!— G.k.4.r.1a Dose (pumber) #2-1 —>
<l-- G.k.4.r.1b: Dose (unit) #2-1 —>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<l=— G. k. 4.r.7: Batch / Lot Number #2-1 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.r. 9. 22">
<l-- G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-1 ——
¢!— G.%. 4.1.9. 2b: Pharmaceutical Dose Form TermID #2-1 —> '
{originalText>G. k. 4. 1. 9. 1{/originalText>
<)== G:k.4.1.9. 1: Pharmaceutical Dose Form (free text) #2-1 -—>
{/formCode>
</kindOfProduct>
{/instance0fKind>
¢/consumable>
¢inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code che=”28” codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration”/>
¢value xsi:type="CE” code="G.k.4.r.1L.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11, 2a">
¢l— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-1
-
<{!-- G.k.4.1.11.2b: Parent Route.of Administration TermID #2-1 —>
<originalTextdG. k. 4. r. 11. 1</originalText>
<l-- G.k’4.r.11.1: Parent Route of Administration (free text) #2-1 —=>
{/value>
{/observation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
<|-- G.k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-2 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text)G. k. 4. 1. 8</text>
(1= G.k.4.1.8: Dosage Text #2-2 —->
{effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
{!-— G.k.4.r. 4: Date and Time of Start of Drug #2-2 ——>
<width value="4".unit="G.k.4.r.6b"/>
¢!1—— G.k. 4.r.6a: Duration of Drug Administration (number) #2-2 —>
<!-—— G.k.4.r.6b: Duration of Drug Administration (unit) #2-2 —>
</effectiveTime>
<routeCode code="G. k. 4.1.10. 2b” codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r..10. 2a">



{1— G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #2-2 -—>
<{!— 6.k 4.1.10. 2b: Route 6f Administration TermID #2-2 —>
{originalText>G. k. 4. r. 10. 1</originalText>
. <{I— G.k.4.r.10. 1: Route of Administration (free text) #2-2 ——>
</routeCode>
{doseQuantity value="10" unit="6.k. 4. r. 1b"/>
<!-- G.k.4.r. la Dose {number) #2-2 ——>
<]— G.k.4.7. 1b: Dose (unit) #2-2 —>
{consumable typeCode="CSM">"
{instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<{l— 6.k.4.1.7: Batch / Lot Number #2-2 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a”> )
5C <!~ G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 —->
}-- G.k.4.r. 9. 2b: Pharmaceutical Dose Form TermID #2-2 —>
CoriginalText>G. k. 4.1.9. 1<{/originalText>
{1-- G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-2.—>
</formCode> .
¢/kindOfProduct>
<{/instance0OfKind>
</consumable) .
<{inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EWN">
<code code="28" codeSystem="2. 16. 840. 1. 113883.3.989: 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
{value xsi:type="CE” code="G.k. 4.T.11.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1..1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a”> }
<—"G.k.4.r. 11. 2a: Parent Route of Administration TermID Version Date /.Number #2-2'
__> "
{1= G.k.4.r.-11-2b: Parent-Route of -Administration TermID #2-2 —>
<originalText>G. k. 4. r. 11. 1</originalText>
<!— G.k.4.r.11.1: Parent Route of Administration (free text) #2-2 ——>
</value> ]
<{/observation>
</inboundRelationship>
{/substanceAdministration>
</outBoundRe1ationship2>
<outboundRelationship2 typeCode="COMP”> .
{!-- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-3 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4.r. 8</text>
<l=— G.k.'4.1.8: Dosage Text #2-3 —>
{effectiveTime xsi:type="IVL_TS™>
<width value="4" unit="G.k.4.r.6b"/> ]
<!-= G.k.4.r.6a: Duration of Drug Administration (number) #2-3 —> °
<!~ G.k.4.r.6b: Duration of Drug Administration (unit) #2-3 —>
<high value="20090101"/>
{l== G.k.4.r.5: Date and Time of Last Administration #2-3 ——»
{/effectiveTime>
<routeCode code="G.k. 4. r.10.2b” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14”
codeSystemVersion="G. k. 4. r. 10. 2a”>
"¢l 6.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #2-3 -->
{!== G.k.4.r. 10. 2b: Route of Administration TermID #2-3 —->
<originalText>G. k. 4. r. 10. 1</originalText>
{l— G.k 4.r.10.1: Route of Administration (free text) #2-3 —>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4.r.1b"/>
<{!-= G.k.4.r. 1a Dose (number) #2-3 -->
{!-- G.k.4.r. 1b: Dose (unit) #2-3 -—>
{consumable typeCode="CSM">
<instance0fKind classCode="INST">"
<productInstanceInstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7{/lotNumberText>
<!— G.k.4.r.7: Batch / Lot Number #2-3 —>
{/productInstancelnstance>



<kindOfProduct classCode="MMAT” determinerCode="KIND">
(formCodé code="G.k. 4.1.9.2b" codeSystem="TBD-DoseForm”-
codeSystemVersion="G. k. 4. 1. 9. 2a">

<!-— G.k.4.r.9.2b. Pharmaceutical Dose Form TermID #2-3 ——>
<originalText>G. k. 4.1. 9. 1<{/originalText>
¢]— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-3 -—>
</formCode>
{/kindOfProduct>
{/instanceOfKind>
{/consumable>
{inboundRelationship typeCode="REFR">
' {observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
{value xsi:type="CE” code="G.k. 4.r.11.2b” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1, 14"
codeSystemVersion="G. k. 4. r. 11. 2a">
: <!-- G.k.4.1.11.2a: Parent Route of Administration TermID Version Date / Number #2-3
-
<!-= G.k.4.7.11.2h: Parent Route of Administration TermID #2-3 —>
<originalText>G.k. 4. 1. 11. 1</originalText> -
<l-- G.k.4.r.11.1: Parent Route of Administration (free text) H2-3 —>
</value>
{/cbservation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
¢!~ G, ko4.7: Dosage and Relevant Information (repeat as necessary) #2-4 —>
<substanceAdministration classCode="SBADM” meodCode=" EVN">
<text>G. k. 4. r. 8</text>
{!-~ G.k.4.r.8: Dosage Text #2-4 —>
{effectiveTime xsi:type="SXPR_TS"> .
{comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.r.3"/>
{l-- G.k.4.r.2: Number of Units in the Interval #2-4 -—>
¢!— G.k.4.r.3: Definition of the Time Interval Unit #2-4 ——>
{/comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
¢)-- G.k.4.r.4: Date and Time.of Start of Drug #2-4 —>
¢/compd
{/effectiveTime>
<routeCode code="G. k. 4. . 10.2h” codeSystem="2. 16. 840. 1. 113883. 3.989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
{!-~ G.k.4.r.10. 2a” Route of Administration TermID Version Date / Number #2-4 —>
<l—~G.k. 4.r.10. 2b: Route of Administration TermID #2-4 —->
{originalText>G. k. 4. r. 10. 1</originalText>
¢!-- G.k.4.r.10.1: Route of Administration (free text) #2-4 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<l-- G.k. 4.r. la Dose (number) #2-4 —>
<l-- G.k.4.r.1b: Dose {unit) #2-4 ——>
{consumable typeCode="CSM">
¢instance0fKind classCode="INST">
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</1otNumberText>
<!-—- G, k.4.r.7: Batch / Lot Number #2-4 ——>
{/productlInstancelnstance>
<kindOfProduct classCode="MMAT" determ1nerCode— KIND >
(formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="6. k. 4.r. 9. 2a">

* <or1g1na1Text>G.k.4.r.9.1</or1g1na1Text>
<l=~ G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-4 —>
{/formCode>
<{/kindO0fProduct>
{/instance0fKind>



</consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16.840.1.113883.3.989.2.1.1.19” codeSystemVersion="1. 1"
displayName="] parentRouteOfAdm1n1strat1on />
<value xsi:itype="CE” code="G.k.4.r.11.2b" codeSystem="2. 16. 840. 1, 113883, 3, 989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a”> )
<l G.k.4.7.11.2a: Parent Route of Administration TermID Version Date / Number #2-4
-
¢{l— G.k.4.r.11.2b: Parent Route of Administration TermID #2-4 —>
{originalText>G. k. 4. r. 11. 1</original Text>
<!-- G.k.4.r.11.1: Parent Route of Administration (free text) #2-4 —>
</value) . X
{/observation>
</inboundRelationship®
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP”>
<l G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-5 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4.r. 8</text>
<l— G.k.4.r.8: Dosage Text #2-56 —>
CeffectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.r.3"/>
{!-- G.k.4.r.2: Number of Units in the Interval #2-5 —>
<!— G.k.4.r.3: Definition of the Time Interval Unit #2-5 ——>
</comp>
{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
{!-- G.k.4.r.5: Date and Time of Last Administration #2-5 —>
</comp)
</effectiveTime>
<routeCode code="G.k.4.r. 10.2h” codeSystem="2. 16.-840- 1. 113883. 3. 989, 2. 1. L. 14"
codeSystenVersion="G. k. 4. r. 10. 2a”> ]
<!~ G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #2-5 —->
<!-- G.k.4.r.10. 2b: Route of Administration TermID #2-5 ——>
‘CoriginalText>G. k. 4.r. 10. 1</originalText>
~ <l== G.k.4.1.10.1: 'Route of Administration (free text) #2-5 -—>
</routeCode> i
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<!— G.k.4.r. 1a Dose (number) #2-5 -->
<!— G.k.4.r.1b: Dose (unit) #2-5 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST”>
(productInstanceInstance classCode="MMAT” determlnerCode— INSTANCE™>
<lotNumberText>G. k. 4. r. 7</1otNumberText>
<{l— G.k.4.r.7: Batch / Lot Number #2-5 —>
{/productInstanceIlnstance
<kindOfProduct"' classCode="MMAT” determinerCode="KIND">
{formCode code="G. k. 4.1.9.2b” codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a”>
<!-— G.k. 4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-5 —>
1=~ G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-5 ——>
CoriginalText>G. k. 4. r. 9. 1<{/originalText>
- 6.k 4r.9.1: %umwumﬂDme%m(ﬁwtuﬂ#%S—)
{/formCode>
</kindOfProduct>
{/instance0fKind>
</consumable>
{inboundRelationship typeCode="REFR"> .
<observation classCode="0BS” moodCode="EVN">
‘Ccode code="28" codeSystem="2.16.840. 1. 113883. 3. 989, 2.1.1.19” codeSystemVersion="1.1""
displayName="parentRouteOfAdministration”/>
‘Kvalue xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a”>
{l== G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-5
—>
<!-= G.k.4.1.11.2b: Parent Route of Administration TermID #2-5 ——>



<originalText>G. k. 4. r. 11. 1</originalText>
<}~ G.k.4.7.11.1: Parent Route of Administration (free text) #2-5 ——>
<{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship? typeCode="COMP">
¢!=- G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-6 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8/text>
{!-= G.k.4.r.8: Dosage Text #2-6 ——>
{effectiveTime xsi:type= SXPR TS">
<comp xsi: type— “PIVL_TS">
<period value="10" unit="G. k. 4. r. 3”/> .
¢!—— G.k.4.1.2: Number of Units in the Interval #2-6 —>
¢!— G.k.4.r.3: Definition of the Time Interval Unit #2-6 -
{/comp>
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
(!—- G.k. 4.1. 6a: Duration of Drug Administration (number) #2-6 ——>
<l—— G.k.4.7.6b: Duration of Drug Administration (unit) #2-6 —>
{/comp>
{/effectiveTime>
<routeCode code="G.k. 4.r.10.2b” codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
.¢1—- 6.k 4.1.10. 2a: .Route of Administration TermID Version Date / Number #2-6 -—>
<!-= G.k. 4.r.10.2b: Route of Administration TermID #2-6 ——>
<originalText>G. k. 4.r. 10. 1{/originalText>
<|-- 6.k.4.r.10. 1 Route of Administration (free text) #2-6 —>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<l-- G.k.4.r.1a Dose (number) #2-6 ——>
¢l-- G.k. 4.r.1b: Dose (unit) H#2-6 —>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
{!-- G.k.4.r.7: Batch / Lot Number #2-6 ——>
¢/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
(FormCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="6.k. 4. r. 9. 2a™>
¢l-- G.k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6 ——>
<!-= G.k.4.r. 9. 2b: Pharmaceutical Dose Form TermID #2-6 —> '
(orlglnalText)G.k.4.r.9.1</ofiginalText>

</formCode>
</kindOfProduct>
{/instanceOfKind>
{/consumable>
{inboundRelationship typeCode="REFR">
(observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16.840. 1. 113883. 3, 989.2.1.1,19" codeSystemVersion="1, 1"
displayName="parentRoute0fAdministration e
{value xsi:type="CE” code="G.k. 4.r.11.2b" cheSystem=”2.16.840:1.113883.3.989.2.1.1.14”

codeSystemVersion="G. k. 4. r. 11. 2a”>
‘ <l=- G.k. 4.1.11.2a: Parent Route of Administration TermID Version Date: / Number #2-6
-—>
¢<l—— G.X.4.r.11.2b: Parent Route of Administration TermID #2-6 ——>
{originalText>G. k. 4, r. 11. 1{/original Text>
{!—- G.k.4.7.11.1: Parent Route of Administration (free text) #2-6 —>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
<!-- G. k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-7 ——>



<{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. r. 8</text>
{!-— G.k.4.r.8: Dosage Text #2-7 -
<effectiveTime xsi:type="PIVL_TS">
{period value="10" unit="G.k: 4.r.3"/> ]
{I--.G.k 4.1.2: Number of Units in the Interval #2-7 ——>
{l-- G.k. 4.r.3: Definition of the Time Interval Unit #2-7 —->
</effectiveTime> i
{routeCode code="G. k. 4.r.10.2b" codeSystem="2. 16. 840, 1. 113883. 3,989, 2. 1. 1. 14”
codeSystemVersion="G. k. 4. r. 10. 2a”>
<1-- G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #2-7 —->
1= G.k.4.r. 16. 2b: Route of Administration TermID #2-7 —>
<originalText>G. k. 4. r. 10. 1{/originalText>
{!— G.k.4.r.10.1: Route of Administration (free text) #2-7 —>
</routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b”/>
<!--.G.k.4.1. 1a Dose (number) #2-7 ——>
<{!-- G.k.4.7r.1b: Dose (unit) #2-7 —->
{consumable typeCode="CSH">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
<lotNumberText>G. k. 4. . 7</lotNumberText> ! .
<l— G.k.4.1.7: Batch / Lot Number #2-7 —> -
{/productInstanceInstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r.9. 2a">
<!~~ G.k.4.1. 9, 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-7 -+
<!-- G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-7 ——>
<originalText>G. k. 4. r. 9. 1</originalText>
<l--'6.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-7 —>
(/formede)
</kind0fProduct>
{/instance0fKind>
</consumable>
{inboundRelationship typeCode="REFR">
'<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration?/> ‘
' {valile xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16. 840. 1. 113883. 3.980.2. 1. 1. 14”
codeSystemVersion="G. k. 4. r. 11. 2a”>- )
: <!-- G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-7
-—>
<}— G.k. 4.1.11.2b: Parent Route of Administration TermID #2-7 —>
<originalText>G. k. 4. 1. 11. 1</originalText>
<l—— G.k.4.r.11.1: Parent Route. of Administration (free text) #2-7 —>
{/value>
</observation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP">
<I— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-8 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8{/text> ¢
{!-—— G.k.4.r.8: Dosage Text #2-8 —>
{effectiveTime xsi'type="IVL_TS">
<low value="20090101"/>
¢l-- G.k.4.7.4: Date and Time of Start of Drug #2-8 ——>
{/effectiveTime>
<routeCode code="G.k. 4.1.10.2b” codeSystem="2. 16. 840. 1. 113883, 3.989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
<!-= G.k. 4.r.10.2a: Route of Administration TermID Version Date / Number #2-8 —>
<l 6.k.4.7.10.2b: Route of Administration TermID #2-8 —->
<originalText>G.k.4.f;10.1</originalText>
<l-- G.k.4.1.10.1: Route of Administration (free text) #2-8 -
</routeCode?
{doseQuantity value="10" unit="6G.k.4.r.1b"/>
{l=- 6.k 4.r.1a Dose (number) #2-8 ——>



{!-- G. k. 4.r.1b: Dose (unit) #2-8 —>
<{consumable typeCode="CSM">
{instanceOfKind- classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<1lotNumberText>G. k. 4. r. 7</lotNumberText>
<!-- G.k.4.r.7: Batch / Lot Number #2-8 ——>
{/produetInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
(formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="6.k.4.1.9.2a">
<!— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 -—>
{l— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-8 —>
<or1g1na1Text>G.k.4.r.9.1</originalText>

(/formCode)
</kind0fProduct>
</instanceOfKind>
{/consumable>
<inboundRelationship typeCode="REFR”>
<observation classCode=" OBS” moodCode="EVN">
Ccode code="28" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. L. 19* codeSystemVersion="1.1"
-displayName="parentRotiteOfAdministration”/>
<value xsi:type="CE” code="G. k. 4, r. 11. 2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a”>
<l-- ¢.X. 4.1.11.2a: Parent Route of Administration TermID Version Date / Number #2-8
-
<!-— G.k.4.r.11.2b: Parent Route of Administration TermID #2-8 —
<originalText>G.k.4.r.1l. 1{/originalText>
<=~ G.k.4.r.11.1: Parent Route of Administration (free text) #2-8 —>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2> -
CoutboundRelationship2 typeCode="COMP”>
¢<!— G.'k.4.r: Dosage and Relevant Information (repeat as necessary) #2-9 ——>
¢substanceAdministration classCode="SBADM" moodCode="EVN">
<text>G. k. 4. r. 8</text>
<!-— G.k.4.r.8: Dosage Text #2- 9 -
{effectiveTime xsi:type="IVL_TS” >
<high yalue="20090101"/>
{!=- 6.k 4.1.5: Date and Time of Last Administration #2-9 —>
{/effectiveTime>
¢routeCode code="G. k. 4.r.10.2b” codeSystem="2. 16, 840. 1. 113883. 3.989.2. 1. 1. 147
codeSystemVersion="G. k. 4. r. 10. 2a”>
<= G.k.4.r. 10, 2a: Route of Administration TermID Version Date / Number #2-9 -
1=~ G.k. 4. 7. 10. 2b: Route of Administration TermID #2-9 ——>
{originalText>G. k. 4. r. 10 1{/originalText>
'\1== G.k.4.1.10. 1: Route of Administration (free text) #2-9 ——
</routeCode>
<doseQuantity value="10" unit="G.k. 4.r.1b"/>
{!— G.k.4.r.1a Dose (number) #2-9 -—>
¢I-= G.k.4.r.1b: Dose (unit) #2-9 -—
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT” - determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<{!-- G.k 4.7.7: Batch / Lot Number #2-9 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k. 4.r.9:2b” codeSystem="TBD-DoseForm”

I

codeSystemVersion="G. k. 4.r. 9. 2a">

'<!‘— G.k.4.r.9.2b- Pharmaceut1ca1 Dose Form TermID #2-9 —>
<originalText>G. k. 4.r.9. 1</originalText>
<l-- G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-9 ——>
{/formCode>
</kind0fProduct>
{/instanceOfKind>



</consumable> _
<inbouridRelationship typeCode="REFR”>
<{observation classCode="0BS”. moodCode="EVN">
{code code="28" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1.1. 19" codeSystemVersion="1.1"
displayName="paréntRouteOfAdninistration”/> .
, <value xsi:type="CE” code="G.k.4.r. 11: 2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14*
codeSystemVersion="6. k. 4. r. 11. 2a™>
<l=~ G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-9
—>
<1-- G.k.4.1.11.2b: Parent Route of Administration TermID #2-3 —>
<originalText>G. k. 4. r. i1. 1{/originalText> -
<}—— G.k.4.r.11.1: Parent Route of Administration (free text) #2-9 —>
</value>
<{/observation>
</inboundRelationship>
</substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP”>
<!=—'G. k. 4:r: Dosage and Relevant Information (repeat as necessary) #2-10 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. 1. 8{/text>
<!=~- G.k.4.1.8: Dosage Text #2- 10 -—>
<effectiveTime xsi:type="IVL_TS">
<width value="4" unit="G.k.4.r.6b"/>
<l-- 6.k. 4 r.6a: Duration of Drug Administration (pumber) #2-10 —>
<l—— 6.k.4.r.6b: Duration of Drug Adm1nlstrat1on (unit) #2-10 —->
</effectiveTime>
{routeCode code="G.k. 4.r.10.2b" codeSysten="2.16.840. 1. 113883.3.989.2.1.1.14"
codeSystemVersion="G. k. 4. r. 10. 2a”> : -
<!— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-10 —>
<!-- G.k.4.1.10.2b: Route of Administration TermID #2-10 —->
<originalText>G. k. 4. r. 10. 1{/originalText> ]
{!-— G.k.4.r.10.1: Route of Administration (free text) #2-10 —>
</routeCode>
{doseQuantity value="10" unit="G. k. 4.r.1b"/>
{]-- G6.k.4.r. 1a Dose (number) #2-10 ——>
<l— F;k.4{r.1b2 Dose (unit) #2-10 —>
<consumable typeCode="CSM”>
{instance0fKind classCode="INST"> '
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G:; k. 4. r. 7{/1otNumberText>
<l— G.k. 4.r.7: Batch / Lot Number #2-10 —>
{/productInstanceIlnstance)
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. r. 9. 2a”>
<!— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 —->
<!— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-10 —>
{originalText>G. k. 4.r.9. 1</originalText> ’ ]
<l-- G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-10 —>
{/formCode>
</kind0fProduct)
</instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16.840.1.113883.3.989. 2.1, 1.19” codeSystemVersion="1, 1”
displayName="parentRouteOfAdministration”/>
' ' <value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a”>

<1~ G.k.4.1.11.2a: Parent Route of Administration TermID Version Date / Number #2-10
->
<!— G, k.4.1.11.2b: Parent Route of Administration TermID #2-10 ——>
originalText>G.k.4.r. il. 1</or1g1na1Text>
<= G.k.4.r.11,1: Parent Route of Administratioh (free text) #2-10 -->
{/value>
</observation>
</inboundRelationship>
</substanceAdministration>



<{/outboundRelationship2>
<outboundRelationship2 typeCode="SUMM">
<observation classCode="0BS” moodCode="EVN">
<code code="14" codeSystem="2. 16. 840. 1. 113883. 3. 989.2.1.1.19" codeSystemVersion="1,1"
displayName="cumulativeDoseToReaction o
{value xsi:type="PQ” value="10" unit="G.k. 5b”/>
<!-- G.k 5a: Cumulative Dose to First Reaction (number) #2 —>
¢!-- 6.k.5b: Cumulative Dose to First Reaction (unit) #2 -->
{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
-<observation classCode="0BS” moodCode="EVN">
{code code="16" codeSystem=”2.16.840.1.113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="gestationPeriod”/>
{value xsi:type="PQ” value="10" unit="G.k. 6b”/>
<l-- G.k.6a: Gestation Period at Time of Exposure (number) #2 -—>
{!-— G.k.6h: Gestation Period at Time of Exposure (unit) #2 —->
{/observation>
{/outboundRelationship2>
<outboundRelatiénship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
(code code="31" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName=" recurranceOfReaction”/>
_ (value xsi:type="CE” code="G.k.9.i.4" codeSystem="2. 16. 840, 1.113883. 3. 989. 2. 1. 1. 16"
codeSystemVersion="1.0"/>
¢l—- G.k.90.1i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #1 ——>
<outboundRelationshipl typeCode="REFR">
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6£4657€" />
{/actReference>
</outboundRelationshipl>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode=" EVN">
{code code="31" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="recurranceOfReaction”/>
. <value xsiitype="CE” code="G.k.9.i.4" codeSystem="2.16.840.1.113883.3.989.2.1.1.16”
codeSystemVersion="1. 0" />
¢!-= G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #2 ——>
<outboundRelationshipl typeCode="REFR">
{actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-cIeB-4e6c-93e9-5b860b314220" />
</actReference>
{/outboundRelationshipl>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16. 840. 1. 113883. 3.989.2. 1. 1.19” codeSystemVersion="1. 1"
displayName=" codedDrugInformat10n”/>
¢value xsi:type="CE” .code="G.k. 10.1r” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 17"
codeSystemVersion="1.0"/>
<!-— G.k.10.7: Additional Information on Drug (coded) (repeat as necessary) #2-1 -—>
{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
(observation classCode="0BS" moodCode="EVN">
{code code="9" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName= codedDrugInformat1on 7/ >
<¢value xsi:type="CE” code="G.k.10.1r” codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 177
codeSystemVersion="1.07/>
‘ d— 6.k 10.1: Addltlonal Information on Drug (coded) (repeat as necessary) #2-2'——>
</observationy
</outboundRelatipnship2>
{outboundRelationship2 typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
{code code="2" codeSystem— 2. 16.840. 1. 113883.3.989.2.1.1.19” codeSystemVerslon— 1.17
displayName="additionalInformation”/>



{value xsi:type="ST">G. k. 11<{/value>
<l-- G.k.11: Additional Information on Drug (free text) #2 —>
{/observation>
</outboundRelationship2>
<inboundRelationship typeCode="RSON"> R
{observation classCode="0BS” moodCode="EVN">
{code code="19" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="indication”/>
{value xsi:type="CE” code="G.k.7.T.2b” codeSystem="2.16.840. 1. 113883. 6. 163"
codeSystemVersion="G. k. 7. 1. 2a"> b
<l-- G.k.7.1.2a: MedDRA Version for Indication #2-1 —=>
<!—— 6.k 7.r.2b: Indication (MedDRA.code) -#2-1 —>
originalText>G. k. 7.r. 1{/originalText>
<l-~ G.k. 7.r.1: Indication as Reported by the Primsry Source #2-1 —>
{/value>
<{performer. typeCode="PRF">
<assignedEntity classCode="ASSIGNED">
<code code="3" codeSystem="2. 16.840.1, 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1. 0"

displayName="sourceReporter”/> R
{/assignedEntity>
{/performer>
{/observation®
{/inboundRelationship) ‘
{inboundRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
{code code="19" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1,19” codeSystemVersion="1. 1"
displayName="indication”/> ]
<value xsi:type="CE” codé="G.k.7.r.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="G. k. 7. r. 2a”>
<{!— G.k. 7.r.2a: MedDRA Version for Indication #2-2 —>
<l== G.k. 7.r.2b: Indication (MedDRA code) #2-2 —>
<originalText>G. k. 7.r. 1</originalText>
<|== G.k.7.r.1: Indicaetion as Reported by the Primary Source #2-2 —>
</value>
<performer typeCode="PRF"> -
{assignedEntity classCode="ASSIGNED"> )
{code code="3" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1, 0”
displayName="sourceReporter”/>
{/assignedEntity>
{/performer>
{/observation)
{/inboundRelationship>
<inbouhdRelationship typeCode="CAUS”>
<act classCode="ACT” moodCode="EVN"> N
{code code="G.k. 8" codeSystem="2. 16. 840. 1. 113883. 3.989. 2.'1. 1. 15” codeSystemVersion="1, 0”/>
<!-- G.k.8: ‘Action(s) Taken with Drug #2 —>
{/act>
{/inboundRelationship®
{/substanceAdministration®
{/component>
{/organizer>
{/subject0f2>
<subjectOf2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
_ <code code="1" codeSystemn="2. 16, 840. 1. 113883. 3.989.5.1.3.2.1. 11" codeSystemVersion="1. 0"
displayName="{5BRDIEZE"/>
{component typeCode="COMP”> i
{observation classCode="0BS” moodCode="EVN"> ) :
{code code="7" codeSystem="2.16.840. 1, 113883.3.989.5.1.3.2.1.10” codeSystemVersion="1. 0"
displayName="J@& H[E%" />
<{vdlue xsi:type="INT” value="1"/>
<l-- @eayz.13.r. 1: @WHIEH #1 —>
{/observation>
{/component>
<component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN”">
_ {code code="8""codeSystem="2.16.840. 1. 113883. 3. 989. 5.1.3.2. 1. 10” codeSystemVersion="1, 0*
displayName="3F RIER"/>
{value xsi:type="ED">]J2.13.r.2<{/value>



<1-- 00@]2.13.1.2: HEEEB #1 —
<{/observation> '
<{/component?>
<component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2.16.840. 1. 113883, 3.989. 5. 1.3.2. 1, 10" codeSystemVersion="1.0”
displayName="BE%&H"/>
<value xsi:type="CE” code="J2.13.1.3" codeSystem=”2.16.840.l.113883.3.989.5.1.3.2.1.7”
codeSystemVersion="1.0"/>
<l-- @@@J2.13.1.3: BAFEAR #1 —>
{/observation>
*<{/component>
{component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
{code code="10".bodeSystem=”2.16.840.1.113883.3.989.5.1.3.2.1.10” codeSystemVersion="1. 0"
displayName="#¥ZE P DEFI OFE"/
<{value x512type=”BL” value="true” />
<!— @00J2.13.r.4: BIEFOEFIOFTE #1
{/observation>
v <{/component>
{/organizer>
) {/subject0f2>
{subject0f2 typeCode="SBJ">
<organizeér classCode="CATEGORY” moodCode="EVN">
] <code code="1" codeSystem="2.16. 840. 1. 113883. 3.989, 5. 1. 3. 2. 1. 11" codeSystemVersion="1.0"
displayName="758 DIEE" />
{component typeCode="COMP”>
" <observation classCode="0BS” moodCode="EVN">
(code code="7" codeSystem="2. 16, 840. 1. 113883, 3,989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="J& H[BI%" />
<value xsi:type="INT” value="1"/>
<|— @geJ2.13.r.1: BHEHK #2 —>
</observation>
{/component>
<component typeCode="COMP">
{observation classCode="0BS” moodCode— EVN">
<code code="8" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1. 107 codeSystemVersion="1. 0"
displayName="sZRERB"/>
{value xsi:type="ED">J2.13.r.2<{/value>
<1-- ©00J2.13.1.2: HBKRB #2 —
{/observation>
{/component>
L {component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN"> )
<code code="9" codeSystem="2.16.840. I. 113883, 3.989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="BE%48"/>
{value xsi:type="CE” code="J2.13.r.3" codeSystem="2. 16. 840. 1, 113883.3.989.5.1.3.2. 1. 7°
codeSystemVersion="1.0"/> ) ’
<1-- @00J2.13.r.3: BE3EHE #2 —
{/observation>
{/component>
<component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
{code code=’10” codeSystem="2. 16. 840. 1. 113883, 3.989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="#¥ZER DIEHI D H K"/
{value xslitype=”BL” value="false”/>
<l-- 00@J2.13.1. 4 BEHOEFOTE #2 -
{/observation>
</component>
{/organizer>
{/subject0f2>
{/primaryRole>
{/subject1>
{component typeCode="COMP”">
{causalityAssessment classCode="0BS”. moodCode="EVN">
{code code="20" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1, 19" codeSystemVersion="1.1"
displayName=" interventionCharacterization”/>
) {value xsi:type="CE” code="G.k. 17 codeSystenh 2.16.840.1.113883.3.989.2.1.1.13”
codeSystemVersion="1.0"/>



<l-- G.k.1: Characterisation of Drug Role Drug #1 ——>
<subject2 typeCode="SUBJ">
{productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0efed” />
{/productUseReference>
" {/subject2>
{/causalityAssessment>
</component>
<component typeCode="COMP”>
<causalityAssessment classCode="0BS” moodCode="EVN">
<code code="20" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1 1. 19” codeSystemVersion="1.1”
displayName="interventionCharacterization”/>
‘<value xsi:type="CE” code="G.k.1” codeSystem="2.16.840.1.113883.3.989.2.1.1.13"
codeSystemVersion="1, 0”/> i
<I-- G.k.1: Characterisation of Drug Role Drug #2 -->
{subject2 typeCode="SUBJ"> )
{productUseReference classCode="SBADM” moodCode="EVN”>
<id root=”68d6f5ce—3b3b-45c7—92dd—69e067300339”/>
{/productUseReference>
{/subject2>
¢/causalityAssessment?
</component>
{component typeCode="COMP™>
<causalityAssessment classCode="0BS” moodCode="EVN")>
<code code="39" codeSystem="2.16. 840, 1. 113883. 3. 989.2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="causality”/>
Cvalue xsi:type="ST”>G.k. 9. i.2. r.3¢/value>
, <!-= G.k.9.i.2.r.3: Result of Assessment Drug #1, Reaction.i#l, Assessment #1 -—>

<methodCode>
{originalText>G.k.9.1i. 2. r. 2{/originalText> _
{!—— G.k.9.1i.2.1.2: Method of Assessment Drug #1, Reaction #1, Assessment #1 —>
</methodCode>

<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">.
{code>
{originalText>G. k. 9. i. 2. r. 1</originalText>
<l G.k:9.i.2.r.1: Source of Assessment Drug #1, Reaction #1, Assessment #I-—->
<{/code>
{/assignedEntity>
</author> ‘
<{subjectl typeCode="SUBJ">
{adverseEffectReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b~45f2-402f~42d4d6£4657f" />
{/adverseEffectReference>
</subjectl>
{subject2 typeCode="SUBJ">
<productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a—-9c30-67671b0ef9ed” />
<{/productUseReference>
¢/subject2>
{/causalityAssessment>
</component> )
{component typeCode="COMP">
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1. 1"
displayName="causality”/> ) S
{value xsi:type="ST">G.k.9.i.2. r.3¢/valuey
<!--G.k.9,i.2.1.3: Result of Assessment Drug #I, Reaction #2, Assessment #1 —->
<{methodCode> .
{originalText>G.k. 9. 1i. 2. r. 2</originalText>
{!--G.k.9.i.2.r.2: Method of Assessment Drug #1, Reaction #2, Assessment #1 —>
{/methodCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
Lcoded i
<originalText>G. k. 9. i. 2. r. 1{/original Text>
= 6.k 9.i.2.r.1: Source of Assessment Drug #1, Reaction #2, Assessment #1 —>
{/code> .
{/assignedEntity>



{/author>
¢subjectl typeCode="SUB]">
<adverseEffectReference classtode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4ebc-93e9-5h860b314220"/>,
{/adverseEffectReference>
{/subjectl>
{subject2 typeCode="SUBJ”>
<{productUseReference classCode="SBADM” moodCode=" EVN">
<id root="3c91b4db5- —-e039-4a7a-9¢c30-67671b0ef9ed” />
{/productUseReference>
{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP”>
<causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2.16. 840. 1. 113883: 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>
{value xsi: type— ST”)G k. 9.i.2.r.3{/value>

<methodCode>
(or1g1na1Text>G k 9.1.2.r.2¢{/originalText>

(/methodCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
{code>
'<or1g1na1Text>G.k.9.1.2.r.1</or1g1nalText>

</code>

{/assignedEntity>

</author>

<subjectl typeCode="SUBJ">
KadverseEffectReference classCode="0BS” moodCode="EVN">

<id root="2baa28d6-cle8—4ebc-93e9-5b860b314220” />

</adverseEffectReference>

{/subjectl>

{subject2 typeCode="SUBJ">
<{productUseReference classCode="SBADM" moodCode="EVN">
 <id root="68d6f5ce-3b3b-45c7-92dd-69e06730c3a9” />
</productUseReference>

</subject2>

{/causalityAssessment>
{/component>
{component typeCode="COMP">
{causalityAssessment classCode=" 0BS” moodCode="EVN">
<code code="39" codeSystem="2. 16. 840, 1,113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="causality”/> .
<value xsi: type— ST >G. k. 9.1i. 2. r..3¢/value>

<methodCode>,
<or1g1na1Text>G.k.9.1.2.r.2</or1g1na1Text>

</methodCode>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED">
<code>
<or1g1nalText>G.k.9.1.2.r.1</or1g1na1Text>

(/code)
{/assignedEntity>
{/author>
{subjectl typeCode— SUBJ">
{adverseEffectReference classCode="0BS" moodCode="EVN">
<id root="2baa28d6-cYe8-4cbc—-93e9-5b860b3142207 />
{/adverseEffectReference>
{/subjectl>
{subject2 typeCode="SUBJ">
{productUseReference classCode="SBADM" moodCode— EVN™>
<id root="68d6f5ce-3b3b~45c7-92dd-69e06730c3a9” />



{/productUseReference>
{/subject2>
{/causalityAssessment>
{/component>
<{component] typeCode="COMP*>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="10" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="comment”/> ) :
{value xsi:type="ED">H. 2</valued
<}~ H.2! Reporter's Comments —> -
<author typeCode="AUT">
(assignedEntity classCode="ASSIGNED”>
{code code="3" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 21” codeSystenVersion="1.0"
displayName="sourceReporter”/>
{/assignedEntity>
</author>
{/observationEvent>
</component1>
{component]l typeCode="COMP"> ;
{observationEvent classCode="0BS” moodCode="EVN">
<code code="15" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="diagnosis”/>
v i <value xsi:type="CE” code="H.3.r.1b" codeSystem="2.16.840. 1. 113883. 6. 163"
codeSystenVersion="H. 3. r. 1a”/>
<l-— H.3.r.1a: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #1 —>
<l-- H.3.r. 1b* Sender’s Diagnosis / Syndrome and / or Reclassification .of Reaction / Event (MedDRA-
code) #1 -
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED”>
{code code="1" codsSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 21" codeSystenVersion="1.0"
displayName="sender”/>
) {/assignedEntity>
© {/author>
{/observationEvent>
{/component1>
{componentl typeCode="COMP”">
{observationEvent classCode="0BS” moodCode="EVN"> s
~ <code code="15" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="diagnosis”/> _
<value xsi:type="CE” code="H. 3.r. 1b” codeSystem="2, 16. 840, 1. 113883, 6, 163"
codeSystemVersion="H. 3.r. 1a”/>
K- H.3.r. la: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #2 --> g
<!-- H.3.1.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code) #2 —>- ‘
{author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. L. 1. 21" codeSystemVersion="1.0"
displayName="sender”/>
. {/assignedEntity>
{/author>
{/observationEvent>
</component1>
{componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN"> | A/ -
<code code="10" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="ED">H. 4</value>
{!— H.4: Sender’ s Comments —>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
. . {codé code="1" codeSystem="2. 16. 340. 1. 113883.3.989. 2. 1. 1. 21" codeSystemVersion="1. 0"
displayName="sender”/> )
{/assignedEntity>
{/author>
{/observationEvent>
{/component1>
<componentl typeCode="COMP”>



{observationEvent classCode="0BS” moodCode="EVN"> )
<code code="3" codeSystem=”Z.16.840.1.113883.3.989.5.1.3;2.1.10”

RETEXTBIAL L/

BRI OBRRE" >

SHOF"/>

<value xsi:type="ED">]J2.7.2</value>
{|-- 60@J2.7.2: RETWHT DAY —
{/observationEvent>
{/component1>
<{component1 typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2.16.840. 1. 113883. 3.989.5.1.3,2.1. 10"

<value xsi:type="ED">J2.9</value>
<I— 800J2. 9: FEEOMKRE
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="5" codeSystem="2.16. 840. 1. 113883, 3, 989.5.1.8. 2. 1, 10"

<value xsi:type="ED">J2.10</value> ; i
<I— @e@yz. 10: SHORIE —>
/observationEvent>
{/component1>

{componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2.16.840. 1. 113883, 3.989.5.1.3.2. 1. 10”7

ZOMBEEEE"/>

{value xsi:type="ED">J2.11</value>
<l-- ©0@J2,11: TOMBEETEE —>
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN"™>
<code code="12" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1.3.2. 1. 10"

RENBDOER"/,

& 17/>

A

wE3"»

EE 4/,

<yalue xsi:type="ED">]2.16<¢/value>
<1-- @0@]2.16: WENFOER —>
{/observationEvent>
</component1>
<componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="13" codeSystem="2. 16. 840..1. 113883, 3.989.5.1.3.2. 1. 10"

<value xsi:type="ED">J2.19</value>
<l-- @e@y2. 19 WE1 —>
{/observationEvent>
</component1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
<code code="14" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 107

<value xsi:type="ED?>J2.20</value>
- @eerz. 20: HE2 —>
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
¢observationEvent classCode="0BS” moodCode="EVN">
<code code="15" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10"

<value xsi:type="ED">J2.21<{/value>
<l-- geeJ2.21: fH=3 -
</observationEvent>
{/component1>
{componentl typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10"

<value. xsi:type="ED">]J2. 22<{/value>
J— eeeJ2.22: fR&4 —> -

codeSystemVersion="1.0"

codeSystemVersion="1.0"

codeSystemVersion="1. 0"

codeSystemVersion="1. 0"

codeSystemVersion="1. 0"

codeSystemVersion="1. 0%

codeSystemVersion="1. 0"

codeS&stemVersion=”1.0”

codeSystemVersion="1. 0"

displayName="

displayName="

displayName="

displayName="

displayName="

displayName="

displayName="

displayName="

displayName="



</observationEvent>
{/component]1>
{/adverseEventAssessment>
{/component>
<component typeCode="COMP”> )
{observationEvent classCode="0BS” moodCode=" EVN >
<eode code="1" codeSystem="2. 16. 840. 1. 113883, '3.989.2.1.1.19” codeSystemVersion="1. 1"
dlsplayName— addltlonalDocumentsAva11ab1e />
" {value xsi:type="BL” value="true”/>’
1= C.1.6.1: Are Additional Documents Availahle? ——>
{/observationEvent>
{/component> e
{component typeCode="COMP”> "
{observationEvent classCode="(BS” moodCode="EVN">
<code code="23" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1,1"
displayName="localCriteriaForExpedited”/>
{value xsi:type="BL” value="true”/>
{!— C.1.7: Does This Case Fulfil the Local Criteria for an Expedlted Report? ==>
{/observationEvent>»
{/component>
{component typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
{code code="36" codeSystem="2.16.840. 1, 113883.3.989.2. 1. 1, 19” codeSystemVersion="1.1”
displayName="summaryAndComment” />
<value xsi:type="ED” language="H.5.r.1b">H.5.r. la{/value)
{l--— H.5.r. 1a: Case Summary-and Reporter’s Comments Text H1 —>
<l— H.5.r.1b: Case Summary and Reporter’ s Comments Language #1- —>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED">
<code code="2" codeSystem="2. 16, 840. 1. 113883. 3. 989.2.1.1.21" codeSystenVersion="1,0"
displayName="reporter”/>
{/assignedEntity>
</author> ’
{/ohservationEvent>
{/component>
{component. typeCode="COMP"> .
{observationEvent classCode="0BS” moodCode="EVN">
{code code="36" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystenVersion=" 1 1"
displayName="summaryAndComment” />
{value xsi:type="ED” language="H.5.r.1b">H. 5. r. 1a</value>
<l-- H.5.r. la: Case Summary and Reporter’ s Comments Text #2 -—>
¢{!— H.5.r. 1b: Case Summary and Reporteéer’s Comments Language #2 ——>
<author typeCode="AUT">
-<assignedEntity classCode="ASSIGNED”>
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="reporter”/> ’
{/assignedEntity>
{/author>
{/cbservationEvent>
{/component>
<outboundRelationship typeCode="SPRT”>
<{relatedInvestigation classCode="INVSTG” moodCode="EVN"> .
{code code="1" codeSystem="2.16. 840. 1. 113883. 3. 989. 2: 1. 1. 22" codeSystemVersion="1. 0"
displayName="initialReport”/>
{subject0f2 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
{code code="C.1.8.2" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 3" codeSystemVersion="1.0"/>
{}--C.1.8.2: First Sender of This Case ——>-
{/assignedEntity>
</author>
</controlActEvent>
</subject0f2>
{/relatedInvestigation> |
</outboundRelationship>
{outboundRelationship typeCode="SPRT">
(relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code nullFlavor="NA"/>



<subject0Of2 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCodé— EVN™>
<id extension="C.1.10.1" root="2. 18. 840, 1. 113883. 3. 989. 2. 1:3.2"/>
<l-- €.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary)
#1 —>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
{/outboundRelationship>
{outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode=”INVSTG” moodCode="EVN">
<code nullFlavor="NA"/>
{subject0f2 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.1” root="2. 16.840.1.113883.3.989.2.1.3.2"/>
<l-- C.1.10.1: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)
#2 —> >
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
{/outboundRelationship>
{outboundRelationship typeCode="SPRT">
<priorityNumber value="1"/>
¢{]-—C.2.r.5: Primary Source for Regulatory Purposes #1 ——>
(relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code code="2" codeSystem="2.16.840. 1.113883.3.989. 2. 1. 1. 22" codeSystemVersion="1.0"
displayName="sourceReport”/>
{subject0f2 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
<addr>
{streetAddressLine>C. 2. r. 2. 3{/streetAddressLine>
¢]—- C.2.1.2.3: Reporter’s Street #1 —>
<eity>C. 2.1. 2. 4</city>
<!-- C.2.1.2.4: Reporter’s City #1 —>
{state>C. 2. 1. 2. 5</state>
¢l-—C.2.1.2.5: Reporter’s State or Province #l —>
<posta100de>C.2.r.2,6(/postalCode>
<|-=C.2.r.2.6: Reporter’ s Postcode #1 —>
</addr>
<telecom value="tel:C.2.1.2.77/>
¢}—- C.2.r.2.7: Reporter’ s Telephone #1 —>
<assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name>
<{prefix>C. 2. 1. 1. 1<{/prefix>
{1-- C.2.7r.1.1: Reporter’'s Title #1 —>
<given>C. 2.r. 1. 2</given>
¢l-- C.2.1.1.2¢ Reporter’s Given Name #1 —>
<givenyC. 2. 1. 1, 3</given>
<!-— C.2.1r.1.3: Reporter’ s Middle Name #1 -
{family>C. 2. r. 1. 4</family>
{!-- C.2.r.1.4: Reporter’ s Family Name #1 ——>
</name>
<asQualifiedEntity classCode="QUAL">
<code code="C.2.1.4" codeSystem="2. 16. 840. 1.113883.3.989.2.1. 1. 6" codeSystenVersion="1.0"/>
¢l-- C.2.r.4: Qualification #1 —>
<{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="C.2.r.3” codeSystem="1.0, 3166.1.2.2"/>
¢{l—- C.2.r.3: Reporter’ s Country Code #1 ——>
</location>
</asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="0RG” determinerCode="INSTANCE">
<name>C. 2. r. 2. 2{/name>
{l== C.2.1.2.2: Reporter’ s Department #1. —>
{assignedEntity classCode="ASSIGNED">



{representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>C. 2. 1. 2, 1{/name>
{!— C.2.1.2.1: Reporter’s Organisation #1 ——>
</représented0rganization>
{/assignedEntity>
{/representedOrganization)-
{/assignedEntity>
{/author>
</controlActEvent)
<{/subject0f2>
{/relatedInvestigation>
{/outboundRelationship>
{outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN”>
{code code="2" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 22" codeSystemVersion="1, 0~
displayName="sourceReport”/>
{subject0f2 typeCode="SUBJ"> 3 -
{controlActEvent elassCode="CACT” moodCode="EVN">
" " <author typeCode="AUT*>
<assignedEntity classCode="ASSIGNED">
<addr>
{streetAddressLine>C. 2. r. 2. 3{/streetAddressLine)
<l-- C.2.1.2.3: Reporter’s Street #2 —>
city>C. 2.1, 2. 4</city>
<l== C.2.r.2.4: Reporter’s City #2 ——>
{statedC. 2.1.2.5¢/stated
<{!-- C.2.r.2.5: Reporter’ s State or Province #2 —>
{postalCode>C. 2. 1. 2. 6</postalCode>
<{l-- C.2.r.2.6: Reporter’ s Postcode #2 ——>
</addr>
<telecom value="tel:C.2.1.2.7"/>
1= C.2.1r.2.'7: Reporter’s Telephone #2 --)
<assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name>
<prefix>C. 2.r. 1. 1<{/prefix> v
{!-= C.2.r.1.1: Reporter’ s Title #2 —>
{given>C. 2. r. 1. 2{/given>
{!-- C.2.r.1.2: Reporter’s Given Name #2 —->
<given>C. 2.r. 1. 3</given>

“ {!— C.2.r.1.3: Reporter’ s Middle Name #2 —=>
{family>C. 2. r. 1. 4{/fanily> .
{!— C.2.1.1.4: Reporter’ s Family Name #2 —> /
{/name> ’

<asQualifiedEntity classCode="QUAL">
<code code="C.2.1.4" codeSystem="2.16.840. 1. 113883.3.989,2.1.1.6” codeSystemVersion="1.0"/>
<l-= C.2:r.4: Qualification #2 —>
{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE™)
<location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.2.r.3" codeSystem="1.0.3166.1.2.2"/>
{1~ €.2.1.3: Reporter’s Country Code #2 -—>
</locationd
</asLocatedEntity>
{/assignedPerson>
{represented0rganization classCode="ORG” determinerCode="INSTANCE”>
<name>C, 2. r. 2. 2{/name>
<l-- C.2.1.2.2: Reporter’ s Department #2 ——>
{assignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<{name>C. 2. r. 2. 1<{/name>
{!— C.2.r.2.1: Reporter’ s Organisation #2 —->
{/representedOrganization®
{/assignedEntity>
{/representedOrganization>
{/assignedEntity>
</author>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>



{/outboundRelationship?
<subjectOf1 typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
CassignedEntity classCode="ASSIGNED >
{code code="C.3.1” codeSyStem=”2.1ﬁ.840.1.113883.3.989.2.1.1.7”.codeSystemVersion=”1.0”/>
¢!-—"C.3.1: Sender Type —>
<addr>
{streetAddressLine>C. 3. 4. 1{/streetAddresslLine>
(1= C.3.4.1: Sender’s Street Address ——>
<eity>C. 3. 4. 2¢/cityd>
{}— C.3.4.2: Sender’s City —>
{state>C. 3. 4. 3{/state>
<l-- C.3.4.3: Sender’s State or Province ——>
{postalCode>C. 3. 4. 4{/postalCode>
{1-- C.3.4.4: Sender’ s Postcode —>
{/addr>
<telecom value="tel:C.3.4.6"/>
¢l-- C.3.4.6: Sender’ s Telephone —>
<telecom value="fax:C.3.4.77/>
¢!-- C.3.4.7: Sender's Fax —>
<telecom value="mailto:C.3.4.8"/>
{l-— C.3.4.8: Sender’ s E-mail Address —>
<assignedPerson classCode="PSN” determinerCode="INSTANCE">
<{name> :
<prefix>C. 3. 3. 2<{/prefix> )
<l-- C.3.3.2: Sender's Title —>
{given>C. 3. 3. 3¢/given>
<1-- C.3.3.3: Sender’s Given Name —>
<given>C. 3. 3. 4{/givern>
<!— C.3.3.4: Sender’ s Middle Name —> -
{family>C. 3. 3. 5</family>
¢!---C.3.3.5: Sender’s Family Name ——>
{/name>
<asLocatedEntity classCode="LOCE">
<location classCode="COUNTRY” determinerCode="INSTANCE">
{code code="C.3.4.5” codeSystem="1.0.3166.1.2.2"/>
¢l-- C.3.4.5: Sender’s Country Code —>
{/location>
</asLocatedEntity>
{/assignedPerson> - ] o
¢representedOrganization classCode="ORG" determinerCode="INSTANCE”>
<name>C. 3. 3. 1{/name> ’
¢{!-- €.3.3.1: Sender’ s Department ——>
CassignedEntity classCode="ASSIGNED”>
<¢representedOrganization classCode="ORG" determinerCode="INSTANCE™>
<name>C. 3. 2<{/name>
¢<|-— C.3.2: Sender’ s Organisation ——>
¢/representedOrganization>
{/assignedEntity>
{/representedOrganization>
{/assignedEntity>
{/author>
<primaryInformationRecipient typeCode="PRCP">
{assignedEntity classCode="ASSIGNED"> _ o
{assignedPerson classCode="PSN” determinerCode="INSTANCE">
{name>
<prefix>J2. 18. 2</prefix>
<|— 008J2.18.2: #f5F FHEFEE —
{Family>J2, 18. 3</family>
I— @6@J2.18.3: ZEE # —
{givendJ2. 18. 4<{/given>
<]— @0eJ2.18.4: ZFH £H -
-{/name>
{/assignedPerson>
{representedOrganization classCode="ORG" determinerCode="INSTANCE”>
<name>]J2. 18. 1{/name> .
<|— @eeJ2.18.1: EEF ML

{/representedOrganization>

X



{/assignedEntity>
{/primaryInformationRecipient>
{/controlActEvent>
{/subject0f1> ]
{subjectOfl typeCode="SUBJ"> . ‘
{controlActEvent classCode="CACT” moodCode="EVN"> _
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.r.2" root="2.16.840. 1. 113883. 3. 989. 2. 1. 3. 3"/>
<1—C.1.9.1.r. 1: Sotrce(s) of the Case Identifier (repeat as necessary) #1 ——>
1=~ C.1.9.1.1.2 Case Identifier(s) #l ——>
</controlActEvent>
{/subject0of1>
<subjectOf1 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN">
{id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9. l.r.2" root="2.16.840, 1, 113883.3.989.2.1.3.3"/>
{d—C.1.9.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #2 -->
<!-—- C.1.9.1.r.2 Case Identifier(s) #2 =->
{/controlActEvent>
{/subjectOf1>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN”>
{code code="1" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 23" codeSystemVersion="1. 0"
displayName="ichReportType”/>
<value xsi:type="CE” dode="C.1.3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 2” codeSystemVersion="1.0"/>
<l-- C. 1.3 Type of Report —>
¢/investigationCharacteristic>®
{/subjectOf2> .
{subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 23" codeSystemVersion="1. 0"
displayName="otherCaseIds”/>
' <value xsi:type="BL” value="true”/>
{!— C.1.9.1 Other Case Identifiers in Previous Trensmissions —>
{/investigationCharacteristic
<{/subject0f2> .
{subjectOf2 typeCode="SUBJ"> °
{investigationCharacteristic classCode="0BS” moodCode="EVN"> )
{code code="3" codeSystem="2.16.840. 1,113883. 3.989, 2. 1. 1. 23" codeSystemVersion="1, 0"
displayName="nullificationAmendmentCode”/>
<value xsi:type="CE” code="C.1.11.1"” codeSystem="2. 16, 840. 1, 113883. 3.989. 2. 1. 1. 5" codeSystemVersion="1.0"/>
<l— C.1.11.1: Report Nullification / Amendment —>
{/investigationCharacteristic>
</subject0f2>
{subjectOf2. typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2.16.840. 1. 113883. 3.-989. 2. 1. 1. 23" codeSystemVersion="1. 0"
displayName="nullificationAmendmentReason”/>
<value xsi:@type="CE™>
{originalText>C. 1. 11. 2¢/originalText>
<!— C.1.11,2: Reason for Nullification / Amendment -->
</value>
{/investigationCharacteristic)
{/subject0f2> )
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="1" codeSystem="2.16,840. 1.113883.3.989.5.1.3.2.1. 12" codeSystemVersion="1.0" displayName="7%5!]
5 BEZR N ' .
<value xsi:type="CE” code="]J2.1la" codeSystem="2.16.840.1.113883.3.989.5, 1.3.2,1,1”
codeSystemVersion="1, 0”/>
<I— eeeJ2. 1a: FAHIES BELE) —
{/investigationCharacteristic>
{/subject0f2>
<{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="2" codeSystem=”2.16.840.1.113883.3.989.5.1.3.2.1.12” codeSystemVersion="1.0" displayName="$45
'eEaH
<value xsi:type="TS” value="20130107"/>
<1-- @00J2.2. 1: MERER —>
{/investigationCharacteristicy
{/subject0f2>



{subjectOf2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” ‘moodCode="EVN">
<code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.8.2.1. 12" codeSystemVersion="1,0" displayName="3%%
HERCETRIASND
<value xsi:type="ED">J2. 2. 2¢/value>
<|— @@6T2.2.2: MEHERICPETHa A~ —>
{/investigationCharacteristic>
</subject0f2>
-{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2.16,840.1,113883.3.989.5.1.3.2.1,12" codeSystemVersion="1.0" displayName="E[If¥
METTIN
{value xsi:type="CE” code="J2.3” codeSystem="2. 16. 840. 1. 113883, 3.989.5.1.3.2.1. 2" codeSystemVersion="1.0"/>
<I-- @eeJ2.3: EREME7 TS -
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="5" codeSystem="2.16. 840. 1. 113883.3.989. 5. 1. 3. 2. 1. 12" codeSystemVersion="1.0" displayName="$}%
BN TZ T
{value xsi'type=”CE” code="7J2.8.1” codeSystem="2. 16. 840. 1. 113883. 3. 989. 5.1.3. 2. 1. 67
codeSystemVersion="1.0"/>
<|— @@ej2.8.1: ®EMBHTZS —
{/investigationCharacteristic>
{/subject0f2> .
{subjectOf2 typeCode— SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2.16.840.1,113883.3.989.5.1.3.2.1.12" codeSystenVersion="1.0" displayName="#k%
HEANOERBEB"/> 2
<value xsi:type="ED">]J2.8.2<{/value>
<1-- 060]2.8.2: BWENBIADEH —>
{/investigationCharacteristic>
</subject0f2>
{/investigationEvent>
<{/subject>
{/controlActProcess>
</PORR_IN049016UV>
<l-- Message #1 —>
¢l— Message #2 ——>
<!-— PORR_IN048016UV —>
<!-— /PORR_IN049016UV ——>
<1-- Message #2. —>
{receiver typeCode="RCV">
<device classCode="DEV” determinerCode="INSTANCE">
¢id extension="N.1.4” root="2.16.840.1.113883.3.989.2.1.3.14"/>
<!-- N.1.4: Batch Receiver Identifier ——>
{/device>
{/receiver>
<sender typeCode— SND”>
<device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.3” root="2.16.840.1.113883.3.989.2.1.3.13"/>
<!-— N.1.3: Batch Sender Identifier —>
{/device>
{/sender> )
{/MCCI_IN200100UV01>
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stigationCharacteristic/code[@code='3'l[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'11[1)/investigationCharacteristic[@classCode="OBS'l [@mood Code="EVN'
Ivaluel@xsi:type="ED'/text()

J2.3 HiR#E&E77 7

5 B A

@Wﬁﬁ%ﬁ%\@%ﬁﬁ%ﬁ%\%@%Eﬁ%mﬁwf\ﬁﬁﬁﬁﬁﬁﬂbwﬁw
2 (1) QIEZYTAHEDBE. KERETHT 5,

FLET IR

HWMTAEESOR [1=RIFRE ] Z2E#THT L.
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T—2% IN

A 1=

XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'[@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcessl@classCod
e='CACT'l[@mood Code="EVN'I/subjectl@typeCode='"SUBJ')[1)/investigationEvent
[@classCode=INVSTG'][@mood Code="EVN'l/subjectOf2[@typeCode='SUBJ'l[inve
stigationCharacteristic/code[@code='4"][@codeSystem='2.16.840.1.113883.3.989.5.

"1.3.2.1.1211[1}investigationCharacteristicl@classCode="0BS[@mood Code="EVN'

Ivaluel@xsitype="CEl[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.21/@code

XPath /MCCI_IN200100UV01[@ITSVersion=XMIL,_ 1.0 [@xsi3schemaLocation='urn3hl7-

(codeSystem | org:v3

Version) MCCI_IN200100UV01.xsd'l/PORR._IN049016UVIrl/controlActProcess[@classCod

e="CACT'l[@moodCode="EVN'V/subject[@typeCode="SUBJ'][1}/investigationEvent
[@classCode=TNVSTG'] [@moodCode='"EVNl/subjectOf2[@typeCode="SUBJ][inve

7 stigatianharacteristic/code [@code="4'][@codeSystem="2.16.840.1.113883.3.989.5.
-| 1.8.2.1.12'l[1)/investigationCharacteristicl@classCode='"OBS' [@mood Code="EVN'

Ivalue [@xsi!typeﬁ'CE'] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.2)/@

codeSystem Version

J2.4k FHEFEBLZEORIEKL

HEHH | BHEERORRSETRT,

HEFE | RIS kv EsRa— MEZERL TERT D, |
‘B TORHERRIC SV T, —RAEES R OEHEE RS U OEEROEAIL.

M=MREEHEF] »D T5=%YUR L] OFIrbENENEBRLESE TS L,

-2 TOBHERRITOVT, —RAEER I EREEER OB AL [5=% 72 L |
2B T7=PMS #HifT (EEHE)|] OF1LLLhERBRLERT S L,

F—&®8 |IN e

FFAE RBIHE 5 ZHR

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemaLocation="urn:h17-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'//subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG' [@mood Code="EVN'l/component[@typeCode='"COMP'[adv
erseEventAssessment]{1]/adverseEventAssessment[@classCode="INVSTG'[@mo
odCode="EVN')/subject1 [@typeCode="SBJ'][1]/primaryRole[@classCode=INVSBJ' |
V/subjectOf2[@type Code="SBJ'][organizer/code[@code='41[@codeSystem='2.16.840.
| 1.113883.3.989.2.1.1.20'1}[1)/organizer[@classCode='CATEGORY'l [@mood Code="E,

_VN'J/component[@typeCode='COMP'l[substanceAdministration/id][k]/substanceA

3




dministration[@classCode="SBADM'l[@mood Code="EVN7/consumable[@typeCode
—cSM'l[1)/instanceOfKind[@class Code=TNST/kindOfProduct/@classCode="MM
AT'l[@determinerCode="KIND'l/asManufacturedProduct[@classCode="MANU"/su
bjectOfl@typeCode='SBJ'l [characteristicl[1]/characteristiclcode[@code="1'l[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10'][1][@classCode="0BS'l[@mood Cod
e="EVN'|/valuel@xsi:type='CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3'l/@code

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion="XML_1.0[@xsi:schemaLocation="urn*hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'l/subject[@type Code='SUBJ'I[1)/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG][@mo
odCode='"EVN'/subject1[@typeCode="SBJ'l[1}/primaryRole[@classCode=TNVSBJ'
]/subj ectOf2[@typeCode="SBJ'l[organizer/code[@code="4'l[@codeSystem="'2.16.840.
1.113883.3.989.2.1.1.20'1[1)/organizer[@classCode='CATEGORY'] [@moodCode="E
'VN'l/component [@typeCode='"COMP] [substanceAdministration/id] [kl/substanceA

| dministration[@classCode="SBADM'l[@mood Code="EVN'l/consumable[@typeCode

='CSM'][1)/instanceOfKind[@classCode="TNSTV/kindOfProduct(@classCode="MM
AT'|[@determinerCode="KIND'//asManufacturedProduct{@classCode=MANUl/su
bjectOfl@typeCode="SBJ'][characteristicl[1]/characteristiclcode[@code="1"] [@code

System='2.16.840.1.113883.3.989.5.1.3.2.1.10'1][1][@classCode="0OBS'][@mood Cod
e="EVN'/valuel@xsi:type='"CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.

3'l/@codeSystemVersion
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.01[@xsi:schemaLocation="urn:h17-
org-vd
‘MCCI_IN200100UV01.xsd'l/PORR_IN049016UVlr]/controlActProcess[@classCod.
e='CACT'][@moodCode="EVN'Vsubject@type Code="SUBJ'|[1]/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode="COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=INVSTG'l[@mo
odCode="EVN'l/subject1 [@fypeCodeﬁ'SBJ 'J[1)/primaryRole[@classCode="INVSBJ'

| VsubjectOf2[@typeCode="SBJ'l [organizer/codel@code='41[@codeSystem='2.16.840.

1.113883.3.989.2.1.1.20'11[1)/organizer[@classCode='"CATEGORY'l [@mood Code='E
VN'l/component[@type Code="COMP'|[substanceAdministration/idl[kl/substanceA
dministrationf@classCode='SBADM'][@mood Code="EVN']/consumable[@typeCode
='CSM'][1)/instanceOfKind[@classCode='INST')/kindOfProduct(@classCode="MM |
- AT'l[@determinerCode='"KIND'l/asManufacturedProduct[@classCode="MANU")/su
bjectOf[@typeCode="SBJ'l[approvall[1//approvall@classCode='"CNTRCT'] [@mood
Code='"EVN ']/pertinentInformation[@typeCode='PERT‘] [1]/policyl@classCode="PO

| 41/@code .

XPath
(codeSystem’

Version)

5 /MCCI_INZOOIOOUVOl[@ITSVei'sionﬁ'XML_l.O'] [@xsi:schemalocation="urn:hl7-

org-v3
MCCI_IN200100UV01.xsd' //PORR_IN049016UVI[rl/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'l/subject[@typeCode="SUBJ'|[1)/investigationEvent

'| [@classCode=INVSTG'l[@moodCode='"EVN'l/component[@typeCode='"COMP'] [adv
-| erseEventAssessment][1]/adverseEventAssessment{@classCode="INVSTG'] [@mo

0dCode="EVN'/subject1[@typeCode="SBJ'][1}/primaryRole[@classCode=TNVSBJ'
I/subjectOf2[@type Code="SBJ'l[organizer/codel@code="4"1[@codeSystem="2.16.840.
-1.113883.3.989.2.1.1.20'][1]/organizer[@classCode="CATEGORY'l [@moodCode="E
VN')/component[@type Code="COMP'] [substanceAdministration/id][k]/substanceA
dministration[@classCode="SBADM'/[@mood Code="EVN'l/consumable[@typeCode
='CSM'][1)/instance OfKind[@classCode=TNST')/kindOfProduct[@classCode="MM
AT'l[@determinerCode="KIND'l/asManufacturedProduct[@classCode="MANU"l/su
bjectOfl@typeCode="SBJ'l[approvall[1]/approvall@classCode="CNTRCT" [@mood

Code="EVN'l/pertinentInformation[@typeCode="PERT'] [1]/poliéy[@classCode='P0

4‘]/@codeSys_temVersion‘
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1A

BIHE 5 2R

XPath

(value)

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn’hl7-
org:v3
MCCI_IN200100UV01.xsdVPORR_IN049016UV[rl/controlActProcess[@classCod
e='"CACT'l[@moodCode='"EVN'V/subject[@typeCode="SUBJ'][1}/investigationEvent
[@classCode="INVSTG'|[@mood Code='"EVN'/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'][@mo
0dCode="EVN'//subject1[@typeCode="SBJ'1[1}/primaryRole[@classCode=INVSBJ'
/subjectOf2[@typeCode="SBJ'l[organizer/code[@code="4'1[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20M[1]/organizer[@classCode='CATEGORY'l[@mood Code="E
VN'l/component[@typeCode='COMP'][substanceAdministration/id]{k]/substanceA
dministration{@classCode="SBADM!] [@moodC\Qde='EVN']/gonsumable [@typeCode
='CSM] [1]/instanceOfKind[@classCode='INST;]/subjectOf[@typeCode='SBJ "l/obse

.| rvationEvent[codel@code='21[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'

1} [@classCode="OBS1{@mood Code="EVN']/value[@xsi:type='CE'l[@codeSystem
='9.16.840.1.113883.3.989.5.1.3.2.1.5'V/@code '

| XPath
(null

flavor)

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemaLocation="urn:h17-

orgv3

MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UVI[rlcontrolActProcess[@classCod
e='CACT'l[@moodCode="EVN'//subject@typeCode="SUBJ'l[1)/investigationEvent
[@classCode=TNVSTG'|[@mood Code="EVN'l/component[@typeCode="COMP'l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG'l{@mo
0dCode="EVN/subject1[@typeCode="SBJ'][1]/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode='SBJ'l[organizer/code[@code="4'1[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20[1)/organizer@classCode='CATEGORY'][@moodCode='E
VN'/component[@typeCode="COMP'] [substanceAdministration/id][1}/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'l/consumable[@typeCode
= CSM[1)/instanceOfKind[@classCode="INST'}/subjectOfl@type Code="SBJ")/obse
rvationEvent[code[@code='2'1[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
N[1][@classCode="0OBS'] [@moodCode="EVN'l/value[@xsi:type='CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2. 1.5‘]/@n_ullFl_avor




XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion=XML,_1.0"l[@xsi:schemaLocation="urn:h17-
org:v3

‘;MCCI_INZOOIOOUVOI.xsd’]/PORR_IN 049016UV[x)/controlActProcess[@classCod
e='CACT'][@moodCode='"EVNY/subject[@typeCode='"SUBJ'l[1}/investigationEvent
[@classCode=TNVSTG'][@moodCode="EVN'l/component[@typeCode='COMP'] [adv
erseEventAssessment][1l/adverseEventAssessment[@classCode="INVSTG'][@mo

-1 0dCode="EVN'l/subject1[@typeCode='SBJ'][1]/primaryRole[@classCode=TNVSBJ'

VsubjectOf2[@type Code='SBJ'l[organizer/codel@code='4"l[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20']] [1}/organizer[@classCode="CATEGORY'l[@mood Code="E
VN'l/component[@typeCode="COMP'][substanceAdministration/id][kl/substanceA
dministration[@classCode="'SBADM'l[@mood Code='"EVN')/consumable[@type Code
='CSM{1)/instanceOfKind[@classCode="INST]/subjectOff@typeCode="SBJ J/obse
‘evationEvent[code[@code="2'1[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
J1][@classCode="OBS'1[@moodCode="EVN'}/value [@xsiitype='CE'] [@codeSystem

—2.16.840.1.113883.3.989.5.1.3.2.1.5@code System Version
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HL7i2 kY EESna— FEAVCERTSZ L,

HL7 =2—F 10A

‘| active=kK5ET

completed=5T

/MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemaLocation="urn:h17-
org:v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcessi@classCod
e='CACT'] [@moodCode='EVN'l/subjectl@typeCode="SUBJ'|[1)/investigationEvent.
[@classCode="INVSTG'1[@moodCode='"EVN"/statusCode/@code -
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.01 [@xsi‘schemaLocation="urn:hl7-
org:v3
MCCI_IN200100UV01.x3d'//PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'l@moodCode="EVN'l/subject [@typeCodefSUBJ 1[1]/investigationEvent
[@classCode="INVSTG![@moodCode="EVN/component[@typeCode='COMP'l[adv
erseEventAssessment)(1)/adverse EventAssessment[@classCode=INVSTG'[@mo
0dCode="EVN'l/component1[@typeCode='COMP'}[observationEvent[code[@code="
3'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1. 10'11}{1}/observationEvent{@c
lassCode="0BS'l[@moodCode='"EVN'l/valuel@xsi:type="ED'l/text(

J2.8.1 BERRATIT

HEBHHA BIVE PSR B4R ST YRR B3RS I B\ T, RSB A OB M E OB
Do

FLET U HEEDL N=BEgs) ZRBTHLE,

F—z#  |'IN "

FFEE 1= %55t

XPath /MCCI_IN200100UV01 [@ITSVersion="XML_1.0'1[@xsi:schemaLocation="urn:hl7-
orgv3d
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcess[@classCod
e='CACT1[@moodCode="EVN")/subject[@typeCode='SUBJ'l{1)/investigationEvent
[@classCode=TNVSTG'[@mood Code="EVN/subjectOf2[@typeCode="SUBJ ] [inve
stigationCharacteristic/code [@code="5"] [@cod.eSyst,em='2_. 16.840.1.113883.3.989.5.
1.3.2.1.1211[1)/investigationCharacteristic[@classCode="OBS'l[@mood Code="EVN'
Ivaluel@xsitype="CE[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6'//@code

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0[@xsi:schemaLocation="urn:hl7-

(codeSystem | org:v3

Version) MCCI_IN200100UV01.xsd'VPORR_IN049016UV(r]/controlActProcess[@classCod

e='CACT'H@moodCode="EVNV/subject[@typeCode='SUBJ'l[1)/investigationEvent
[@classCode=TNVSTG'][@moodCode='"EVN'l/subjectOf2[@typeCode="SUBJ'l[inve
stigationCharacteristic/code [@code="5'l{@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.121] [1)/investigationCharacteristic[@classCode="OBS'l{@mood Code="EVN'
Jvaluel@xsitype='"CE{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2. 1.6'V@

codeSystemVersion
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XPath

/MCCI_IN200100UV01[@ITSVersion=XML,_1.0'l[@xsi:schemaLocation="urn:hl7-

org-v3

| MCCI_IN200100UV01.xsd'//PORR_IN049016UVIxl/controlActProcess[@class Cod

e='CACT'l[@moodCode='"EVN')/subject[@type Code='SUBJ'] [1)/investigationEvent
[@classCode="INVSTG'] [@moodCode"EVN'] /subjectOf2[@typeCode='SUBJ'][inve
stigationCharacteristic/code[@code="6' ][@codeSystem—'?_. 16.840.1.113883.3.989.5.

1.3.2.1.1211[1)investigationCharacteristic[@classCode="OBS'[@mood Code="EVN'
Ivaluel@xsitype="ED'l/text()

J2.9 @%@ﬁ&ﬁﬁ

EERE | BREEAEEOBA L, TR 24 43 A 6 A KA 0306 BEASEEEEASR
Rasn MR EAS TR BRFAEN A P74 ] O—HHEEITDNT] OB T
WA u#é:@&ﬁﬁﬁ/" N 7/( VKO REINEHAEANRE EEHT D,
EEEFE | RL ‘ ‘
— &% | 10000AN
FAE B B EE
XPath [ /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l[@xsi:schemalocation="urn:hl7-

< | org: v3 .

| MCCI_ IN200100UV01 xsd'/PORR_IN049016UV/[r]/controlActProcess[@classCod

. | e='CACT'l[@moodCode='"EVN'//subject@typeCode='SUBJ'I[1)/investigationEvent
| [@classCode="TNVSTG'][@moodCode="EVN'] /comppnent[@typeCode='COMP’] [adv

erseEventAssessment][1] /adverseEventAssessh_lent [@classCode="INVSTG'l[@mo

0dCode="EVN'l/component1[@typeCode='COMP'l[observationEventlcode[@code='
41[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10'l1[ 1]/observationEvent[@c

lassCode="OBS/] [@moodCode—‘EVN']/value [@xsi: type—'ED’]/textO
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T 5 10000AN
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XPath

/MCCI_IN200100UV01{@ITSVersion=XML_1.0"] [@xsi:schemaLocation="urn:hl7-

| orgiv3

MCCI_IN200_lOOUV,O1.xsd']/PORR_IN049016UV[r]/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'l/subjectl@typeCode='"SUBJ'|[1)/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN'l/component[@type Code='COMP'}[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'l[@mo
0dCode="EVN")/component1[@typeCode='COMP'][observationEventlcode[@code="
5'1@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'][1)/observationEvent[@c
lassCode="OBS'l[@moodCode="EVN'l/value[@xsi:type="ED'l/text()

J2.11 ZDOMBSERRE

T8 B 5t ZFDOMBE LI HEEETHT 5.

LR 72l

F—aR 10000AN

FAIE R

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:h17-
org-v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVrl/controlActProcessl@classCod
e='CACT1[@moodCode="EVN'l/subjectl@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN'l/component[@typeCode='"COMP'l[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG'l[@mo |
0dCode="EVN')/component1[@typeCode='"COMP'] [observationEvent[code[@code="
6[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10T1][1)/observationEvent(@c
lassCode='OBS[@mood Code=EVN'/value [@xsitype="ED'l/text(

212 BRRATRE
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FAE E)z: EE

XPath /MCCI_IN2001000V01[@ITSVersion=XML_1.01[@xsi:schemaLocation="urn:h17-
orgv3

MCCI_IN200100UV01.xsd'//PORR_IN049016UV[xl/controlActProcess(@classCod
e='CACT"H@moodCode="EVN')/subject@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'l[@moodCode='"EVN'l/component[@typeCode="COMP'][adv
erseEventAssessmentl[1)/adverseEventAssessment[@classCode=TNVSTG'l[@mo

odCode="EVN'V/subject1[@typeCode="SBJ'l[1)/primaryRolel@classCode=TNVSBJ'
J/subjectOf2[@type Code='SBJ'l[organizer/code[@code="4][@codeSystem="2.16.840.

10




' Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/originalTe

1. 113883.3.989.2. 1.1.20'1[1)/organizer[@classCode="CATEGORY'] [@moodCode="E
VN'l/component[@type Code="COMP'l[substanceAdministration/id)/substanceAd
ministration[@classCode='SBADM'l[@mood Code="EVN'l[consumable/instanceOf

xt][1]/consumable[@type Code="CSM'] [1)/instanceOfKind [@classCode='INST'}/kin
dOfProduct@classCode="MMAT'l[@determinerCode="KIND'l/asSpecializedKind|[
@classCode="GEN'l[1]/generalizedMaterialKind[@classCode="MAT')[@determiner
Code="KIND")/code/originalText/text() -

J2.13.r.1 BHE%

EEHH | BRI LIC, WRIHEREORMELETRT 5,
REFE | MBREHERSERE L TOARVEAICIE. M5 L,
F—aE 2N
FFAME YL
XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.0'l{@xsi:schemaLocation="urn:hl7-
org-v3
MCCI_IN 200 100UV01.xsd'lVPORR_IN049016UV{rl/controlActProcess(@classCod
.| e='CACT'l[@moodCode="EVN')/subject[@type Code='SUBJ'I[1)/investigationEvent _
.| [@classCode=INVSTG'1[@moodCode='"EVN')/component [@typeCode="COMP'l[adv
| erseEventAssessment][1]/adverseEventAssessment [@classCode="INVSTG ' @mo
odCode='"EVN/subject1[@typeCode="SBJ'1{1)/primaryRole[@classCode=TNVSBJ"
| subjectOf2 [@typeCodéﬁ'SBJ Jlorganizer/codel@code='1'1[@codeSystem='2.16.840.
1.113883.3.989.5.1.8.2.1.11'll[rl/organizer(@classCode='"CATEGORY'] [@mood Code
='EVN'//component[@typeCode="COMP')/observation[@classCode="OBS'] [@mood
| Code="EVN"[codel@code="7'] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10"
valuel@xsitype="INT'l/@value ‘
J2.13x2 HESER
EHABYE | BRILIC, BRUEESCERSA TV INERBLERT 5, |
ERFE | ERHEREEZREL OV IEAICE. EREEHT S LNTES, 2B, KR
FHEEEZRHE L TOWARWEEIT, IFRERAERICTEH L TV 32K 84 28
ToHZL, A—DHEREEHEECTOEROEBRER S LT HHEAE, I~ TRY
| o CREET DI L,
F—&% | 1000AN
FAE B HEE#Ek _ _
XPath ™M CCI_INQOO 100UV01[@ITSVersion="XML,_1.0'l[{@xsi:schemaLocation="urn:h17-
orgv3

MCCI_IN200100UV01.xsd'//PORR_IN049016UV]r]/controlActProcess(@classCod
e='CACT'][@moodCode="EVN'Vsubject[@typeCode='SUBJ'|[1)/investigationEvent
[@classCode="INVSTG'l[@moodCode='"EVN'l/component[@typeCode='COMP'][adv
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erseFEventAssessment][1]/adverse EventAssessment[@classCode=TNVSTG'l[@mo
0dCode="EVN'/subject1[@type Code="SBJ'1[1)/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode="SBJl{organizer/code[@code="11{@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'l][x}/organizer[@classCode="CATEGORY '} [@mood Code
='EVN'l/component[@typeCode="COMP'}/observation[@classCode="OBS'l{@mood
Code='"EVN'l[code[@code='8][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'

Trvalue [@xsi:type="ED'l/text0

J2.13.r3 BZ%ME

TH B 7 BA BBEHEREICEHIN T LRBEHEEZTFT,

ERFE | RREHERHEZELLTOAEAIIT. RREEKT S LN TES, Ak, BE
SFEBEARE L TORWESITIE, BIS X @ a— FMEEZER L CRETD
=k

F—x® | IN

HEE R 5 278

XPath /MCCI_IN200100UV01 [@ITSVersion="XML_1.0'{@xsi:schemal.ocation="urn-hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[rl/controlActProcess@classCod
e='"CACT'}[@moodCode="EVN'l/subject[@typeCode="SUBJ'l[1]/investigationEvent

1| [@classCode="INVSTG'l[@moodCode="EVN'l/component [@typeCode=‘COMP_’] [adv

erseEventAssessment][1}/adverseEventAssessment[@classCode=INVSTG'l[@mo

odCode="EVN'//subject1[@typeCode="SBJ 1[1]/primaryRole[@classCode='"INVSBJ'
V/subjectOf2[@typeCode='SBJ'|[organizer/codel@code="1"1@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11 1) [t}/organizer[@classCode='"CATEGORY 'l [@mood Code
='EVN'l/component[@typeCode="COMP']/observation[@classCode="OBS'l[@mood

Code='"EVN'l[code[@code='9"1[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
1/valuel@xsi:type="CE'] [@codeSystem='2. 16.840.1.113883.3.989.5.1.3.2.1.7'}/@cod

e
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XPath

/MCCI_IN200100UVO01[@ITSVersion=XML_1.0'[@xsi:schemal.ocation="urn:hl7-

(codeSystem | orgiv3

Version)

1 MCCI_IN200100UV01.xsd')/PORR_IN049016UV(rl/controlActProcess[@classCod
e="CACT'|[@moodCode="EVN'l/subject[@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'[@moodCode='"EVN')/component[@typeCode="COMP'][adv
erseEventAssessment]{1]/adverseEventAssessment[@classCode='INVSTG'] [@mo
odCode='"EVN'l/subject1[@typeCode="SBJ'l[1}/primaryRole[@classCode=TNVSBJ'
V/subjectOf2[@typeCode="SBJ'l[organizer/code[@code='1'l[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'1[x)/organizer(@classCode="CATEGORY'l[@mood Code
='EVN')/component[@typeCode="COMP")/observation[@classCode="OBS' [@mood
Code='"EVN'l[codel@code="9"][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10"
/valuel@xsitype='"CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.71/@cod
eSystem Version '

J2.13.r.4

PR OEF ORI

T B B

4 i s DY) & B O PR E O R T

LT iR

a— FE T2 < . Boolean TEEYSEMNNDHEEIL [True=F | . WARVEEIX
. [False=#E] ZEIR$ BT L,

F—HE .

Boolean 10A

WEE

true=%
| false=4E .

XPath

[ MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-
org:v3
MCCI_IN200100UVO1.xsd']/PORR_INO49016UV[r]/controlActProcess[@classCod
e='CACT'][@moodCode='"EVNV/subject[@typeCode="SUBJ'][1)/investigationEvent |
[@classCode=TNVSTG'l[@moodCode="EVN'] /component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG'][@mo
odCodé,='EVN']_[sdbject1 [@typeCode='SBJ'][1]/primaryRole[@classCode="INVSBJ' |
' J/subjectOf2[@typeCode="SBJ'] [organizer/codel@code="1"1[@codeSystem="'2.16.840.
1.113883.3.989.5.1.3.2.1.11'll[r)/organizer[@classCode='CATEGORY' [@mood Code
='"EVN'"//component[@type Code='COMPJ/observation[@classCode="OBS' [@mood
' Code='"EVN'l[code[@code="10"1[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1
0'llivaluel@xsi:type=BL')/@value,

J2.14i K - BEa

TH H #iEA

EROBE, YHHEOREAENARBRERESEN LT TXRNLOTHLBER
R, FOMOBEITEER LT3, ICSRER O Ei.2.1b BIfEA / AE %5 (MedDRA
a—F) LEEST b, BIEREICRE - O e 535, (FRIMED S5,
ABHBIRO (8. ZOMOEREWEALEHREICELTORESEE] © (1) 228
FTH5ZE)

13




LTI

o— FENBEIR L CR#®T 52 L,

F—

1IN

A

1=2R%n
2=REHn

XPath

/MCCI_IN200100UVO01[@ITSVersion=XML_1.0[@xsi:schemaLocation="urnhl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod
e='CACT'][@moodCode='"EVN"V/subject[@typeCode="SUBJ[1}/investigationEvent
[@classCode=TNVSTG'[@moodCode="EVN')/component[@typeCode="COMP'l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'][@mo
0dCode="EVN'l/subject1[@typeCode='SBJ'l[1}/primaryRole[@classCode=TNVSBJ'
l/subjectOf2[@typeCode="SBJ"l[observation[idl[code[@code="29'l[@codeSystem="2.
16:840.1.113883.3.989.2.1.1.19'1[il/observation[@classCode="OBS'l[@moodCode=
'"EVN'l/outboundRelationship2[@type Code="PERT'][observation/code[@code="11"l[
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1][1)/observation[@classCode=
'0OBS'{[@mood Code='"EVN')/value[@xsi:type='"CE'l[@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2.1.81/@code

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion=XML_1.01[@xsi:schemaLocation="urn:hl7-
org:v3
MCCI_INZOOIOOUVOI.xéd‘]/PORR_INO49016UV[r]/controlActProcess[@classCod
e='CACT'][@moodCode='"EVN'l/subject [@typeCode="SUBJ'[1]/investigationEvent
[@classCode="TNVSTG'][@mood Code="EVN'l/component[@typeCode="COMP'l[adv
erseEventAssessment] [1]/adverseEventAssessment[@claésCode='INVSTG'] [@mo
0dCode="EVN/subject1[@typeCode="SBJ'l[1)/primaryRole[@classCode=TNVSBJ'
I/subjectOf2l@typeCode="SBJ'l[observation[id][code[@code='29'{[@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19'1N[il/observation[@classCode='OBS'l[@mood Code=
"EVN")/outboundRelationship2[@type Code=PERT'] [observation/code[@code="11"l
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'[[1}/observationl@classCode=
'OBS'l[@moodCode='"EVN'/valuel@xsi:type="CE'l[@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2. 1.8']/@codéSystemVersion i

J2.15.r. AFRH

BEERE | FEAER N EEEREIC R T, ARCBOTRENERAR SN TV SHEA.
AFEERT.
SHBE | Eo— e bEeea— FERR LTRSS T L,

WEHEDRLS. RELE/TREEZOFEXIL. RREGHHFOEEZEHTI L,
Eio. AEHEREOBS. HBERTorEERETEIL.

BB, EREOHAYFIZL > CTR—DEBR R INTHE. 1 20O
ELLTHELTELELARY, FOBCIIARES 1 BRICERL, B0IELEF
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LT, ZHAURBICEDMOARERERT S L, ,
®A. F—OHEESME TR INEEITE. YHAREC OV GEIERET 5, £
DERIZIL, ATERE ORITHT CURENREDNRKRELEHTH &, YZBED
AREPEHEDDBETRIVBLEFATIZ &,

BB, FEOEBARNRLRDGAIT. IRELTBIL,

2A

ISO 3166-1 TA 7 7-2 DE=a—F, EU

:]"1.0.3166.1.2.21/@code

r M CCI_IN200100UV01[@ITSVersion='XML_1.0‘] [@xsi:schemaLocation="urn:h17-

org:v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[x)/controlActProcessl@classCod
e='CACT'l[@moodCode='EVN'V/subject(@typeCode="SUBJ[1)/investigationEvent
[@classCode='INVSTG'[@moodCode="EVN')/reference [@typeCode="REFR'][docu
ment/code[@code="2' [@codeSystem='2.16.840.1.113883.3.989.2.1.1.2711[r]/docum

‘entl@classCode="DOC'1[@mood Code=' EVN'/participation[@typeCode="AUTVassi

gnedEntity[@classCode='ASSIGNED']/representedOrganization[@classCode="OR
G'l[@determinerCode="INSTANCEVasLocated Entity[@classCode="LOCE/locatio
n[@classCode="COUNTRY'l[@determinerCode="TNSTANCE/code [@codeSystem=

J2.16

ﬁ‘bﬁﬁwﬁﬁ

HBE#RHA

| FEMERUH EHBREOHS. MK

LIRS OREOE R 27T,

FLE T

1AL

F— 57

500AN

A

HHEH

| XPath

/MCCI_IN200100UVO01[@ITSVersion=XML,_1.0'][@xsi:schemal.ocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'}/PORR_IN049016UVIrl/controlActProcess[@classCod

e='CACT'[@moodCode="EVN/subject [@typeCode="SUBJ'I[1)/investigationEvent - |

[@classCode="INVSTG'][@mood Code='"EVN')/component[@type Code='COMP'] [adv
erseEventAssessment][1}/adverseEventAssessment[@classCode="INVSTG ' [@mo

0dCode='"EVN'}/component1[@typeCode='COMP'] [observationEventlcode[@code='
12'1[@codeSystem='2.16.840.1.113883.3. 989.5.1.3.2.1.10' ]]][1]/observat10nEvent[@
classCode="OBS'] [@moodCode—'EVN’]/value [@xsi-type="ED'/text(

J2.17.r m/ﬁfﬁﬁﬁﬁ

HEHA | FEHEOBA. TERERR ) U [IEBERRE TR 0Rl% =T,
BRMAE | RL : |
TF—F® |IN

B 1=FER B FF5E

2=3ERPRFER /BTS2
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XPath

/MCCI_IN200100UV01 [@ITSVersion="XML_1.0'] [@xsi:schemaLocation="urn’hl7-
orgv3 .
MCCI_IN200100UV01.xsd')/PORR_IN0490 16UVIrl/controlActProcess[@class Cod
e='CACTl[@moodCode="EVN'/subject[@typeCode="SUBJ'l[1}/investigationEvent
[@classCode=TNVSTG'[@mood Code="EVN'l/reference[@type Code="REFR'][docu
ment/codel@code='21[@codeSystem='2.16.840.1.113883.3.989.2.1.1.27'}{xr}/docum
ent[@classCode="DOCT[@moodCode='"EVN'I/title/text(

J2.18.1 =Z{3

I

A

IHEHHA | ICSR OZEHOMBL ETT,
AR PSTFTEEE A\ E SR O E RS B AR L Bia T 5.
F—#% | 100AN
FAE g h
XPath /MCCI_IN200100UV01[@ITSVersion=XML,_1.0'[@xsi:schemaLocation="urn:hl7-
orgv3
MCCI_INZOOIOOUVOI.xsd']/PORR_INO49016UV[1‘]/controlActProcess[@classCod
e='CACT][@moodCode='"EVN'/subject@typeCode='"SUBJ'[1]/investigationEvent
[@classCode=TNVSTG' [@mood Code="EVN'/subjectOf1[@typeCode="SUBJ l[cont |
rolActEvent/primaryInformationRecipient][1]/controlActEvent [@classCode="CAC
T [@moodCode="EVN'l/primaryInformationRecipient [@type Code="PRCP'V/ éssign
edEntity[@classCode='ASSIGNED']/representedOrganization[@classCode='ORG’]
[@determinerCode=TNSTANCE'/name/text(
J2.182 ZAEWME |
HERHA ICSR 0ZEEDPEEZX T,
L Wik BER LEHT D
F—5R 100AN '
FRE H B EEk
XPath | /MCCI_IN200100UV01[{@ITSVersion="XML_1.0[@xsi:schemaLocation="urn‘hl7-

org:v3
MCCI_IN200100UV01.xsd'/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@moodCode="EVN'/subjectl@typeCode="SUBJ'[1V/investigationEvent
[@classCode="TINVSTG')[@moodCode="EVN/subjectOf1[@typeCode="SUBJ '} [cont
rolActEvent/primaryInformationRecipie nt] [1]/contr61ActEvent [@classCode='CAC
Tl [@moodCode="EVN'l/primaryInformationRecipient [@typeCode="PRCP')/assign
edEntity[@classCode="ASSIGNED)/assignedPersonl@classCode="PSN'][@determ
inerCode="INSTANCEl/name/prefix[1]/text(

J2.18.3 E{EHHE

HEBHHA -

ICSR OZEHDHERT,

G

BEOBEEROK LT D,
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T—2# 100AN

HAAE BHTHE '

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemaLocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcess[@classCod
e='CACT'|[@mood Code='"EVN')/subject(@typeCode="SUBJ'l[1]/investigationEvent, |
[@classCode="INVSTG'][@moodCode="EVN'l/subjectOf1[@typeCode="SUBJ'l[cont
rolActEvent/primaryInformationRecipient][1]/controlActEventl@classCode="CAC
T'l[@moodCode="EVN'l/primaryInformationRecipient[@type Code="PRCP")/assign
edEntity[@classCode='ASSIGNED'/assignedPerson[@classCode="PSN'] [@determ
inerCode=TNSTAN CE'l/name/family[1]/textQ

J2.18.4 ZEEA

EEHHH | ICSR OZEFDL &R,

ERHE | BROREROLTERT S,

F—&% | 100AN

FFAE B hsE :

XPath .| /MCCI_IN200100UV01 [@ITSVersion="XML_1.0] [@xsiIschemaLocation='urn5}il7 T

':2 oi‘giv3 -'
| MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcess[@classCod

e='"CACT'l[@moodCode=" EVN'l/subject[@typeCode='SUBJ'] [1)/investigationEvent
[@classCode="INVSTG1[@moodCode='"EVN'l/subjectOf1 [@typeCodg=' SUBJ'l[cont
rolActEvent/primaryInformationRecipient] [1)/controlActEvent{@classCode='"CAC |
T'l[@moodCode="EVN'l/primaryInformationRecipient[@typeCode="PRCPV/assign
edEntity[@classCode='"ASSIGNED']/assignedPerson[@classCode="PSN"l[@determ
inerCode='INSTANCE//name/given[1]/text(

J2.19 =1 |

TH B A FHES

mEAE | L

T—&H 10000AN

FAE B BEiid _

XPath /MCCI_IN200100UV01[@ITSVersion="XML,_1.01[@xsi:schemalLocation="urn:hl7-
orgvd

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{xl/controlActProcessi@classCod
e='CACT'l[@moodCode='"EVN'l/subject[@typeCode='"SUBJ'l[1)/investigationEvent
[@classCode=TNVSTG'l[@moodCode="EVN'] /component[@typeCode='"COMP'] [adv
 erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'] [@mo
odCode='"EVN"/component1[@typeCode='COMP'l[observationEvent[code[@code="

131[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'1][1)/observationEvent[@
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classCode="OBS'][@mood Code="EVN'l/value [@xsiitype:'ED']/textO

J2.20 {#5 2

HAHHA | FHER

FLETIE A0

7—4#% | 10000AN

FAE E):zjbun

XPath /MCCI_IN200100UV01 [@ITSVersion="XML,_1.0'[@xsi:schemaLocation="urn:hl7-
orgv3

‘MCCI_IN200100UV01.xsd'l/PORR_IN049016UV/[r]/controlActProcess[@classCod

' e="CACT'][@moodCode="EVN'l/subject[@typeCode="SUBJ'l{1}/investigationEvent
[@classCode="INVSTG'][@moodCode="EVN")/component[@typeCode="COMP1{adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG'l[@mo

0dCode="EVN'//component1[@typeCode='COMP'l[observationEvent[code[@code="

147{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10TI1[1//observationEvent[@
classCode="0BS'[@mood Code="EVN'l/value[@xsi:type="ED'//text( .

J2.21 53

EEDE | THEEE

FLELFIE 72 L

F— 5 10000AN

FEME B Bt

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.01(@xsi‘schemaLocation="urn-hl7-
orgv3: l S
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r}/controlActProcess[@classCod '
6='"CACT"'}[@moodCode='"EVN'}/subject[@typeCode="SUBJ'l[1}/investigationEvent
[@classCode="TNVSTG' [@moodCode="EVN'l/component[@typeCode="COMP'l[adv-
erseEventAssessment][1]/adverseEventAssessment [@classCode='INVSTG'] [@mo
0dCode="EVN'l/component1[@typeCode="COMP'] [obserVationEVenttcode [@code="
15'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'll[1)/observationEvent[@

v classCode='0BS'[@moodCode='EVN')/valuel@xsi:type="EDT/text()

J2.22 54 |

H A A FimEE

oL Wi il

5 —x% | 10000AN |

FFAE HHEF® : n

XPath /MCCI_IN200100UV01 [@ITSVersion='XML_1.0'] [@xsischemalocation="urn:hl7-
org:v3 ,

MCCI_IN200100UV01.xsd'V/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT')[@moodCode="EVN'l/subject[@typeCode="SUBJ'|[1)/investigationEvent

18




[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode='COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG ' [@mo
0dCode='"EVN'//component L{@type Code="COMP'l[observationEventlcode[@code='
16[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'11][1]/observationEvent[@
classCode='"OBS'l[@mood Code="EVN')/value [@xsi:type='ED J ftext(

19







CEAEBBEAT ASERAFT - SHE JEE) Oo— FE

BIRE 5

a—FE | J2.1a BAER BESE) iy
B
AA ENBR RIS (FR%) AR
AB | ENBIEREGISE (HRE) i pR %
AC AERBIEERRE (FIRE) L2743
AD SMERIERERRS (FHRTE) %
AE BYIE s (k%) | TR
AF BIfEFARFSEEE (AR iR
AG | AEIBT BEESOTIE, B, BEREEOBERE (HRE) R
BC | EEEHEHFEHE iR
BD @ v e . iR
DA | ENRLEEFE (5%) TR
DB ENBIEREGISE (A%) TRER
DC SERPETERISRE (AR) - ThBR .
DD | AEBERESIEE (B%R) Y
DE RRAAETF . (TR5R) a5k
DF BITERIRRZEME (B8 _ BB
DG SAEICE T REE 0PI, FEIN, BEEREOKERE 58 G
a—Fi | J24k FEESSZEORERS ﬁmﬁ/
Yok
1 TERE %A AR
2 B 2 ELHN | FRT:
3 RAR L
4 — iR BB
5 UL AR %
6 BEETHET (EkE) AR
i PMS #if+ (EfeHE) TR




a— kg | J25k —RAERREDY R ZRNE Ao
01 B—REXnm TR
02 & HEEKM TR
28 BES _HEKML TR
03 EHEESL iR
04 KREERTEEES TRt
05 | EfEEERES iR
2 v 2.6k —BAERRSOATES RREA
b
S EEZEDIEE TORTEDOE S iR
H BLEBRGEDSB & iR
I £ v F =%y ML BBEREOSE R %
T ZooBERRE (BFS) OBE iR
nullFlavor=ASKU | lER&1T o728, EHRAFE T R BE TR
nullFlavor=UNK | ®te2 B2 WEERIC X Y EETRE T, THOES TR
mR%E.

a— i | J2.13.x.3 BRRME B

0 v A 7 F—XRBRE ik

i %148 ks

2 SRR L

3 FIFE 1R5R

4 1/ HH

5 % I1/I48 TB%
7 7k ek

8 Z DAt TRER




BERERR EERESRBISEA v —VF—FIHA

R 6

S -HRIEFOER

[ EGE2ERC]
O=i9RHTHEE
O=I3—FMHELIIPEICRBE SN BEE

B7F—43

A = Exq

AN = BgrEm

N = s
F—SREES F—5EBA SHESE TN E @g}%‘%gig
ACKM.1 HEBEN\YFES _ © 100AN ‘
ACKM.2 RSB v TEEERNT ©  |60AN N.1.4
ACKM.3 RS v FREESAT ©  |60AN N1.3
ACKM.4 NOFEEOEZBGES ©  |date ,
ACKA ICSR/ vy FHS ) © 100AN N.1.2
ACKA2 BB F A —-CFS ©  {100AN ,
ACKA3 JICSR/AYFEEB © date N.1.5
ACKA4 fREREESEI—F © 2A
ACKA5 ROFRYF=L30 15— & -|250AN
ACKB.r.1 ICSRAYE—UH S © 100AN N.2r.1, C.1.1
ACKB.r2 iR EES ©) 100AN
ACKB.r.3 ICSRAYE—UREERERESE © 60AN N.2r.2
ACKBr4 ICSRAVE—SREGEREE ® 60AN N.2.r3
ACK.B.r.5 ICSRAVE—JHERR R _ ©) date N.2r4, C.1.2
ACK.B.r.6 ICSRAYZ—CORER G EI—F (@) 2A
ACKB.r.7 IS— /" EEA—-CRITER <o 250AN







B 7

BEAE—&
g RET 5 B
5 |
A&l | TAB R GBROMEEH L-8eR, Wk, ST, DiEELath, 7L,
tRiE TSRT) | f2gE TIMP) 12&E2W)
CAP ATEN (7720, ®BdESD 721 TSRC) iX&EER2VY)
GRA | m | | | |
POW BAE (L. SAAROBATRA (FAF A 7Y 54— DPO) 118 %
By
FGR L
SYR vryT (K54 my 7 et
ENT FBYAA)
SRC WD 7
CTS Ha— (75— EEED)
CTB NAMREE
DRO Fe o
PIL HF GEFIZEERY)
SOL MAE (BOBESNBEERAROL DT TELMRY e v 7 [SYR)
’ E1<)
LOZ A (be—7, %)
SRT RmE
SRG | AR
POR OB TRVEDR (k)
o ORERAE LT, GA TERHISEEBOATEATIRENTED . ZOWE
NHOFBADEEIE FXXX) TiiAR<, [POR] 25 LicEETAZ L,
A | INJ EHH (RBERObOX ST, T, EHLERERALED)
SLFE#&l | DPO WARH (FARATA TR & —) '
LOT v—ay (REAe—T 3 %2k
OIT "% 7Y —2
SHP YT —
SPR AT L— (BAFIERL)
LIQ ARIRE (V=22 rEEt)
TAP T—TH Ry THIEEL) -
AER 27— (GAREREER=T VY —NIBD, AEAOTT YV — i
[SPR) &§3Z&)
EDR HEA
EED AIRE




EOI AR
NDR BEK (REXTL—%Et)
| INH BAH] (RAGRERF, MARAT L—2 &)

INS HAJAK] (EELERE)

SPC A FH xS

MWH ey

SuUp ALFR &7

IMP AR (Rl RE8EE)

ENM GEREAl

JEL ‘Y —

EXT FIFOHFETRWIAF
ZOfh - | INF FEAA (ERERERES)

XXX E{




